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(@B He tried his best (7 73S o587 5TATC)
EF—negative senlence T He left no stone
mlurmﬂ(ﬁﬁlﬂﬁmﬁﬂ)f

9. She was used to — (he poor.
®help @ helped® helping @ to help

(T@RM) Be used tofget usad to-F W veri- & Y
ing I W | TR Ty 3 T verb form

T helping |
U, Which is the noun of the word 'brief?
® briefly @ brevity
() brieve ® but
(@RI ‘Brief” (Rf¥)~ noun form T brevity
() |
¥, It was high time we— our habils.
® Changed @® change

@ hadchanged @ should change
(@I It is high time/Tt was high time-GF W sub
SPM-F 7 verb- X past form ITGE I |
Change- < past form E changed |
o, Curd is made — milk.
®of @by @in @ from
TATYA from A | from 07N IR
T o R R W
©). The Headmaster and the President of the
school — present in the last meeting,
® was ® were
@ had been ® have been
(BM) Headmaster <R President-« 4 the Q0

- Vv 9T T TIBTH (AR | FSIR verb B plural
/ plu
g::gh g%ﬂ W1 Last meeting (T8 %) GRS IW past | 0
indefinite lense- GI TN AR were PRI | ¥
@D Sty e %, T PGB L | oq. 14— a human b, he would nol have done hi. |3
8, T com wod s w7 @ @ was @ hedbe @ were —
® wed ® w Ml':rd' condilional ﬂi'mﬁ a himan being
@ T ® Refirend IIOT (W WA 7T T if close 0 2nd | X2 Y
@ED) e 75 w5 wod daww ow yowd  conditional- & T SRR T 1 S result close | 3¢ F
wRe el S e, Ao, offer, | [P 3rd conditional G 937 SOl T3 1 TR | R0
¥, ‘PR’ et wd®? TTYA were PRI K
© S o @ T ©9, The antonym of the word ‘benign' is—. > 9
@ wfem ® TR QR ® tenfold ® peaceful —
3. He tried his best. (Negative) @ blessed ® malignant ——
® He did not try a little. @& Benign (e 71 Fo7d T ai)-7
® He did not stay unmoved. antonym TN malignant (Y7o, Wfewa); (% N
® He left no stone unturned. S tenfold 94 7169, penceful & TPl | 0 ¥
® He did not tumn all stones. R blessed dmi@?!h 0 ¥

[
=t

) E
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©8. Do not— what you can do today.
® puton @ putio
(@ put off @ putleft
Q@) Put of 4 3 a1 | Put of AT M0R
T - B T T 0 13 ©F oW G A
'©¢. They tell us a tale about a fail. The word tale’ is —
® noun ® verb
(@ adjective @ adverb
(@) Article < preposition-«R ST noun 1
& S 5 (2 iale (T8, TR 4 moun 1
©b. Move or die. (Simple)
@ In case of your failure lo move, you will die.
® You move, you will die.
@ If you move, you will die
® Moveand die.
(@) Simple I R A finite verb (TRFTE
F23m) 0% 1 o 79 TR simple form T—
In case of your failure o move, you will die 1

4. Which one is correct?
® Omnious ® Extencion
(@ Hesitasion ® Mischievous

FIE TATYE word W mischievous
(AR, =), Omnibus (71 0 RahTe),
Extension (2PT2¥) (3% Hesilation (%) 1

O, The opposite word of 'sluggish' is—
® animated ® dull
@ heavy ® slow

(@) Shuggish (VEI1S, i)« Frlle o
animated (2179F, ATE0) 1 Dull W Fa,
heoy 6 S O slow WETA 1

©». | saw him play. (Passive)

® He was seen by me play.

@ Play was seen him by me.

@ He was seen playing by me.

® He was seen to play by me.

(@) Bare infinitive T IROT passive voice-<A
structure : ob-(¥ sub + wasfivere + verb- T PP +

lo + verb- o base fornn + by + sub (Fob |

c|T|¢|9(S|2|8(8

Bo, 'Iull#mﬂnlh—-

® distribute ® export

@ impont ® smuggle

(TE) Boot leg (% W 77 TTAET 37 G,
R, sromel-vaft w2) o smuggle 1

"
L
-
]
L
¥
¥
¥
[
"
L
3
"

=
=

8. While I (play) in the Aeld, I saw a dead cow.
® playing ® was playing

© played ® were playing

q1% clause- 4% T (T clause 7 =y
sufem o clause 0 while W7 o2 Tw am
clause 8 past tense- T S clause & posy
contimuous lense-8 T | TN play &7 F7

8. Bul for your help 1 —
® would have failed ® would fail
@ will fail ®@ will have failed

(@) But for your help &9 if you had not helped
(%f% gl e 71 ) + IO AfY 314
conditional- 7 siruciure | 7 BT% result clouse B7
struciure T sub + would have + verb- S p.p |

89, Choose the comrect sentence :

(® He had been hanged for murder,
@® He has been hunged for murder.
@ngashangedfmmurdu.
® He was hunged for murder.

(@RED) Hang (¥11% (7%1)-47 P.P T hanged |
TR past indefinite tense- G passive structure
TR TGF T He was hanged for munder 1

88. | wenl there lo seek a job. (Compound)
® I went there and seeked a job.

(@ 1 went there so that 1 could seek a job,
(® 1 wen! there for secking a job.
® [ went there and sought a job.

(@Em) Simpie I compound-Q TSR (W2
and, or, but T conjunction TIGS T | FTM
TIF compound form T | went there and
sought a job /

8¢. Instead of ‘confirm’ we can say—
® bear out ® bearon
@ bearto ® bearof

@M Confirm (FFoT 2fEwry wa1).97 i
TR W R bear 0wl (BT 0, 0y =) 4

8b. What is the antonym of 'abduct?
® Takeaway wbwhlly @ Kidnap
@ Restore ® Noneof them

(@RI Abduct (F7Z27 =)@ e v g
restore (TR cream, fafary W) 1

8. The father with his seven daughters — left the house,
® have @ are
@) has was

(BRI Phrase- 4 preposition-«F *737 W01 IR
subject &S R 7 | FHM LY W suiby TV
the father | TR present perfect tense W
TURA has FRA

I
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(®) The authorily took him 1o task.
(®) The authority look him to book.
(& The authority gave reins to him.

(BRI Take somcbody 1o task =¥ 1 fereme
1 FEA 27T ATER FWES BAF : The
authorily took hint to tesl; 1

to, VTR BT \ﬂ'#"-!ﬁtl Lok -q
® He lived a hut close with river.

(@ He lived in a hut close at the river.
{® He lived in a hul close to the river.
(® Helived in a hul close by the river.

CI:I&' to something =9 (= oy Al 1
% R BT i al 1 T2 259 TR
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9). What is the synonym of 'alliance”?
& Enmity @ Alien
@) Assocation ® Separation

2L The synonym of ‘annihilate’ is—

Alliance (2787).22 7md= v w7
assocation (T, FeZ)) Enmity T T,
alien ¥ *ZT7 B2 separation T yREERT |

@ restore @ preseme @ safe @ destroy
(@@= Annihilate <2t destroy TowTE ¢ W7
T 1 Restore =¥ 5T =, preseroe = 7oy

ok, Jamal walks as if he— lame.
® is () has been
") were © was
@) As if- R TF clause 5 Precent Indefinite
Tense & TTES FET oS I:,r'iﬂ' '-'HI'.E"I'.H!?, b
Y = A = uere R | SR TR AT 1 4
&, Uneasy lies the head thal— a crown.
@ wear ® wears
@ puts © keep
‘Uneasy lies the head that wears a croum’

2 T e T S @S em T, W A e e
| ©3, Verb form of 'false’ is— Bz vETT aTE A IYT, 330 A1 Siele I
@ faksify ® fakely Tha! %% noun ¥ singular 557 that *77%
1| © halsifiation  © fakify cerb 59 singular form T wwears T
' (M) Falee (=7: W‘ﬂ.ﬁ“ B falsifyf g0, Read diligently lest you— fail in the
(T 221, 3 2 AT, TATSA PN 1 pamination.
Falsification (PT@2) ¥I¥ noun form <%0 ® should ® will
Jlsely (FRAETT) B adverb form 1 @ shall ® must
©8. Adverb form of heart’ is— @RI Lest ()R "2 clause & showld + verh @
® heartened @ heartily base form TRET W Should AN T Mo
® hearty ® heartening " RTRE AR TG 2 5 RO e |
(@RI Heart (54%3, E773)- <2 adverb form TN 83, He — me while | was reading.
beartily (7775, ~¥57%) | Heart- 2 verb form @} @ interrupts @ interrupted
kearien (367 Foxy, AEFT ) @ isinterrupting ~ ® interrupting
©2, Adjective form of "courage’ is— (@RI While TF ClausefS past contimuous lense- 9
@ encourage ® courageous T T2 Clouse/7 past indefimite lense-9 ¥3
@ curiosity ® courageable Interrupt (7T%T T, Byz #4)-m past form
(@) Courage 772 noun, 2 =¥ =57, wramm W interrupted |
: e Courage- <2 adjectioe form ¥ courageous (TTEH) 1} 83, Corruption is one of the worst evils. (Positive)
7% verb form E¥T encourage (A () | @ Very few evils is as bad as corruption.
23 M | ob, Whatiis the verb form of "ability’? (® Noother evils are as bad as corruption.
n v ® ableness ® enable @ Noother evil is as bad as corruption.
o = @® ably ® able ® Very few evils are as bad as corruption,
= < | C=D Ablity (TFTI)-A verb form T erable: (QERIT) Ore of the + adjectrve- 2 superlatrue form plural
o ¥ f’"“ N, W ) | S ablity- B} gy T¥ superlatoe degree’S positme TT structure
o mﬁm R able (%), = adverh form ¥ . very few + plural noun + are + as + afjectme- 2
— ““:lﬁm;‘”“”“ positrre form + as + sub + TIZN W02 positre degree
M—Wmm ¥ Very fex enls areas bad as wmruption |
> 2 ® . © realise B9, We should read books to gain knowledge.
= 9 @ had realised ® have realised (Make it complex)
5o o | QDD is time, il is high time-£2 %2 sub XM ® We should read books for gaining knawledge
(0 W o cowe TTEY Wb o cers @ st (@ We should ead books and gain knowledse
o form FEZ T Fﬂmﬂwr{m renfced | @) Weshould read bk so et e can gaim knoneledge
g iﬁ%ﬂ?ﬁiﬂ!ﬂ T T 2R i ©® We want to gain knowledge and so we
= i should read books
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(ER®) Infinitize tto + verb) ¥ Ioms mmpu':.r-
TS T 0 that + sub + canfcould + verh- &%
base form =~ extension TES W I infiniive-
‘[Zﬁ dauseT ToFT e or= FEA: WG
TRTOR complex form T We should rend books
50 that we can gain knovdedge 1

88B. 'Please, keep quiet.' (Make it passive)

@ You are told for keeping quiet.
@ You are requested to keep quict.
@ You are requested for keep quiet,
® Youaretold to keep quiet

(@R Please ¥®77 kindly T¥ imperntive 97-0F
Passie toice-of TNFT BT plense TR kindly-
R 2T You are requested lo + principal verb-
R T T IR T WA

8@. Trees are considered one of our best friends.
(Make it active)

(@ Itis tree which is our best friend.

@ Trees are our best friends.

(@ We considered trees one of our best friends. i
(® We consider trees one of our best friend. i

(@02 Present Indefinite passive roice 59 aclive i
voice- T2 structure : TRTTTE sub (e, people, i
someone) + lense E-‘Eﬁnmin tvrh- & T 4 b
-£% obj + TE 1 TT 152 active form
S0 We consider trees one of our best friend
(2T 5 =RE frimd- 2 TF friends T |

B&. Cricket is a very exciting game, (Make it
Exclamatory)
® Hurrah! cricket is an exciting game.
® How exciting game is cricket!

@ How exciting is cricket when it plays!
® What an exciting game cricket is!

@) A <2 an articile T5 affirmative ICETH
exclamatory sentence- <R structure WO Whal +
a/an +adjective = noun « subject + verb +
exclamatory sign + FTXN 277 TTEE exclamatory
sentence TAT- What an excrimg gamae cricked is!

8. The word "Banish’ means—
® exile ® emerge
(@ drive away ® expel

(@B Banish R exile = S5 fAvhe =27,
Emerge S SR1E E7, drive auway ¥ T
ST, Expel S TWR T RTGT =
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® terrorist @ alargebug
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3. 1o cororet’ it won?
@ % ® T
@ CriF STFA @ T
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1%, Choose the correct senlence :
@® [ know what does he want?
@ | know what does he wants?
(@ 1know what does he want.
(@) | know what he wanis,

(T Embedded question T S A5 IR I
Question-< WS question | Embedded question-
T structure T question word + sub + sub R
lense S verb 1 FEAR oplion GO FOf HEF
T | know what he wanlss |

4. Which is the correct use of gerund?

3, Which one is the correct sentence?

Better ¥ well <2t good- ¥ comparative

©0. The word 'Homely' is—

® He is comparatively better today.
(® He is good today than before.

(D He s better today.

(@ He is best today than yesterday.

formi | FEAR belter- & 74 comparatively I77
comparalive I good and hest TTGE P | F5N
#FF T W He is better today |

(® Noun @® Adverb
@ Verb ® Adjective
(@M Homely (W) P9 adjective | FE¥ Y
noun GTR4 lime, friend, mother, father, sister,
scholar-® CRFy J5 = adjective 18 & |
@5, What you (do) at this moment?

The correct form of verb is—

® doyoudo = @ daing

@ areyoudoing @ havedone
(BIRID) At this moment, novw, right now YR I
ANRITS preset comlinuous tense 9 T | Tense /T o
question JF interrogative TP T ; twh question +
amfisfare + subsverb+ing + extension + question
mark | 50 H3% expression/% €W are you doing |
©. Choose the correct answer:

® He gave me good-bye.

® Hebade me good-bye.

GIWMEIWI () Hetold me good-bye.

® 1am dancing on the floor. 9 Hovkiez hassodd &

® Dancing is a good exercise. e GOOCaYe.

- : Good-bye, good night, farewell 33752 F7Y

® The girl came here dancing. ‘ < e |
@D Ver- & TRV ing T B0 U7 A8 Y gy Lid/bude verb 5 2 varb T 1 T A o

Y noun- T FT WY WA OUF gerund TN} T - He bade me good-bye 1 .

Verb-% sub 7% gerund J7qT ¥ 1 Fary| 2. The word 'adulleration’ can be best explained as— —

Dancing is a good exercise T dancing TM ® to mix something intensely w n

Gerund 1 ST ST T dancing participle| @ 10 use unusual methods

R TS e @ to make impure by adding inferior ingredients :::
. The comectly spelt word is— ® tomix poison

® Milennium @ Milennium (TR0 Adulteration (¥, i) e groy | % T

® Milenium ® Millinium ] I WF to make impure by adding inferior | 2> 71

@R Millenmium (S, S V) @i ingredients WA, ¥ adulleration ¥ W (v [ R

A% TTF word TR SR FONEET) | B wE e R R SR | oo
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8. It is high time we (change} our food habit.}
Here the correcl form of verb js—
® changed ® have changed

@ should have changed (®) should change
@RI 1t is high lime YR X7 = 77 b oA

sub-R " verb- ¥ pesi form AATT T IEm
change- R past form changed FUIRA T |
©&. Five litres of milk is contained— the pot.
® by @to
® in @) at
(@RI Be contained in something ¥ A e o
O (I T TRR neew; ol s bR e o
©b. | could not go— for the examination due to rin.

® in @ by
® w0 ®on

@D Go in for & eferafiem a1 In @Y
Ffa wem 3 I W e Sewer
FHE "R A

¥4, The phrase ‘at loggerheads’ means—
® very close @® belligerent
(® quarreling ® distani relation

@M ‘At loggerhend” phmse B 70 o WrEEe
(quarreling) ! Very close— ¥ [RR85, belligerent —

(TN 273 S0 1o 737 €T rerb  hve form 777,
T o LA 2 rerd- T Juse form TF 0 Hang 200
85. 'Leave nn stone untumed’ means—
® heavy stone @ impossible
@ rare stone ® try every possible means
L o stome unfurnad ' 0 2% TR oY
T A FAA I T IR =B W (1ry
eovry possible moms) | Haroy stone 5 SR o,
mpossible S WP I rare stone NS TN |
83 Would you mind— me a cup of tea?
® giving @ make
@ bringing ® bring
@R Mind-F R ing T verb T | OTHY 7
IR OV bring IR giving 5 ing I verb-
TG giving 57 T 1 Giving (TN TH0T e
: TR & w51 ey
89, Whal is the antonym of "rear’ 7
® Notavailable @ Behind
@ Front @ Available
@ Rear (moun ﬁ'ﬂﬂj o g ﬁtm’
SIS | Rear "TRICT antonym AT fron
TS | TYHE nol aunilable I AT 7 P,
behind ¢ S quilable =4 2f8omg |

W distant ion 5 et |
*_:::“P:::_'w ¥ 88, cemD FTS TS TR WI0Y o |
® the work @ the curry ® The boy came o me crying.
® oty ® and scary g']'hubu}rcammntn}ring.
: The boy came to me in cryi
SECl| =D Hury spoils the curry <0 % | iy mem;memmby?;:
i M:Wm“ﬂﬂﬂ'l&w mmmmmm
ot T o ST, A, larry N TR B I scary AT TY present participle YT FC T e
- 3| arwm Derb + ing AE TR | Come to somebody S W
oq v | 2 — waterof this lake is pure. X T | FEAR IRI0T FEE T W The
& ®a @ anorthe boy anme to me crying 1
- % @ the ® noarticle 8¢. Had I riches, I— (help) you.
— (@BID Materio noun- 7 the 37 71 oY A, @ would helped ® would have helped
— FFR g 71 (8 < 91 (TR nuaterial | @) had helped ® will help
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89 " |8o. I wanted the poster to— oplion SN % (BN expression (7% | T
" s ® hang @ to be hanged structure SFATA option @ would help TFTT
8¢Nott| @ tobehunged @ tobehung s o e el i

Ly ———

D R R T T s ———— e - o s maa

m CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Prafessors JOR SOLUTION » 1520

Iﬁ.“l’lll is the appropriale
"Achilles’ heel”? meaning of | (BEID b = 2. 2 x 3. 33

=
® Importantissue @ Tuming point » = :il;:
@ Vulnerable point  ® Main point A =0x0x3)

@D ‘Achilles’ heel” = 95 FoF 81 X011 Phrase T by A ST WO |
B3 7emy = Pt o vulnerable point (Safers ey efd i ewm 33 ooflr | IR

W) W2 1 Impartant issue 3¢ oF Yy vyl wnge e v wm ew 1 e
furning poirtt 3% 2Ry R main point =Y TN " T e W) s |

B4, '(°F ¥ (23 W' —The best translation is— ® ¢ @ @i
® The lemon becomes bitter if it is rubbed. @ 1= ® )=
® Ajest driven hard, loses its points. (T w7 vo, B w2 057 0w, W
® A hungry fox is an angry fox. SBW=3L )
® Don'ttry to o anything again and again. Botmq e fil)
]

TV T G R TR R i X (i) -3

&7F T AW07 NCAW 5T QW A fest V+W=138
driven hard, loses its points 1 _5+W=H
8. Which one below is a correct sentence? B=3 (o
© They have seen me yesterday. ¢o. 4% TIVCIVR SR WS W cwren @
® | like his childlike simplicity. TN “mm T wfve wh
@ Itis | who is to blame. CFTER 1)
® The girl resembles to her mother, ®o @
(BRI Sub « lie + pronominal adjective + adjective + & o ® 2
noun-<% structure a?crﬁ FT® T like his
childlike simplicity | T2 have seen- o7 ¥ (=) 7 ¥4, v 3 = x
s, wip L2V - L7 WV am T2 resembles lo- &7 o OO = xl
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Which one is a correct sentence?

® Every students are present today.

@ Ten kilomeétres are too far to walk.

@ Two-third of the students got degrees.

@ All the information is current.

The principal along with his students —

@ have been @ has been @ is ® are

I have applied for the post of a Lecturer
— English.
®@ at ® of - @ for @ in

The synonym of the word ‘scanty’ is—
® ample @ copious @ meagre ® abundant-
What would be the right antonym for
‘annihilate’—
® destroy

@ establish

planting .trees for two hours.

O] obliterate
. ® extinguish

“The word °‘permissive’ means—

® polite @ law-abiding @ liberal - ® submissive
Select the meaning of the word
‘stagflation’. : :

® controlled prices

. @ economic slow down

® a disintegrating government
@ cultural dullness

- Identify the ecorrect sentence :
" @ He is better@nd superior than.me. -

@ He is better than and superior to me. *

‘@ He is better and superior to me. -

@ He is suprior than and befter to me.
Choose the correct alternative to correct
the sentence : He — to see us if he had

® would come ® would have come
@ may had come - ® wouid may come
The idiom ‘put up with’ means :

@ stay together ® tolerate

® keep trust ® protect

Walk fast lest you — miss the “bus.

® will “‘@can @ could ® should

Price for bicycles can run — Tk. 2,000

® as high as @ so high as fo-

@ as high to ® as high for ’
.- “He fathered the plan.” —Here the word

‘father’ is : _
 @®anoun @ an adjective @ a verb ® an adverb

l,(&.@ ®0.® |8 @ | e ®

Choose the correct sentence :
A few of the three boy$ got a prize.
® Each of the three boys got a prize.
@ Every of the three boys got a prize.
® All of the three boys got a prize. -
Identify the correct passive
made me laugh’. ;

@ 1 was made laugh by him.

® I was made to laugh by him.

@ I was made laughing with him.
® I was made laughing by him.

‘Call to mind” means—
@ fantacize @ attend @ remember

form of ‘He

@ request
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9. The verb form of ‘deceit’ is : bt Y6 Bh hhping
® deceitful @ deceitfully @ decisive @ deceive @ WIW ™M ® 9
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-® The authorities blame him. @ R Mgt @ F[oI A
® The authority took him to task. @ 3 AT ® o g
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Q4. The children who play near the garden
water the saplings. Here ‘water’ is —a.
noun ® adjective
@® verb ®) adverb

@®E) A0S T water (N OFT) subject, the
children- < verb ROTT JI7© ZCACE |

. The word 'ambiguous' is the synonym of—.
alien ® certain
® dubious ® dangerous

@Em) Ambiguous (SAFES)-9F synonym Tl
dubious (FAFES) |

*W. The antonym of the word ‘dishearten’ is—
discourage ® encourage
@ develop ® ameliorate

(@B Dishearten - FSIRS 1 | Discourage—
RPTIRS F47, encourage—EMRE T, develop—
TS F71, ameliorate— GafS #11 <€ Dishearten-
& antonym I encourage |

Yo, What is the synonymous word of 'augment'?
® Beautify Increase
® Segment ® Calm

(@D Augment W Jfa MG | Beautify—7T77 7,
increase— 3 NG, segment—RSS I, calm—MT
F1 | FSIR Augment- < synonym e increase |

). I saw him going to market. (Compound)
® Isaw him and he was going to market
® Isaw him who was going to market
@ Isaw him to go to market
® Igo to market which he was

(SR Present participle % sentence (¥ complex
PO AFA finite verb (T tense-9 YTF present
participle (& (7% tense- RIS FTF, verb- <
A subject G G5 I A and PICS T |
() PN I V57 S A3 |

9. T helped her solve the problem. (Passive)
She was helped solve the problem
The problem was solved by me
® Her problem was solved by me
® She was helped to solve the problem by me

Bare infinitive % sentence (F passive FIS
obj. F sub + was + verb3 + to + verb + ob + by+sub
< objective form T | WO A3 TS (T) |

9. Jerry was only four years old. (Negative)
Jerry was not four years old
Jerry was not more than four years old
® No one but Jerry was four years old
® None but Jerry was four years old

SR
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@RI Affirmative T only @A e et e
negative P9 9 not more than + RGBS (four
years) word IR | JEIR (%) AP 015 70 |

8. Where there is a will, there is—.

a path ® many ways
® away ® a well-wisher

"Where there is a will, there is a way.'— <0
ecafer 23w 3, AT 3o AT CAR |

©¢. To carry coal to—.

Narayangonj ® Newcastle
® England ® Lahore

"To carry coal, to newcastle.' — e 4 &7
IR J<ET T (SN AT (O A 1

WY, Orthita as well as Obhinibesh (to be)—
attending the party.
are @ is
@ have been been

As well as-9F 944 noun/pronoun I
subject XX | TOIR subject '‘Orthita’ singular
RGN verb 3 singular (is) T |

94, Alice went to market with a view to (to
purchase)— a dress.
purchase ® purchased
@ purchases ® purchasing

(@R With a view to + (verb + ing) T | O 3
8@ purchasing (@4 F41) |

Wb, Rome was not built in a day. (Active)

The Romans did not built Rome in a day
People were not build Rome in a day

@ The Romans were not build Rome in a day
® A day was not built by Rome

(@B Past indefinite- 97 negative passive JNFICE
active $ICO sub + did not + verbl + sub-CF obj. +
extension structurels PRI TS T |

9®. Money is sweeter than honey. (Negative)
Honey is not so sweet as money.
® Money is not as sweet as honey.

@ Nothing is as sweet as money and honey.
® Honey is not sweeter than money.

(@®RD) Than I& comparative IFIE negative IO subject
@@?’)+wb+not+so+adjective+as+sub (@) 271

80, Upoma came here late. Here 'late’ is—
adjective ® adverb
® verb ® noun

(TR SIS TP late 115 verb ‘come’  (® modify
FANR | Adverb IFT verb (F modify FCF | TOAR

late G015 adverb |
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85. He gave me a dress which was expensive. (Simple)
® He gave me a dress expensive.
® He gave me a dress and it was expensive.
(D He gave me a expensive dress.
® He gave me an expensive dress.

@@®RD) Simple sentence-4 <G I finite verb AF
G expensive- ] Y3 article an IT | TP ()
(® a dress expensive IR T | () (© Y finite
verb I MG simple T | T (%) (© a
expensive ST article- 99 7 TN JAR |
&N FSF AT () 1

8. A wearer knows where—.
® aman goes ® heisright
@ the shoe pinches @) the pain disturbs

(@®ED) ‘A wearer knows where the shoe pinches.’
G Zeraler S, A7 - AT G 7 e 1

89, B f¥ Wl &7 T ATF?
® Do you know where.does he live?
® Do you know where he live?
® Do you know where he is live?
® Do you know where he lives?

@B O & ST (o7 (PRIT e < 0@ Seale
0@ Do you know where he lives? Embedded
question- &G (¥ where + sub+verb JIR© X |

88. GT SISANTS WA 1 |
@ He does not know swim.
® He does not know to swimming.
® He does not know how to swim.
® He don't know swimming,

| @D Know- <& 717 verb ST verb + ing  to +

verb JIRIF T A | (TG know + how to + verb
INZ(5 ey 26T 1
8¢. (IR I N FER?
(® What is your father?
® What is your father doing?
® What does your father?
® What your father does?

(WA What is your father? COTAIR IR F P2
@72 What is your father doing? (OTRIF AT F
TR (%) IR (]) TPNAT 9T 57 B | oA
T Teq () |

-.| 8b. How Karim has solved the problems—?

® actually wonderful
® are really difficult

@ really nice
@® astounds us all

| (T ¥ @ONI FPUIGCNI FAGT FHE ©F

WA FAZE FEG F (astounds us all) |

84, What is the noun form of include?
Includement @ Inclusion
® Inclution ® Includeness
@ERD) Include (FBSE FJ1)-97 noun form Il
inclusion (FTH) |

8b. The synonym of ‘abandon’ is—.

try @ join
® keep with ® leave
(@RI Abandon (9771 F91)-47 synonym T
leave (IRIP F31) |
85. A — in time saves nine.
money ® penny
@ stitch ® saving

(WA “A stitch in time saves nine.'—<R1> e a7
1T, AT - SR G (R SPIE  HG I
@o. A man is known by the— he keeps.
words ® company
® contribution @® relatives
'A tnan is known by the company he keeps.'—
Fecafer sfmfea e o ¥ ATy IR o I 1
@>. GRferE MR ¢ Redwot 73?2
TN @ @ W@ @ @&
@R @ YR ST o T (3 6 FeInfs
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O oI foalog ergems Ry |
@9. log,8 97 W7 fAtsa FRH?
1 @2 @3

log,8 = logy2
=3log,2=3x1 [ loga=1]

8. 5597 5 BT vt F?

®4

® @3
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®@ SR @ v
@ S ® @4
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AR " O @I
5. TR e e fgers, wiR 7
He was truthful, was he?
He was an honest man, wasn't he?
@ He was an honest man, did not he?
® He was really an honest man?
3. wf 9¥a cor B3 coraf |
I received your letter just now.
I'have just received your letter.
@ Ijust have received your letter.
® Just I have received your letter.
. AITE G4 T QT3 |
The tree has not yet borne fruit.
There is no fruit in the tree.
@ Still the tree is without fruit.
® The tree has not born fruit yet.
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@8, B I (7 eHl Tf6® 7w |
One should not concentrate on rumour.
® We should not hear rumour.
@ One should not give ear to rumour.
® We should not give our ear on rumour.
e. GT TS YIS QI ST |
He has come here exhausted.
® He had come here runing.
@ He came here hurriedly.
® He came here panting.
@Y. R TR =T S I (SIS |
Think before you do anything.
Look before you leap.
@ Look before you do.
® Think before you leap.
@9. The noun form of ‘broad’ is—

broadly ®) breath
® broaden ® breadth
@V, The verb form of ‘little’ is—
belittle @ enlittle
® littlen ® littlise

@>. What part of speech is the word ‘manly’?
® Noun ® Verb
@ Adjective ® Adverb

Yo, The noun form of approve is—

approveness ® approof
@ approval ® aproval
). Lima along with her friends— to school everyday.
go goes
® is going ® aregoing
W, Mr. Ruhin— a crime.
did ® does
® comits ® committed
¥O. Your watch has run—
down ® short
@ good ® up
U8, What is the verb form of the word ‘beauty’?
® beautiful ® beautifully
® beautifying ® beautify
¢, The word 'docile’ refers to—
wild ® angry
® disheartened ® tame

WY, The antonym of ‘candid’ is—

frank ® straight forward
@ reserved ® truthful
vq, The synonym of ‘decrease’ is—
abate ® destroy
@ expand ® amplify

Yo, ‘At a loss' means—
puzzled ® destroyed
® defeat ® harm

U5. Now-a-days educative programmes are— on
different TV channels.

seen ® telecasting
@ telecast ® telecasted

q0. Friendship is nothing but a name.
(Interrogative)

What is friendship but a name?
® Is friendship anything but a name?
@ What is nothing but a name?
® Why is friendship a name?
). Itis beyond doubt that he is a brave man. (Simple)
It is doubtless that he is a brave man.
@ There is no doubt that he is a brave man.
® Undoubtedly he is a brave man.
@® He is a brave man and there is no doubt about it.
4. We should love our country. (Imperative)
Love our country.
® Let us love our country.
(@ We may not hate our country.
® Should love our country.
Q9. Water-logging is one of the worst problems
in our country. (Positive)
No other problem in our country is as bad
as water-logging.

® Very few problems in our country are as |

bad as water-logging.

@ Water-logging is a very worse problem in
our country.

® Water logging is worse than any other
problem in our country.

48. As soon as the teacher enters the classroom, [~

the students stand up. (Negative)
@ No sooner does the teacher enter the
classroom than the students stand up.

® No sooner the teacher enters the classroom | ©9

than the students stand up.

@ No sooner had the teacher entered the [

classroom than the students stood up.
® The students stood up as the teacher
entered the classroom.
4¢. What cannot be cured must be endured. (Active)
@ We must be endured what we can not cure.
® We cannot cure what we must endure.
@ Must be endure can cure.
® We must endure what we cannot cure.
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¢ ‘cRIfR’~ i FE? o, e wergm et
@ T T IR T Modesty are embellishment of greatness.
@ foe s ® SIS T ® Modesty is embellishment on greatness.
(@R ‘IR TR T | A5 FgTENR TR @ Modesty is embellishment to greatness.
T 1 G () S TR | Fot— T R | ® Modesty is embellishment of greatness.
IGIR TNA— A W] AT = TAAGE | Modesty—TR73; embellishment—$I9 43
Tee 777 — f@ PIeTd STRNZIA = AT | greatness—3%G | Subject (modesty) third person
SRS TFAPF— FOI et = B | singular number JGA verb RCF 'is’ GIA ‘of
Y, Educating all people— a mammoth task. 3 appropriate preposition | ©IF 0 TS (7) |

®are @is @ be ® have 09, (FBRTS “ifF o] IR |

(@RI 3T AT Subject- 7 Number @ Person ® The water is simmering in the kettle.
WP Verb MRS &7 | T Subjiect-4F head i @ The water is boiling in the kettle.
word ¥R 'Educating” I third person Singular @ The water is rising high in the kettle.

number 1 O Verb & is | ® The kettle is over flowing,

9. Man has no escape— death. @®n) Simmer (v) &K By FCF PIGT 1
before from 247 | FFE T (F) 1
@ by ®@in v8. &% oI IR |

(@MW) Escape 5% *I3 Preposition RET 734t The train is going to Dhaka.
From J071 43¢ CT0%d @7 99 W M} @) The train is bound for Dhaka.

7Y & MY A WA | @ The train is leaving for Dhaka.

V. Today the world is passing through— Juncture. ® The train will go to Dhaka.
minimum @ alotof @) Bound for— (18 31 At Fe®) e
@ limited ® critical EF/ VTS | T TG (Y) |

@D Critical Juncture-T1T7 F@577 I3 31 #137: w¢. The shirt is—.
AP | o7 iRy are «F T A AT after my taste ® before my taste

T | COY critical 5T W article 'a’ Qe e | @ afterone'staste  ® according to my taste
3. The old man cannot help— a cup of tea. The shirt is after my taste— ST GG ST
® take @ drink TR I 12 |
@ to drink ® having 0¥, What is the meaning of ‘Prior to'—?
@@= Cannot help- 47 S verb- 47 R ing J& | on @ after
9o, There is— milk in the bottle. @ before @® beside
® very few any Prior to— 1T 9% 1 After 9% ‘7’
@ very little ® many before— 93 beside— 21T 1 73 T&7 () |

@) Uncountable noun-<& 93 determiner Rea; 9. The suffering of the poor man—.
little @R Countable noun-<4 9 few, any, many beyond desc‘rip'tion beggars desc.rip‘ﬁon
I 77 | AE TG ) | @ out of description ® beggar description
03, B O | (@RI Beggar description—d IFAISI® | @3
® Thepenismine. @ The pen s his. beggar'ﬁrﬁyﬁverbmwmtﬂﬂ
@ He s the owner of the pen. subject IR The suffering 3rd person singular
® Hebelongs to the pen. number | JOIR beggar-GF A s N7 AR/

. . Yo, ASFEGH (%) |
(@) His 30T he- cg;,ossesszve form h/ “‘7‘7;? :th‘.i: b, [ wish I had seen you before. (Exclamatory)
c??”!' ‘ 5;;1 ;::7 ours, z; ;:;’ ers s ?;; Wow! I seen you before.
Vits TP YR A noun -5 ® Had I seen you before!
47 7 <P T | His 94 T SERIE 4911 @ Oh! I seen you before.

W’?ﬁ@'@@?thepen is his | ® IfI seen you before.
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&7G option GTIT W& FITANZ. Exclamatory
sentence | Ol 7] FANTSLFICS tense- 99
JRITEA© PO AP G 73F G (%) 1

5. Besides going to the book fair, I bought a
number of books. (Compound)

I not only went to the book fair but also
bought a number of books.

® I'went to the book faif and bought a number of books.

® Going to the book fair, ] bought a number of books.

® I bought a number of books when I went to
the book fair.

(@B Compound sentence KNI and, or, but
ge7if7 Conjunction Il & AT 7R & ==t
70 Principle clause < | @1 3B 857 (1) |

80. Do you find your payment too little? (Passive)
Is your payment found too little to you?
® Are your payment found too little to you?
@ Are your payment found too little by you?
® Is your payment found too little by you?

(@BD) Present Indefinite tense-4d interrogative I
G passive P AT : Amfisfare + object - subject
+ verb-< pp + adverb (7 NCF) + by + subject-F
object | JIR structure TR 73 T (%) |

85. There is little milk in the glass (Interrogative)

Is there little milk in the glass?
® Isn't there little milk in the glass?
@ Is there any milk in the glass?
® Isn't there any milk in the glass?

(@RI 278 T ‘little’ (5 Negative T 2717

0T | ©IR interrogative sentence-13 positive F(J |
B G571 (%) |
8. I know him better than you. (Positive)

TER ® You do not know him as good as I.

éo ‘q ® You do not know him as well as 1.
—— ® You do not know him as well as me.
8% st ® You do not know him as good as me.
8 2 | (@D Good/well-47 comparative and superlative
89 F degree JUITFCT better and best | QTS T
88 ¥ T “ComT B WA OIF SIS A7 1 @
8¢ as JIFOF positive I’ B ONF ©© et et 1
86 ¥ @ wyen o o | A BaF (4) 1

] 89. I am sure he (pass) the examination.
8a. F

® will pass ® passed

8‘7 b @ willbe passed  ® pass
8> 7 | (GmED) W fAF5S 37 AT I P, | Future
go o tense FHTS will pass T | FE TGF (F) 1

88. Walk carefully lest—.
you will fall ® you should stumble
@ youwould have fallen & you might lose the way

NPT SR L test JIR© AT, AT L
Subject- R should +v, I97® | 376 5&7 (4) |

8¢. People (talk) his courage even after his death.
@ talk of @ talk
@ will talk ® talks of

(@RED) Talk of sb/sth FIRS I [PIANPE T P2
1 | People 7541 Plural number ©1% talk- <3 7Y
s Tes I 7 1 0F &7 (F) 1

8V, Three-fourth of the work— finished.
@ havebeen ®@is
@ are ® has been

(@®EBD) Three-fourth of the work (noncont noun) +
singular verb T | (I et [P W= (17 TR
RS g T I MR G (@IS present
perfect tense TX | BT FeT (XL G P 7
@ NE 7 N MG passive voice-4 IJ |
For A T () |

84. We felt very tired. The word ‘tired’ used in
the sentence is—.
adjective noun
@ verb ® none

(@D 9 T we-subject, felt—Linking verb, Very-
adverb <R tired-adjective | JRI B G () |

8b. The verb of the word ‘beautiful’ is—
beauty ® beautify
® beautification ® beautifully

(@) Beautiful (adj)—F%; Beauty (n)— N3,
Beautify(v)— GTHAIRT/H#IAeC F71;
Beautifully (adv)—37I | 3 §&7 (4) 1

85. The synonym of the word ‘huge’ is—.
sanctified ® tiny
@ colossal ® momentary

(@8 Huge—TR1T; tiny— C&I5; colossal— /<1,
momentary—FIZAY; Sanctified— 1A | B
87 (%) 1

@o. The antonym of the word ‘unique’ is—.
® popular ® common
@ distinctive ®) deciduous

Unique (adj) SR/ SPARYTETN R &
*ifoq A1 3 antonym TR — Common— 4T
Popular— @& distinctive—Tog; deciduous— &€
37 e A AR Y AT 1 1BF BT () |
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@ oY @ 0o @ o ® o
(TR 4R, T x - 3 x= 3, %, X+ S x+Jx+ O

‘YWE',x—Q+x~)+x =R19

= I = VYo

L X=Jdo
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@ deo. sy R @ sveo.sv FEE
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e ¢ A, W’H’R’mﬁ-

® ab @b ®2 @ %
_ AWMeX% e _ab
(GRED R I = @B 7T ¢
8. 93fs =13 8 B ¥ ¢ B i w30t e
@Wh @Wh D% @ ¢%h
(G 8 GraF w1 37 5 Gt

Yoo ,, )o:)() ¢ Grer
@e. 00 BT ¢ IFR Y- 200 HIdt T, TR Ta—

@k @Y% @DWh @ wh
@R 77 = 00 - Yoo = Yoo b1

500X 3000, [ pr):ocy]

T RA = YooX ¢
=R0%

ey, [esa im s % R/ F5?
®

©|6 |-
Rl6 ¢|r

24. 3¢ T T G fB T 0 w0, @ T
> fis F20e G =R
® >00 T @) 3o TH (@) 00 T @) Yoo T
(TR 2o A FIes 707 S¢ T
S (R0 x 3¢) =Yoo

. © I T T 8 (A TFT NG 9 IF 6
R T & | @ IR A ST [WETE oS-
@9y @133 @RI @Rase

(TR TR TSI T (9 + ©) I o I=F

m 2” 2 (Q+O) W 0 »
¢ %9 17 ©OIiT O Sl (9o + ¢) : (¢ + ¢)
=0¢:do =9:R

@5, =B ALTR ¢ e MR ©iF 3 Rt F=c
@R & Rt I i =7y =1 | R

®@ ST R @ oA 8
(OES: LIRS ® oA 8
@) 4R, R x
&-x2-Y=

=-(x2-¢& +Y) =0
=>x2-x-u +Y=o0
=Sxx-9)-Yx~-Y) =0
=(x-9)(x-])=o
x=R RO
Yo, 2w wifS TSR Heyi fe—

@¢ @¢eeo @ do
@R 937 I FeIRE R 1T

_3+3+9+8+¢+Y+a+b+5+d0
- o

® ee.co

=¢.¢o

viA
ola

©). a8b=4359NRbsc=637,a8bsc=
@ 20835842 @ 24330835
@ 35830824 ®@42835320
@®BDa:b=4:5=(4x6):(5x6)=24:30
b:C=6:7=(6x5):(7x5)=30:35
a:b:c=24:30:35
W, log, 20 @ NR—

@2 @V @2

_ 2
log, 20 =log, -(2V5)
=210g2\/§2\/_5_=2x1=2
a-b ,b-c, 6 c-a
wW. b + bc + ca
®2 @1
@0 @-1
a-b b-c c-a
@ ab + be * ca

_ ac—bc+ab—ac+bc—ab
abc

®4

0 qF—
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U8, 82x+3 = 23x+ 6 A, x A NF— 9y, Gft firgTeR (FeTTR SRS 2 8.3 85 | 7 JREW R~
®-3 ®-1 @0 ® 4 @18 @36° O @X°
(TR 82x+3 = 23 +6 @R R, ST 2x, 3x 4R 5x
= (23)2+3=23x+6 .~ 2%+ 3x + 5x =180°
= 26x+9 =23x+6 = 10x = 180°
=6x+9=3x+6 . 2180
=6x-3x=6-9 wx=18

RGY (PN =5 x18°=90°

::fi:-f 4}, ABCD TIeRwE AB = 12 Gffl, <R D Rg
1 AB R MRY 6 (1., ey crarn—
> x: 183f @f @ % @R
@11 @10 @9 @7 @ nItEAR. ® R
G x* +1 _ xP 1 2, 1 D C
A
2 6
=(x—;1(-) +2 x.%
=(32+2=9+2=11 A M
Yo, x>y GR z < 0 T, A3 @AM F3%? ARG T = B x G5l I o
@ xz>yz @ X r ®@ ZE ®@ =<yz =D2x6=72T A,
£z Xy =T AR

@D x > y @R z < 0 T z FeHeE et | Weere
Tl I PSI o ] T O fw Grm | 20 IR Tgtem &% e g 243 o T,

xz<yzW@ﬁﬂﬁ?’/ gl cvaza-
¥4, a=2b = 3c GRR abc = 36 T, ¢ T TH— BJ_ AEw @ W3 T
V2 @22 @¥2 ®2
@& a=2b =3¢ @9"’7““‘* @?/_m :

9, =3 4 b=3c ) e s v = 5-(2\3) ofame

.'.3cx-g-cxc=36 =@x4x3

=93=72 =33 of g
_ :32; 48, J6ET APT3 &t I AT cwvaw I MRA—
8 ¥ c=2 @4 ®9
WE - T | W 3x3 + 2x2 - 21x - 20 BT G Tesive- @ 12 @ 16
e @x+2 @x-2 Dx+1 @ x-1 | (TER) T I3 o9 I P07 R 9 09 3 M
—— (@R 47, fix) = 3x3 + 22— 21x - 20 q¢. fages ol e saFE IES F0 Tty
v ¥

x=-1%, fix) =07 MRy @It o7 AT —
bt (x + 1), &8 AT G0 T | @180° @150° @270° ® 360°
Y ¥ | Ub. x+y=3,x-y=1%, dxy & I— A
wvI| @4 @2 O-8 OB
qy o | (@RED 4y =(x+yP-(x-y?=(32-(1)2=9-1=8 X
T 90, AN fargrem W=/ FoRT—
——— @ 55°,35° @ 35°,45°@ 45°, 55° @ 55°, 60° B c
3 2| (G e e G o T 900 y z
id Pl R, 55° + 35° = 90° A+B+C=180°—x +180°-y +180°-z
a¢ 9 . &9/ (IR 55°, 35° =3 x180°-(x +y +2) =3 x180°- 180° = 360°
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2= A
A, IR 0L F46 G0 S TwR? | (G 3590 70T AT I AT
@ P @ of6 IR AT (T GHRE SWIFT | At 6 7o
® 8f @ e WGNF FTAAR (T I &I «f>
(G e e AT AR GO 7 SRS 95 ST RAAAEA WG | SWIFT-4F

@ FRITIER | AEHTIT (N5 0RfF (T T @
5% (AT A [T |

9, N ARG @ R SES?
@ vaaw @ TR
@ P ® TEIER

(@RI TS WY A 7R IREITCI N,
TG, RTNRNG, YT S TN G WA
ARG [ | M ARG IRFHAT T O
AT | 4 AT EBC 3, 0¢0 Fb |

-, I Tt AHTawN ZABHES m wfys?
@ o=t ® s8I
® = @ A=

(@) ITwTIR Tt 17t IO 3599 AT
&fSfie 271 T9 NAY IVBHLEET N T
TNTIR T | T Vel TAFOEB 77 e SRy
DI SIS 12T | JSIA ) e ABHEGT
7eq TR JFPHS AT |

b, AR FHF I I T/ @I & E?
®@ MR Okkall
@ e @ et

@) 97 T JEACIT TGO (e FIBE
QP o5 BRI FrOT | IS A @Y AT
B T AN |

o, AFNTT INGHAR I ISSH W) G ?
®@ wvey @ 8o®¥
@ ooy ® 8YoW
[Note : 7 G5 Ierge F1TT @3 WEHe
OPPTE R SIS WS | FATGEAT
TSI T T ¢OfS | T FAVSHTRT
O®N T (7 | T b AT 359
PHNGTITCIT 7Y% 571 0 1]

vy, AENR @ TR Jeeeat Ry Ay
B el ITR?
@ TR Tem ® IO IFE e
@ wfex st wfem @) (B G wEw

(@R Foogs e AT GRS | Sdbe FNT
wIfevey firer [qwrq ¢ TFos Mg (UNESCO)
oI Ao 0307 [y Qo RETT cara #d |

bR, FRET (IITET A IS ?
@Y @v
®

495 4—Society for Worldwide Interbank
Financial Telecommunication | SWIFT (1% b
AT 53 e e e |

v, HTML- <% & 67

‘ High Time Made up Language

Hyper Test Multi Language
@ Hyper Text Mark up Language
® High Teller Maximum Language

(@) HTML is a markup language for describing
web documents (web pages). HTML Stands for
Hyper text Markup Language. A markup
language is a set of markup tags.

b8. I TIIE ST (R B I (7

®@ W’ WwR @ SIF T
@ AT I @ T W REe

SCb-8 M T T LTS FRA | ¢ TET S¢¢Y
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OZATSNG GF 4T @ | HPV- (et
OIZFT 7, I Soo-F (@ AT LS AT 7
S AR AR | GF T ey R Fre-
ANTZ AT [ Sz FeFwa T 1
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v, Raem ey faet +1?
P@BVBA @WA AW @ o™

v, TR & w0
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m—n ﬁr‘m ﬁzﬁxﬂ ﬂ?r‘fﬁr (ﬁfﬁ/ﬂﬁ"iﬂ‘lﬂ Q)Qob\‘o

,‘Q A

Waﬁﬁw@@mw:(w)mwmﬂ%ﬁw@‘@m@mo ¢o (WW’//E‘ZNI) 579 IO 20T 1]

S T WwH7 Reide == @7

@ =" ® feg
@ TS ® "
R ol g oA = @G
@ = ® s
@ TeH Ok

9, MFCE TN A @ G I I —
@*F] @U@ *F TN @ FoF
8. IR Y TomE 7
@I @™ @ ® @
¢. B =G = ot Fave?

® el @ fRerond
@ Tard ® Fond
. Itis health— is wealth.
@ which ® what
@ whatever ® whats ever

4. The boy is— answer the question.
to dull too ® too dull to
@ todullto ® to very dull
v. Icarried an umbrella in case—
® it was raining @) it rained
@ itrains ® its raining
®. IfI'had seen him—
® I['would tell him the matter
® I'might tell him the matter
@ I will have told him the matter
® Imight have told him the matter
So. TS T e §® R |
® Alas! His mother is no more today
® Ah! His mother is dead
® Alas! His mother has died
® Alas! His mother has lost her life
5. GRS Bt STerw g & oigs 3 |
The girl likes milk more than tea
® The girl prefers milk to tea
® The girl prefers milk than tea
® The girl prefers tea to milk
0. T (AT JEAYIR B T0R
(® It has been raining cats and dogs from morning
® It has been raining cats and dogs since morning
@ It is raining cats and dogs since morning
® Rain has started cats and dogs from moming

So. S NfAeia T 2t e |
I was to go to Manikganj
® Iam to go to Manikganj
® I have to go to Manikganj
® Ineed to go to Manikganj
58, S ST AGTS S |
® 1 heard him to read ® I heard him reading
(@ Ihave heard him reading ®) I saw him reading
3¢. Would that I —to college.

® cango @ shall go
@ could go ® might have gone
. I wish I—asweet song,.
® sang ® shall sing
@ cansing ® willsing
94. He spoke as though he— everything.
knew @ has known
® had known ® knows
3v. The colour of her eyes— blue.
®@ are ®@is
® were ® none of the above

55. 'Ten to one' means—
® very uncertain ) very likely
@ almost impossible ® not possible at all
0. He insisted— there.
® over going ® onmy going
@ to go ®istogo
Q). Jim and Della were as wise as the Magi (Negative).
® Jim and Della were not as wise as the Magi
® Jim and Della were not less wise than the Magi
® Jim and Della were not to wise as the Magi
® Jim and Della were not unwise than the Magi
RR. Every man must die (Interrogative).
Is there any man who must die?
® Doesn't any man die?
@ Is there any man who will not die?
® Is there any man who does not die?
Q0. He worked very hard so that he could
succeed in life. (Compound).
He worked very hard but he could not succeed in life
® He worked very hard and he succeeded in life
(@ He worked very hard in order to succeed in life
® He wanted to succeed in life and so he
worked very hard
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8. Find out the correct synonym of ‘occupy’.
grab @ gain
@® recieve reserve
*¢. Find out the correct synonym of ‘defence’.
assault resistance
@ attack raid
RV, Find out the antonym of ‘assist’.
® hinder aid
® support ® co-operate
4. Bad habits should be nipped in the bud.
Here the underlined phrase means—
crop up ® to be cultivated
@® toshun
® to be stopped in the beginning
. What is the noun form of the word ‘successful’?
Successfully Succeed
® Success ®) Successive
. Verb of the word ‘apology’ is—
apological ® apologise
® apologify ® enapology
. He is proud of his—
bad blood ® blue blood
® block head ® broken reed
03, 8% 7T Ry 8t Bt 2o wFtepen +?
8oo B 820 Bt
@ 880 Bt ® 8¢o Bt

o2, logs(¥5)(v5) @ T cfb?

6 5
. {2
5 1
D5 ® 3
0, 520 TUR TR 47 G ST =WF 7 T
et gt IS ?
®@ 33 §R21 ® 20 @13
@ 27 @R 34 ® 27 @20
V8. Xx+y=2,x+y2 =4 @ X3 + y3 A N IS?
@4 O]
® 12 ® 16
. I f(x) = X3 + 9x2 - 3x - 6 TW, O f(- 2) = FS?
@28 @-44
@ 32 ®26

oL, (! Jear IS 7 G T e JRew Wt
@ g Rsz @w?
@ 26
@ 14 &

@ 6 G
® 12&Rw

y 7
X
°q,
60°
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60° 1000 @120°0 @®180°
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e viTn 797
263 G 523f GLf.
® s & f ® 108 & f.

b, (I fasrem e ReFIT ¢ @ WEsY
RS @R T FS?
920° 120°
@ 180° @ 360°

80, 93D AN ToEE GF B IReY TR AR FS?

120° ® 60°
@ 90° ® 30°
8. (I ARYE ¢ % @8 TA?!
Y00 eo
@ ko ® vae
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Q1 50 TF I SR IATEE TS IS FA?

@ 92N @ W
@ 5435 @23
89,  (UTF Soo I Y GRS eyt F4H?
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2
@ m2 @ 5
® 4m2 ® @HE T
8. x2 - 6x +9 = 0 TR A1 FA(G?
1 @2
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8y, q3fb A fagte cvawn V3 2o z
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® V3 ®4
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8br. x—2,x2 -4 TR x + 2 97 ¥, A, © 57 FT?
®0 @1

@ x-2 @ x+2

TwIeAW (AR 5 NG s 391977 | afS
RfAT6a 377 1.50 B TR B 15% A GG
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8.

® 8.625 Bt ®) 8.652 BI
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TRt T & IR T AT FoAet 3?7
@ » PN}
@ 8 @
9% -4
@, 3T——2—2 G TR FS?
® 3 @ 3x+2
@ 2x-2 ® 2=
@R, SHT AIRT GfS AiRA &b p Hrom R
IR x% ATS I | B w=ier o’
S o IR
100x 100P
100+P @ 100+ Px
100 100P
@ 100x+P @ 100+ x
@9, 2x3 - 5x2 + 4 = 0 TRFAIA x 7 AL FS7?
®-5 @0
™2 ®4
@8. 5,11, 13, 7, 8 IR 10 FALYITAT G F7
@6 @7
@8 ®9
@e. 9o T AT 0 M @3S e toft T

MR | 3R & AfRT 7© fiey @ AR tof
FTACS ARI?

® wo fiw @ 8¢ fw
@ eo A ® vo A
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@I @ W7
®@ TIB-CUHT @ @5
@ weR-fom @ cFEi-a
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8¢. ‘ASF"-q7 RIS 1% (FH?
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8v. ‘XM’ @& e 1% FG?
@@ OF O O
[Note : &78 TP A" &7 FALE % (32 |
W’ @7 e 2 1w, 7, oo, T8, #,
oreT, 4, A9, eI T ]
84, W8 QeTl TSR TRA—«< T 5 =17
@™R @ R @ T TeRE [
8. ‘A (T’ T AL & 73!
@I @% @Fcie @I
8». T’ (AW ITT!
@ P QRER ST ) T AT =
@ @A o AR oK
¢o. (I ASTHTS *I7 I4 ‘T’ @7
A @A DET @
@>. Tawfiq went to library with a view to —
@ read a book @ reads a book
@ readingabook @ buy some books
(TR With a view to (G7]) TR &5 phrase I %1 verb
SIPTT verb 4R R ing & T | A IE Y phrase
% Look forward to, conducive to, addicted to 3717 |
@X. Hardly had we reached school—
when the bell rang @ than the bell rang
® thebell rang ® after the bell ringing
@) @A 7 267 71 W1@E o 7% Ak
PR (E@IHITC TR T A oY/ O A
FHCE Q@IS (@ Structures IA© T © - No
sooner had ~ Than, scarcely/hardly he'd  when
o717 1 17 When G than &F 93 Past perfect Tense <R
When 8 than-<J #S Past Indefinite Tense J33© X |
@9. Though he is poor, —
he is honest ® but he is honest
@ and heishonest @) but he was honest
@™ Though/although (I7S) & IFT FATS
g ReIeg<0 Expressions T | ©TF principal
clause <F ST and, but (PIA PE IF A |
@8, WY CSITF MG |
I shall eat you ® Ishall feed you
(@ Ishall be eating you @) Ishall give youa party
@) ¥1s3T ZALS eat; T FICCE Y1SAAT
FeCI feed | FS (¥) option BF |
e¢. T SINR ST SR |
He is my brother @ He is my step brother
@ Heismy elderbrother ®) He is my own brother

....................................................................................................................................................................................................................
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@RI My brother T SR 197 ©IF 3 FIFHE
(IR | Step brother— 18 ©IZ; elder brother — @I%a
3T ©1Z | ST Own brother-<7 JIZF SANTS T3
7 1 FJ () option 16F F3F |

v, SR AR Fem TR
@ Ihave no pen to write & [ have no writing pen
® I'have no pen to write with
® I have no pen for writing

(@RRY) FRRIR FT/@TIR P @17 G T
Fonifag F Ferale TR pen to write with” |
g47e (@Al FZF AR (pen/pencil) @3
@RS “write with’ TIA© IF |

@4. The adverb form of 'heart' is—

@ heart @ hearten @ heartly @ heartily

(@B Option 87719 T4 (F) heart TR noun; ()
hearten ZCeTl heart 4 verb; (7) heartly &7 (PICA!
TIRIA (TZ 43 (8) heartily TR heart G Adverb form.

@v. Verb form of the word 'danger' is —
® dangerous ® danger
( dangerously ® endanger

(@AY Danger 0 R Noun @I @7 Verb F70© I
&% ‘e’ prefix IF FC W 1 (T ROTF (%) optionv3
3 | Y option GCETR TG (F) dangerous TR Adjective;
(%) danger T Noun 19 (%) dangerously T Adverb |

@>. Noun form of the word 'Long' is—
® length @ longer @ longest @ lengthen

@@mBD) Long %9 Noun 0% length | FSAR (F)
option 17 I | e, longer R long-49
comparative form; longest R superlative form
IR lengthen e long -4 verb form.

Yo. The Padma is one of the biggest rivers in
Bangladesh. (Positive)
®® Very few river in Bangladesh is as big as the Padma
® Very few rivers in Bangladesh are as big as the Padma
(@ No other river in Bangladesh is so big as the Padma
® No other rivers in Bangladesh are as big as the Padma

(@B One of the + superlative + plural noun @FI
superlative degree e T o7 positive PO T
very few + plural noun + plural verb + as +
positive degree + as + superlative-99 subject
IR P00 ZF |

). Every mother loves her child. (Negative)
There is no mother but loves her child
® Every mother cannot but loves her child
® No mother loves her child
® There is no mother loving her child

(@RI Every 19T (PICAT positive I affirmative
sentence 1 FET ©IF Negative FAC© There is
no + positive sentence -7 subject + but (21!
o) + verb + extension | JOR () FIF |
U, Without working hard you cannot shine in
life. (make it complex sentence)
®® In spite of working hard, you cannot shine in life
® Though he works hard, he cannot shine in life
& Unless you work hard, you cannot shine in life
® Unless you do not work hard, you can't shine in life
Without + gerund 3 conditional sense- simple
sentence 4 JI7© T, O complex P 77 if I
unless %A1 subordinate clause 5% FCC T | @Y,
unless & clause- ORS not J7© |
V. If you wanted, I (help) you.
helped ® would help
® will help ® canhelp
@@®ED) Second conditional sentence-47 'If clause 9
past Indifinite JIR© A principal clause 9 would/
could/might + verb & present form IR X |
8. They arrived here after you (left).
@ had left @ left
@ will leave @) leave
(@RI Past perfect tense-4 after 97 7TF Past
Indefinite GRR #CS had + verb &9 Past Participle
form TT© T | TSAN () had left 7% T&F |
Y. Let the sentence be (pen) through.
@ pen @ penning@ pened @ penned
(@®AD) Imperative sentence 47 passive T A let +
subject + be + v; IIT PXO T | I1G ST pen verb
ReoTa 33%© 93 < past participle form A penned |
YL, A — in time saves nine.
stick @) strict @ stitch @) stich

(@) ‘A stitch in time saves nine' T8 G0 Proverb |

7 9 07— TACR G (TG, TR 7 T |
44, The man was — for murder.
hung @ hang @ hanged ® hangged
(@) ‘Hang’ verbl® FIFI® (st o a1t P30 <7
past @ past participle form (T "hanged’ | &7 sentence-
@ murder wordf? AT (%) hanged I |
b, He speaks as if he —a mad.
@ were @is ® hasbeen ®) had been
@R 'ss if T 10T A as if 7 A present tense
YIFCT M past tense T | OIS, be verb-4F (¥ F
I subject -7 & ‘were’ T | B@ @, as if-
RN past form TS © present <7 o T I |

S|E|5|€|6 |8
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Us. The synonym of the word 'witty' is —
®clever @ dull @ boring ® tedious
(@wnD) Witty- T, I 1 Option 7113 clever - a1,
dull - F578%; 5 boring - AR < tedious - Rafes,
e | ToI witty 7 synonym P clever.
90. The synonym of the word 'cordial' is—
® hostile ® unfriendly
@ meek ®@ amiable
@@=/ Cordial - SIS[® | Option — ©TeTIE M4 hostile
— XFCRIN; unfriendly - TIFGYF: meek - R 93¢
amiable - 7%, QISR | FSAI cordial G amiable - T,
ISP | FEAR Cordial Gamiable TR synonymous |
93, The antonym of the word 'adverse' is—
@ hostile ® negative
@ favourable ® unfavourable
(@AY Adverse — &IoFeT, K% | Option ST 5047
hostile — M@SITIg; negative — FEN5F;
favourable — I R unfavourable — ST |
TOIR adverse *ICHd antonym 2R favourable.
9. The antonym of the word 'flexible' is—
® hard @ elastic
@ changeable ® ductile
(TR Flexible — T3 | Option ST 04 hard —
W%, FI7; elastic - [BIEFI%F, QrI6%;
Changeable — RISV €72 ductile — TN |
FOFR flexible *Icq antonym R hard.
q9. — he is coming today.
® Atlength ® Tento one
@ Atlarge ® Allinall
(@B At length ~ T, ten to one ~ 7879; at large -
FIATONI G¢ all in all - FOH | Ten to one’ phrasel>Z
G appropriate meaning (7 SR FER© GF WIS SE |
48. You'll fail in the exam, if you — from school.
® take to task ® put off
@ put out ® Play truant
(TWAD) Take to task — ST F90; put off- Pee
AR put out — STl ]2 play truant— TR
I | STATS sentence- 97 meaning RANI play
truant 3 3 A7 O T~ T @ AT P
P A TSP I |
4¢. His — pleased us all.
® slow coach ® silver spoon
® maidenspeech  ® weal and woe
G&ERED) Slow coach — S e Silver spoon — ¥ T
G312, maiden speech — QT TFO! AR weal and woe-
FR-554 | SR AT TP maiden speech T A6 |

U, ASIFR GF CF@ AF TTF G 5
it qT 3 (FaBr ~fFNM you FER z=
TR Y 8 27 T 7
®@ 808 aR ®@ 8083y
@ 8380 @ b 30y

@) 3 x A, 57 (x + 33) A,

WETTE, A + IR +x) = 39
S RUA FIR=W
=S =Y
X =Rb
& b i, G2 07 (b + 33) T 8o A,

qq, 9% @ IS AT 1T ¢ | AW, S @
T TR G 0o A, T AeYifS F?
@ @8 (@wso @co

@RI 37, 7 8 0T FIIT TR = 0 x Yo = 5o

37837 =3Ix¢=¢o
OF I3 = 8o

b, @6 et 4 T ¥F © RBHR 8@ st
ffteg Tt =@ weie gfits 8 o g =rf
A §f5R Twet TS?
®@ ¢ it @ v foR @ afitr @ » o=
AD=h i, AC=0 1
ABC 1} fager e
(- OR =8+ R
= h-vp=¢
= h-9v=¢
=S h=¢+VY
sh=b AR—

357 B b A, B8 A
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@) FFET AT a T
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by, GG AT @iFe ¢8 €I A. Al @, Sb A,
Sad A, AL 8, FS?
@R OF: ®>
7 5N werwE
@D 7. 7. ¢ = Jqrofaamte = 5o =2

bR, oF A 33 it I Yoo Hi b WG W FS?
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® 28 B @ v B @) 8 BIR @) wo B
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‘ng= Yoo, r=3560 M3y T3
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” 300 Yo
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%0 _ 3¢
53 = e
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Y _e, 9
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9
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b8. 8% TR T (I BT R IR FF 8
& TR =G S Bl T, T I ?
@ vae o ®@ 8¢ I
@ 03¢ 5=t ® e3¢ oI

(GRED s5ar 6 7T FAIIT AT = 3
Spl3+r) -d-nrl=)
=p{(3+0.08R-3-Rx0.08)I=)
=p(d.0r30 - Y- o.0b) =)

=P=%co5%

p=Wwe
ve. a=6++/5 T, as 3‘1 a7 T g Fo?
a

@ 45V5 @ 47V6 @ 46v5 @ 4345

@D 2=v6+15
A1 645
TaT B+ T (V6 +5)(v6 -5)

=\6-+5
a-1=25

= (2v5) +3x2v5
=40+/5 +6+4/5 =46+5
v, logxll—6=—2 T, x R AT TS?

@3 @5 OF: @6
@@= logx%=—2 =>x'2=%=.>r2=4-2
sx=4
bq. MW a3-b3=513 Ra-b=3 T, X ab R Fo?
54 ® 35 @45 ® 55
(@) a3 - b3 = 513
=(-b3+3ab(a-b)=513
=(3)3+3abx3=513
= 9ab=513-27
:ab=¥
ab=54
bbr. 5log? - log® =37
®@log8 @log27 @Dlogs ® logl0

5 log3 —log9 = 5 log3 — log3?= 5 log3 ~ 2 log3
=3log 3 =log 33 =log 27

. X3 + 6x2y + 1xy? + 6y3 R Tesimess Rt ai?
®@ (x+y) (x+3y)(x+5y) @ (x+y) (x+2y)(x + 3y)
@ (x+y) (x +4y) (x+3y) @ (x-y) (x +y) (x +2y)

@RAED X3 + 632y + 11 x32 + 613
=x3 + x2y + 5x2y + Sxy? + 6xy2 + b6y3
=x2(x+Yy)+5xy (x+y)+ 612 (x +y)

=(x+y) (x2 + 5xy + 62)
=(x+y) (x2+ 3xy + 2xy + 6y2)
=(x+y)(x+3y) (x+2y)
50, a W IMIC A 9-12x + a2 I e A 77
® @6 @1 @4 —
9-12x +ax? = 32— 2.3.2x + ax?
AR 2@ = ax? = (22 T AT T | T8 T
T, ax2=4x2 ve o
a=4 by A
5. (V3] = (¥3) 7 amTm va =
® @5 @6 @7 v
( \/g)xﬂ:(%)h—l o \/g)x+1=3 2xq.1 b "‘
: d ¥
=>3x;1= 2x3—1 =>x;-1=2x3—1 e
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=4x-2=3x+3=4x-3x=3+2
sx=5
BR. 9x2 + 16y2 GF AN TS % IACHA QAT
spfaf 7 237
@6xy @1xy D2dxy @ ld4xy
(@) W7 7, a QP 0 T
9x2 +16y2 +a=(3x)2 + (4y)? + 2.3x.4y
=9x2+ 16y2 + a = (3x)2 + (4y)? + 24xy
~a=24xy
0. €T rgre o w1 o Red Suom 6 GIfY I,
fagafon cvaze 810 3 Gifdt 201, @ Bt T ?
@ 27 @ 28GR @ 25 @™ @ 24 &
@mm) Tl @51 O (2x + 6) R

1(2x+6)xx =810

= 2x2+ 6x =1620

=x2+3x=810

=x2+3x-810=0

=x2+30x-27x-810=0
=x(x+30)-27(x+30)=0
=(x+30)(x-27)=0

o X ==30 IR x = 27 ¢ GF WG T QZI 7]

ewer27 G,
8. AMBRF 3R 1712 T T ANBRIG T3—
@ STSrTa @ T
@ G @ fowa

T 1 (@ TGRET Gl [ Tt o < ST |)
s¢. RT3 SetE oy I —

i. 08 = =R e oo o

ii. SgEE @ G AP

iii. 09 R I T (3 (/F TS

BT ST WEE AT S wfdw?
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2=, e
V). Politicians often use students as —.
cat's paw ® cold water
® fresh blood @® kith and kin

®e O

® a @v
3. T wwifoe fRegt w3097
He sometimes tells a lie
® He never tells a lie
@ He seldom tells a lie
® He sometime tell a lie
@R, T A AR TR |
To errishuman ®) To err is a human
® To err is humans &) To err are human
@O, TR T 5T T M it |
Something is gooder than nothing
@ Some uncles are better than no uncle
® somethings are better than nothing
® Something is better than nothing
e8. N3 AR =IY |
® The manis to die ®) The man is about to die
@ Themanisdied & The man has died
ee. Y oz faca Itwfb F=mEm
@ Imade him do the work
® I got him do the work
@ Imade done the work by him
® Ihave done him the work
@Y. Belal is the best boy in the class. (Comparative)
® Very few boys in the class are as good as Belal
® Belal is a good boy in the class
(@ Belal is better than any other boy in the class
® Belal is better than any other boys in the class
@A. Everybody hates a liar. (Interrogative)
® Who hatcs 2 liar?
® Do you hate a liar?
(@ Who does not hates a liar?
® Who does not hate a liar?
@b. He is poor but he is honest. (Complex)
Though he is poor, he is honest
® He s poor and honest
® As he is poor, he is honest
® Since he is poor, he is honest
@>. He is so weak that he cannot walk. (Simple)
He is so weak that walk
He is weak to walk
® Heis too weak to walk
® Heis very weak to walk
Yo. 'Milk and water' means—
brave ® timid

W, Sher-e-Bangla was a —.
man of sorrow &) man of justice

® manof mark @ man of softheart
O, He is — a rogue.
above all ®) afterall

@ oneandevery @ outand out
8. I saw the beggar — on the floor.

®@ laid ® lying
® lay ®@ lie
u¢. I went to the library with a view to —
knowledge.
gain @ gaining
® gained ® be gained
WY, The poor—much in winter.
suffer ® suffers
@ suffering ®) suffered
vq, Walk fast lest you (miss) the train.

® would miss @® missed
® should miss ® will miss

Vb, The patient (die) before the doctor came.
died ® had died
® have died ®) would die

. I (to suffer) from fever for three days.
have suffered ~ ® am suffering

@® suffered ® have been suffering
q0. Hardly had we taken shelter under a big
tree—

@ then the storm started

® when the storm starts

® then the storm starts

@® when the storm started

If I were a bird, —.

I would fly in the sky

® Ishould fly in the sky

@ Iwill fly in the sky

® Iflew in the sky

AR. He speaks as if —
he knows everything
® he knew everything
@ he had known everyting
® he know everything

9. Which is the antonym of 'handsome'?
Beautiful ® Ugly
@ Nice @® Bad

.

@ daring ® courageous
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q8. What is the adjective of 'comfort'?
® Comfortation @ Comfortably
@ Comfortification & Comfortable
4¢. Find out the correct synonym of the word 'ability".
® Property ® Appropriacy
® Capability ® Disability
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o | €0 G - T 1 (A ? V9. Blue print-«@ *IRSIRF = @HH?
OFf @wm @we @ @ wIa @ Sgere
W | a8, ‘vafba’ =1 AiE-Reww @ ? @ <fefoa @ e
w8 ® v + o @ % + g b, IR, 8 =% 5fS I 4Aa w7
w 1 @ v + fo @ o + fo @oeW @ Weem @ G @ R
o o | et AR T eR AR e R I . T @ iR wE R/
w Cj?;‘"m’f m@)w ® & @ (T P @ wF T
@Y. &' IR 8 T G ? @ o T ® My e
w T eI+ OVR+T [Note : ‘@ 427 71" 74319 7 P @1 <o
> Note VR +@ OVP+@ wIRG 1 AR @1 A58 e #41 1]
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IoE.

Y0, ‘2RI’ *=fB7 24FS ¢ e FAH?
@ R4+ @V + =
@ VeF+ =W @ VR + O
Q). % I @G ?
®@ P ® Prew
@ Frez @ PwiTem
R, TN -G7 Af%-Rrwr—
@ T+ 9 @ T + O
@ T+ oA ® T3 + O

90, FNTR WS @I SiF @A HTS?
Wk @FH @IFe @I
8. 57 @I Sf-weT %7

@ O @t @R
q¢. AR 24w St @57

@ us b5 @ I S

@ ek Bt ® Ao

qU, The antonym of the word 'liberty' is—.
® liberal ® bondage @ frugal ® diversity
Q@ED) liberty (n.)- 257 &4 &, TR, liberal (a.)-
©ae, % T8; bondage (n.)- FITY, I, frugal
(adj - T, RN, diversity (n.- (e, Rzt |
w07 RIS liberty It TATO! W57 9PN
antonym 3t Re® *Fbondage I S 717G |
49. The synonym of the word 'call' is—.
@ summon @ exile
® impede ®@ recollection
G@RED Call (v, B, B T3, S P; Summon
(v.)- ©TT T, CIF A exile (v.)- FAOTE 4,
Refee #: impede (v.)- 4T (7GR, recollection(n.)-
SR, %72 Tq9 | FOIR Call B summon TAEE |
b, It takes two — make a quarrel.
@too @ for ®to @® inorderto
(@) erere M YTZIA ‘to” A | P9 sentenceld
<PIT &7 AT | Tt takes two to make a quarrel’-
P QI O e AL
q®. Death is — to dishonour.
® prefer @ preferrence
@ preferable ® preferring
@D Prefer (v~ (RIAI JfEF I I T @A IS
I IFF SR [ T 4, Preference (n.)- 1%,
W4FOT A, Preferable (adj.)- 4w TR I
ST, preffering—Prefer verb-1BF progressive form
T ARV JIR© T 7 | &G 5T 9 XA Death
is preferable to dishonour ST (BT JeJ CIF |
vo. Grasp all, —.
lost all ® losing all
@ loses all ® lose all

(@) 278 J115 G0 2] 197 | Grasp all, lose all-
17 o oS e ©ife 72 1
b, Please look above. Here 'above' is —.
® adjective ® adverb
® noun ® conjunction
(@Em) %G I above 1V look verb-F modify
PR | (PRIFY/ e Sy ST T | O
<RI above ZCRadverb of place |
bR, Look before you leap. The word 'before’ used
in the sentence is—.
® preposition ® conjunction
@ adverb ® noun
@D Look before you leap— ‘SIR71 3176 Prer,
SRS 71 | 9 AT I before il [feey cwed fifeg
Parts of speech R T97© O A | ©F && T
before il FIIFET® SR RO I3 TRE |
b9, Read to learn. (Complex)
® By reading, you will learn
® Read and learn
® If you read, you will learn
® In case of failure to read, you will not learn
@®BD) & Simple Sentence-57 & TR ST
T UG | GBI complex I GO T FAGT
PN T T ICC B FIRCS/SITS AR Read so
.that you can learn | fF answer option-T7® &
T (I BGF oAl (R | O TSI i e
B ©e7 ReTT (7)) option 1507 437 (SR R |
b8, He is the best player. (Negative)
® No other player is as better as he
® No other player is as good as he
® No other player is as best as he
® No other player is considered as best as he
(@®BD) He is the best player— &7 JRCO0R T (RIS |
93 ARIOCE negative FICT G LI T PICA!
RN ©fF T© GO e 73~ No other player is as
good as he. QU@ fAFAMG TR  No other +
superlative- 95 WS SR¥ + verb + so/as + superlative
degree- S positive form + as + JICHIT subject |
b¢. He is so dishonest that he cannot speak the truth. (Simple)
He is too dishonest that he cannot speak the truth
® He is too dishonest to be spoken the truth
® He is too dishonest to speak the truth
® He is very dishonest and cannot speak the truth
@®R) S0 that @A Mhe complex sentence-(
simple sentence-4 FSTIT 777 Z0=- Subject +
Be verb + too + Adjective + to + verb. SRIINP; +
be + too + Adjective + for + NP, + to + verb |

Professor's JOB SOLUTION ¢ 1465




1466 « Professors JOBSOUTION Poighrat .come

b, I (help) you if I could.
® Iwould help ® I'would be helped
® I helped ® I'would have helped
@ 2nd conditional -5 (A If clauselD 7 Past
Indefinite-& P, AN FCI- Subject + would/
could/ might + verb-<&d base form + extension.
bq. The synonym of the word 'scream' is—.
®@yel @sound ey @ loudly
(@ERIED Scream (v.)- 4~ S e F19a1 3o 7 AT
9, Q7T TPIRGTAR TG yell (v.)- ST e 3
155317 1, @IeamT F9 1 Oxford dictionary-T® scream
verb-09 synonym RET3 T3 yell O SRR |
bb. The passive form of 'Don't do it' is—
Let not it be done ®) Let it be not done
® Let it be done @®) Let it no be done
@@®RY) Do not I Don't Aty &F 287! Imperative
Sentence-® Passive 17 7%~ Let not + object /%
subject XL + be + verb- < Past Participle |
b®. Some interesting facts about your past have
just come to light. Here 'come to light' means—.
goneartolight () tobecome known
® to realize ® tolitalight
@RI ‘Come to light' Wiy phrase 9 o gt
Q0 FS3T qrto become public/ known |
d0. He came to Dhaka with a view to — a new place.
@ visit @ visiting @ watch @ look
With a view to, look forward to, accustomed
to, addicted to, be/get used to T phrase &N
*f 3731 FT verb- <7 R ing & T |
). WIRA @R FA I A
@ The wises do not talk much.
® The wise does not talk much.
@) The wise do not talk much.
® The wise men does not talk much.
@Adjective-@? GPIC plural form I AT 1 ©F
adjective- 7 article 'the’ JIT© T ©F SRCINT
T IGTF FHIR | O verblB plural T 1
53, Tighe, Wi @ wmifR |
Stand, I come now ®&) Wait, I am coming now
® Keep standing, I am coming now
® Stand here, I am coming
(B &I 07T FGNS” FET© WoAF! P o7 TRAZ |
9. GT T X TS 3 |
He has been ill since a week.
® He has been ill till a week.
® He has been ill for a week.
® He has been ill during a week.

Present perfect continuous tense-< period of
time JIICET for G2 point of time JIIT Since
TIZ© T | G AR IS G period of time-
G 1507 0 e BE Taq T (%) |

8. 91 @ Rt (T IS |
@ It is as if a thunder from the clouds.

@ It is a bolt from the blue.
® It is a strong thunder
@®@) It is bolts from the blues.

@) A bolt from the blue o phrase 9 o a7t e
e | PR BT BT (%) | g, QvE AT
QAT U ‘as if I [T, T 2 CSHIOC® as if
QTS TG 7T | < PI () (F AOF AT |

¢. He and I — well.
am ®is @ are @®@ been

(G 4749 and @71 710 Subject % ZeTverb plural 3F |

®Y. If we practised speaking English, we — speak better.
® could @ could have
® can ® would have

@ Conditional Sentence-9 If clause f% Past
Indefinite Tense- U0, JE QLA subject- 47 7
would/ could/ might + v, + extension JIX© IF |

54. Itis health which is—.
®@ asset @ wealth @ valuable ® precious

Health is wealth %1% proverb &3¢ simple
sentence | 4 JAIGI complex IR AN G

R YZIA T ReTT wealth-T T 1
8b. I have no money — hand.
in ® by @ at ® on

@R e 77 7 5t g 1 AR G in hand
JROF |

8. Did he see anyone in the room. (assertive)

@ He saw no one in the room.

@ He did not see someone in the room.
® He saw anyone in the room.

® He saw someone in the room.

& sentence B0 Assertive F90C T 77 T
&A1 T negative | €89 RETT F option GTell
WS R, ©IF 4 (3)-C@ someone PN, ©F
appropriate answer RT3 431 I 1 | P19 negative
sentence- negative &< QTR CFE someone-<F
RIS anyone Irno one appropriate |

900, The fruit is sweet — the taste.

® by @ with @ for ® to
@D @17 IfE I IF ARG information BCa
T G GF WS by TIR© T |




aﬁm Y Professor's JOB SOLUTION ¢ 1467

55—‘:1 ﬁf‘ﬁ?ﬁ ﬁ?ﬁﬂ vﬁrﬁ? (m/ﬂmzrm R) Qobs

Wd@ﬁ%@@mm)(@)wwwa@ﬁw & 0.¢0
] ) (wﬁ'/ﬁaf%’mwwwm//
?wsﬁmzm?ﬁﬁwaﬁawm%wwm. * S5 A0S T | QST QA S 1]
. sl @W 8. S TS Twrgas FFMG?
o o @ R FOI (R
2. PR TR IR IE wd b7 %%ﬂ:ﬁf%ﬁa
T @ e o g
S o ® QAR I T
. o e & se. ez FWTe I Wk 7' oo & TAR?
ﬂﬁﬁﬂw ? o i @ whmA @ eI
@ wRAo @ B O ki
s IR - o, 935 Fof IFTR A w7 @I IR
. i ! TSR FACS A @I BF 0? -
@ @ i foz el > > 1
¢. SR @ S og =% g1 ? @W ik oA
b e sa, B @ % IRG? XX
@ 39 S @ I S e o st
b, 'For good' @& Af3® & FH{G? @ s Of e
& oo @ o S, AT A oA % TG ? ¢ 2
@ FIew@ @ foreta @Ww O e ®
Q. TR @D TRE? o @ ;
AN S 35, ‘oIS’ @ LT 1% W @G ? A
@) SIER AR @ Iy B @ e O -
. Waste not, want not 9% Af3% AW (FIH? @ el Q= > =
@ TR e O AT T 0. ‘AR TR T —gF IUT R II? o 9
@ WOIT TSR T el ® T @ g i
@ 57 A SIS I A ®mﬁw ® e .
® SO (A A5 T BT (@Y TFq ® v R rw? o
>, e = 5 R DY ® ® e »
@ @G+ @@+ @ ot © % 1
D+ @+ R, @GR vyEE FAGEF 277 e 4
o, RS B A SHIRaet D © e ©
i bl iy @ o N 3
& & O, TP IR I B! AT
5. ‘GBIEE’ (PN ANMTR BAIgat? @ o AR GO S > T
a@ﬁ @1%@ @C’J?ﬁf%ﬁs{@ﬁ&ﬁ?m 5 o
® T © s @ @TRTRAICGT @ @ TR R w© A
53, I T TSR’ R I o R | 8 JRorT G ST
owim W O o =
@ v5m B @ Tl T8 @ G @ s ® 2
so. ST S @ ST T N TETR? ¢. Bf%-az 23 ¢ e @7 ¥ ¥
@ R @ wge @N+@ @ [® + TS B F
® AFS @ & @\/ﬁ_ﬁ+ﬁ? @Ww+f e o

.................................................................................................




1468 « Professor's JOB SOLUTION 7Poighratr .com

QY. No sooner — than the students stand up.
the teacher enter the class
® do the teacher enter the class
® does the teacher enter the class
® had the teacher entered the class
1971 was the year —.
when Bangladesh is born
® when Bangladesh came to being
(@ when Bangladesh came into being
® when Bangladesh comes to being
Had I the wings of a bird —.
® Iflew inthesky @ Icould fly in the sky
@ Ifly in the sky
® I'would have flown in the sky
. The man is too dishonest .
@ to tell a lie to take bribe
@ to speak the truth  ®) to steal something
. It is many years since —.
® I'meet you ® Imet you
® Ihelp you ® I'have met you
The old man walks slowly lest —.
@ he falls ® he may fall
@ he should fall ® he fell down
O, FO2 7 R ET St
® How strange man's life was!
® How strange man's life is!
® What an wonderful man'’s life is!
® How wonderful a man's life is!
00, SR I IF (2 IEER B |
® He has a few friends. @ He has no friends.
® He has few friends. @) He has the few friends.
©8. SR O IR IR |
@ Brothers part.

Q4.

.

0.

® Brothers will part.

® Brothers will be part. (@ Brothers have parted.

o¢. Pl e Fmre SR TR <= |
® The child comes to me run.
® The child came to me running.
@ The child came to me crying.
® The child came to me to cry.
b, 3 & Tt FHER Far?
® Have you ever been to Cox's Bazar?
® Did you ever go to Cox's Bazar?
@ Have you ever go to Cox's Bazar?
® Have you gone to Cox's Bazar?
94, I wish I —— child again.

@ be @ am @ was @ were
Wb. Two and two — four.

® make ® makes

® made ® make/makes

9. Itis high time we —— our food habits.

® giveup ® gaveup
® changed ® changing
80. The headmaster along with his colleagues —
— coming here today.
is ®) are
@ will ® was
8). It —— since morning,
@ has rained ® has been raining
@ is raining
® has rained/has been raining

8. Birds fly —— in the sky.

@ at a stretch ® atlarge
@ all along ® atrandom
89, '"Tooth and nail" means—.
® get by heart ® go with heart
@ tried hard ®@ get hard
88. 'Big bug' means—.
useful person ® important person

( unemployed person & employed person
8¢. The price of rice is increasing—.

by fitsand starts @ by dint of

@ by virtue of ® by leaps and bounds
8Y. Della was too poor to buy a gift for Jim. (Negative)

® Della was not too poor to buy a gift for Jim.

® Della was so poor that he could not buy a gift for Jim.

® Della was so poor that she could not buy a gift for Jim.

® Della was so poor that she cannot buy a gift for Jim.
84. Nobody wishes to be unhappy. (Interrogative)

® Who wishes to be unhappy?

® Who wishes to be happy?

() Who does not wish to be unhappy?

® Does nobody wish to be happy?
8v. Unemployment is a state for a man having

no work to earn money. (Complex)

® Unemployment is a state when a man has

no work to earn money.
® Unemployment is a state for a man who
has no work to earn money.
@ Unemployment s a state of a man who has no work.
® Unemployment is the condition of a man

who has no work.
85. Noun of the word 'simple’ is—.
® simply ® simplify
® simplicity ® simplication
@o. Find out the correct synonym of 'hazard'.
® Impartial ® Static
® Impolite ® Danger
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Q.

2.

W,

2W.

Prevention is better than—

® nothing ® healing
® cure ® remedy
Knowledge is—

strength ® power
@ gravity ® comfort
What is lotted cannot be—

® blotted ®) broken
® endured ® updated
T GRS o |

@ Heis wellin English. ® He is expert in English.
@ Heis good at English. ® He is better in English.

. G PRI AT

@ Thelife is not bed of roses.
® A life is not bed of roses.
@ Life is not bed of roses.

® Life is not a bed of roses.

. s o Rw

® English is easy for learning.

® The English is easy to learn.

@ Itis easy to learning English.
® ltis easy to learn English.
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0. Out of sight, out of—

85,

8,

89,

88.

®@ life ® might

® mind ® right

Only the moon was visible. (Negative)

The moon was not visible.

® The moon was not invisible.

@ Nothing but the moon was visible.

® None but the moon was visible.

Dhaka is one of the biggest cities in
Bangladesh. (Positive)

® No other cities in Bangladesh are as big as Dhaka.
® Very few cities in Bangladesh are as big as Dhaka.
(@ Very few cities in Bangladesh is as big as Dhaka.
® Some cities in Bangladesh is as big as Dhaka
Never tell a lie. (Passive)

@ A lieis never told. @) A lie is never be told.
@ Letalieneverbetold. ®) Let not a lie be told ever
I'have no pen that I can lend you. (Simple)
® Having no pen, I can lend you.

® Without any pen, I can lend you.

@ I'have no pen to lend you.

® I'have not enough pen to lend.

. The journey was pleasant. Here ‘pleasant’ is— : 8¢. The synonym of the word ‘increase’ is—
® noun ® pronoun ® augment @ decrease
@ adjective ®) adverb @ quick ®) lessen

. Lovely comes here regularly. Here ‘Lovely’ is— : 8%. The antonym of the word “alien’ is—
® noun ® pronoun @ new comer @) native
@ adjective ® adverb @ adverse ® foreigner

. The noun form of ‘lose’ is— 84. The word ‘usual’ is the synonym of—
® losing @ loss ® normal ®) certain
@ lost ® loose @ unusual ® strange

. Honey is (taste) — sweet. 8y. He is proud of his aristocracy. Here
® taste @ tasting ‘aristocracy’ means—
@ tasted ® being tasted ® bad blood ® blue blood

. Itis our duty to (obey) — our parents. @ good bk_’Od ® cold blf’°d _
@® obey @ obeying 85. The.ma.n did the .wc.)rk as my direction. Here
® obeyed @ be obeyed ‘as’ indicates the idiom—

. Charity (to begin) — at home. as regaF ds @ by all means

) . @ according to ® at random
%iel;;sgmg %tli:sgi@zgun @o. Smoking tells upon our body. Here ‘tell
. Something is better than— upon’ means—
everything ® nothing ® l.)en.eﬁts @ harms
@ anything ®all @ indicates @) strengthens
©5. Many men, many— 1ad. A=lx:x @G Gifer e}, wifera orafers f 7?

® faces ® lives ' @ [2] ® 2
@ minds ® thoughts ®©® ®@ {2
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30° @ 120°
@ 60° ® 0>
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® % @1
Vb, Ox+3 = 27 x+ 1T, x TR T FS7
® 2 @ -3
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®7 @
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®@ x-y @ x+y
@ (2-y)(E+y) @ (x-y)(x+yR2-xy+y)
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® 14 @42
@ 168 ® 588
80 1+%+%+ ...... Q57 57 57 #ivia TR ¥e?
121 119
® B @ B
81 _121
@ 157 Ol
8%, a=+/3++/2 T, a3+ 3a+3al+ a3 PATIS?
® 82 @ 1642
@ 183 ® 243
83, ax=b, by = ¢, @ = a TA, 62 (I A=EB 71357
.
a=aY? ® a=a_z%
X
® b=cy ®@a=ayz
1 _ N ST )
89, «/H+7;_2 T, Vm To =T
@0 @ V2
® 2 ®4
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8¢. TP veo B A 53% =S Rawrpey +?
T @ b Bt
@ o5 B ® oo Bt
8v, A1 widx Rri-
i, 71 1 TS WoTa A T AN
ii. 00 BRI 30% S T, Fed At Yo St
iii. %0% TS ¢oo BIFR At FTTFy ¢do Bl
BT TR NS Wpa @b e
i @ii @ iii @ i, ii, iii
89, 4 B (T AT <D FER 2 et I 1 4
ﬁmawmamﬂswmm?
® SaTOFTHO 3T @ T
8v. 3¢ 8 b> RReiftrs write @HG?

bd 3¢ @ess
e b 53
@ T3 @ss¢e
8s. 2 O 3 iy wfies Rsa ING?
85’ 0
> 8 > >
3 93 @ 0 @3
@o. ¢o R 0% TS
@ e @0 @@ ®@ ¢

@>. The correct spelling is —
® humouros ® humourious
@ humorous @® humorious
@X. What is the adjective of 'child'?
® Childhood ® Childly
® Childish ® Children
@9, The man is so weak that he cannot walk (Simple)
The man is too weak to walk.
® The man is so weak to walk.
® The man is too weak for him to walk.
® The manis so weak for him to walk.
@8. What have you bought? (Passive)
® What are bought by you?
® What is bought by you?
@ What are being bought by you?
® What has been bought by you?
@¢. Only Rina can do this sum. (Negative)
Only Rina cannot do this sum.
@ Rina cannot do this sum.
@ None but Rina can do this sum.
® Any onebut Rina can do this sum
@Y. What a nice scenery it is! (Assertive)
Itis very nice scenery. (@ It is a great scenery.
@ Itisa very nice scenery.
® The scenery is very nice.

eA.

¢v.

@s.

).

A,

Yo,

0.

All love flower. (Interrogative)

Who does not love flower?

® Who do not love flower?

® Who did not love flower?

® Do all love flower?

'Cock and bull story' means—

® afable ® atragedy

@ a false story ® a wonderful story
'Apple of one's eye' means—

® extremely favourite @ apple like eye

® bigeye ® apple coloured eye

. What is the meaning of 'white elephant'?

® Anelephant of white colour

® A black marketer

® A very costly or troublesome possession
® Ahoarder

Everybody should — their old parents.
@ lookat ® look after
® look up ® look into
. The patient will — soon
come in come off
@ come round ® comeby

. None of the students — a car.
have ® have got
® has ® own

. Would you mind — the window?
® open ® toopen
@ to opening ® opening

. Chose the correct verb to complete the sentence.

you had better — a doctor.

®@ tosee @see @Dsaw @ seen

. No sooner had the thief seen the police—

® thanheranaway @® than he runaway
® thanhehadrunaway @ when he run away
He is working hard—

as he can shine in life (®) that he can shine in life
® toshininginlife @) sothathe can shinein life
AR &R i |

(® Ranidraw apicture. @ Rani drew a picture.
@ Raniis drawing a picture. & Rani draws a picture.

. CEIID IS QTS ST IR ST |

® The man comes to me by laugh.
® The man came to me by laugh.
® The man came to me laughing.
® The man coming to me laugh.
o R oo qoiR?

Did he come yesterday?

® Did he came yesterday?

® Had he come yesterday?

® Has he come yesterday?
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Q3. SO (5T T A |
Death is better than insult.
® Death is preferable to dishonour.
® Dishonour is preferable than death.
® Death is acceptable than dishonour.
R, NP G TR o |
® Bangladesh is a riverine country.
® Bangladesh is a country of river.
® Bangladesh is sorrounded by river.
® Bangladesh is situated by river.
Q0. S T =N TS Tt AFS!
® IfI'would have the wings of a bird!
® Had the wings of a bird!
@ Iwish that I would have the wings of a bird!
® IfIcould fly like a bird!
8. TEYTA B TR |
It is raining heavily. @ It rains continuously.
@ ltis raining cats and dogs.
® Ithasbeen raining seriously.
q¢. GT S FIHTS WA A |
@ He does not know how to swim.
@ He does not know to swim.
® He donot knows how to swim.
® He cannot know to swim.
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@®ID P P @ A ARG | A NS

99 P @ V- TV |

S, RN’ 2 23 @ oo AT @FHD?
VR + W @ V7 + T
@ VA + @ Vet + =T

[Note : */A5-2e7 I AP =3 G | IR
A + T = BT | oA 5T + N =
BT, \[3¥ + T = 40 1]
9. ‘PR ¢ 2T JRATK @R T WAHS 277
wiRerg @ Ferg @ Ieg @ wderg
@B @ 3 GRIfeF @T e A 1% Cofd
T | 1 TGN T T F9 (Morpheme) | 91 15T
9% N | CTE 2ol F76¢ (Morphology) 67 1

3o, M > WRT— =wHre /N AR @I
QTR R ey ?

®@ Ao @ e
@ SPTReH ® R

0T | TAT- 2 > W, 7T > 7T T |
. ‘Trl’ @@ A3 AHRTew F=D?

@ R+AT@ B+AT @ W+ @A @ [+ QA
@D 7 ¢ o 7 5 TR AT [T AT @

O T, Y, P CAT TR G (AT T2,

NIRRT, 3, 7, 9, I-«F AF e [

JT T T QR ;3 + Q= GO, @ +

A% = PG, 3 + SER = AR 7 |
0. THAFY’ (B AT YFRART FINH?

@ DT A @ TR P

@DTATFS @ 3% 5
@D @ T T AT T G T

G 7% (R QA IS FF, O IR T

T | - i 77 = afSfra, Fedq e =

Bord, (ORI Tt = BofeET, FRIF T = Bo |
). ‘o R Anterfbr s Fi?

@ R TER @ oda e

@ R TR [ORRER L]
@D 1z 1% I R AT JIZE T

IR Reera oyl Feq o It erma

R & Zeem- oo 9eid |

Q2. 2 A SR AT F EIA?
@ ANCAZA AW @ T 3 e
@ TFmm @R ® JASFR GBI

[Note : JT JRFACII QI T T571 FI TG 71
STEANG | CSIRIgEae @9 ¥frew @ €
AgfIer : ffSfATa G ST T 5989 e
AT PR (e S5 Qe 371 Q3 55
T Ro® | QY SR* PRI G0 TRfwG T
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93¢ Aoty wed - g 6 Agfre-arar
afSqr | e OrEa fen TeIT 9¥— ‘A
Grammar of the Bengali Language'-87%% 51701
RN JIET ZJIFTRE 1 el 5 AT ST LI
T3 F%— A Grammar in English Language’ 647
P S ANCARA AT | QYT 3600 T IR
S T A A T NG T ]

0. e oy AR Topref FAB?

R @BT @Wh @0

@GP Bl e S (e I S
JIZ© R (P G el T O I RFS
Goprf | TF© TPl 4TS 017 |

38, Teoifd P ST SR ETRE FW ot
it T R
® s @ vt
) & ot ®@ v

@RI EeafE s e ST TS W
O ©1Y P AR JA Y. S, 2. TE-
©T, ©, ©6T, 8. (7l G ¢. KA |

2¢. ‘T =D PR O (VT T TTE?

@ & @ v
@ wrf ORRE!

ST T AT 7 (/T TR |
I VYN - AT, A, b, B,
IR, I, ST, SR, A, S, T

R, Identify the correct sentence—

She had faith on and hopes for the future
® She had faith and hopes for the future

@ She had faith and hopes in the future

® She had faith and hopes in future

[Note : Faith in 9% (P & T 3357 &fS)
R8T 31 &1%); Faith on <R 7IRATS faith in ARRTT
(%) T AT 73 Zrer ]

R4. She argued— me about the marriage.
with @ for ®to ® from

@D Argue with sb &4 BT Y ©F 77 |

Rp. Choose the appropriate meaning of the
idiom 'Swan song'.
first work
® middle work

@ last work
® early work

Swan song- 7 P R last work |
. Firef FPTS TPITS SN FI0R ¢ |
® The baby came to me to laughing
® The baby came to me laughing
® The baby came to me in laughing
® The baby came to me by laughing

LPI® P’ T FTS” AT JIX LT
verb W present participle IR I | IR GF ﬂN/
CPICY preposition F92© ZF 7 | The baby came to
me laughing 91 A5 |

9o, The antonym for 'inimical'—
hostile ® friendly
@ indifferent ® angry

@®BD) Inimical (€T It W) 97 antomyn
2 friendly (FFFT T ALY 1

9. He waited until the plane—.

did not take off @) took off
® had not taken off ®) had taken off

@D Until & W clausef? past indefinite tense 4
QURPTT I clauselD past indefinite tense T |

O, My uncle arrived while I— the dinner.
® would cook @ had cooked
@ cook ® was cooking

@®BD While @7 979! clause (P past indefinite tense
0T while RIS clausel® past continuous tense
T | FoA ABF TG () was cooking |

09, Which is the correct sentence?

I shall avail the opportunity

® Ishall avail of the opportunity

® Ishall avail for the opportunity

® Ishall avail myself of the opportunity.

@D Avail oneself of the apportunity % PITer T
3 (FA) TG T e AP T 7 4

©8. — mother rose in her.

A @ The @& An @® Noarticle

@) w7 SIS (the mother) (&Y &5 |

©¢. Jerry was deprived of motherly affection.
Here the word 'motherly’ is —
an adverb an adjective
@ anoun ® noun

@D 373fETe R noun word (father, mother, time,
friend) SICR AT Iy I Wadjective form T |

WY, Panic seized me. The passive form will be —
I was seized by panic
® I'was scized from panic
@ Iwas seized with panic
® Iwas seized into panic

@) Seize (% It GAFOIT F9) verb IF active
JIRPIC passive P CFG sub. (object T subjective
form) + was seized + with (seize 99 (T passive
T by AR with TF) + obj. (subject <7
objective form) I | WOUH, e Ba (%) /
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R @ IR (B intransitive verb WORE word

94, The singular form of 'criteria’ is —
@ criterion ® criterium
@ criterii ® criterius
@®mD) Criteria @3 singular form e criterion
(ROTE T3 1 A7) |
. The second World War broke — in
September, 1939.
®@ out ® through
® away ® in
(@®BD) Break out— ST 237N T BT AT | 3595
T C5F T 70K g =foew =@ |
5. He will come in no time. Here the idiom 'in
no time' means—
@ neverin future  ®) soon
@ not in future ® not ever
G In no time— G2 S soon |
80o. I am entitled —— a share of the profit. The
correct preposition is —
@ to @ for @ from @) into
@R Entitle to— SGPIT <1 F1 |
85. What kind of verb is the word 'went' in the
sentence : 'The dog went mad'?
@ Transitiveverb @ Causative verb
® Factitive verb ® Copulative verb

97 ARG =G MR & 7 RS Mg A
O ©f copulative verb | &7G sentence-4 Go
verbf ARG 1% (mad) TSI AT T 79
IS N A | ©IR went e copulative verb |
82. The correct translation of “GIT ATHIGITS!
@ is—
@ Sweet are the uses of adversity
® Sweet is the uses of adversity
(D Sweet uses of adversity
® Sweet do not use the adviersity
@D 75737 QRSS! T4 | 7 e Seeafer
Sweet are the uses of adversity. (PICAl 17T I
adjective (sweet) 03 T T, O verb RIS
noun 3 pronoun (the uses) S verb singular3t
plural | B9 adjective 9] S verb ST |
89, The antonym of 'Honorary' is—
® Literary ® Honorable
® Salaried ® Official
Honorary (SCTof%) 47 antonym ZCeTl

salaried ((TSTSE) |

88. A person who treats mental illness is called—

a psychiatrist ® a psychologist
@ a therapist ® a psychoanalyst
@D @ 7757 17 BT FC O psychiatrist

(FABRASTE) 0T |
8¢. No article is used before—
® a pronoun ® an adjective
® anoun ® an adverb
@D Pronoun <7 %d @Plarticle TIFS 1 |
8Y. A person whose 'head' is in the 'clouds' is—
® proud ® a day dreamer
@ an aviator ®) useless
@D Hend in the cloud- S 7 5 O day dreamer |
84. I don't think you will have any difficulty —
a driving license.
® toget ® in getting
® for getting ® get
@D Difficulty in + (verb+ing) + sth Tl T
sequence | 16T AT BIZfR I (TS
(oI I A STwe] AT T, S T P A |
8, I decided to go — with my friend as I needed
some exercise.
®@ toawalk ® for walking
@ for a walk ® walk
@D Go for a walk- 50 ST |
85. If I had known you were coming —.
® I'would go to the station
® Ihad gone to the station
@ Iwould have gone to the station
® I'would be going to the station
@WED) Third conditional sentence @7 if clause past
perfect tense e result clause W sub + would
have + verbs | FSAI 3 TGF (7)) |
@o. Which is the correct sentence?
Each boy and each girl have a pen
® Each boy and each girl are having a pen
@ Each boy and each girl has a pen
® Each boy and each girl were having a pen
@®BD And %1 & 55 noun @7 j('f each AT verb
singular T | TS (7) P G FABE |
@5. 3¢ & (T G W O IR © T | ¢ &
CTF @ JIN FS ITAH CNF FAI?
@ LB @ ¢ O @ OO @) b WO |
@RED s¢ &7 Fier 17 37 © T
(3¢ x9) »

)QQXQ =bﬂ"f‘7§7
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¢, FIet @ R TETE 9% 8o T (R WS 8 @
TR IACE 1T ©¢ LT | SR T ¢o IR
T, Foror e 37e?
¢ ITX @Yo IFW®) 80IF @ be IA
(@D foer 8 0@d A5 T = (80 x %) = bo I&
el @ =(9¢xR)= 90 »
G, Y I3 = (0 — ¢o) I7I = 0 BT
forerg = (bo - 0) I&T = Yo
@o. 93 77 T IR 8% were RFn =4t
T | R G TR TS FS?
M 3¢ @) W3¢ @ W3¢ @ dr s
@D 4R, FTFT So0 b
8% Ffore Ra=ey = (300 - 28) = v b
RE3eT & @50 = Qb ¢ 300 = 35 8 3¢
@8. §fS TR 7. A, ». 388 @R . A, @, |
G et 8b F0H R FS?
@ @9 @ N ® 38

_ T qfd (78, X AL,
@D w917 e = @@ e

_ 388X
8y
¢. 80 TS doo T NI JXGW '8 FToN G
TRAEER G FS7
VOEWw @B @
@RID 80 7@ S00 47 TS| ]G G Kl 59
80 @ Yoo » oy ” 8

29+8
lejﬁ?’f@‘ =q+>=bb

@Y, 9 At v S R T30 T© # T  Bm
Rarn w1 o et 711 7, Wreifn Fgen o7
® Yo B @ 8b BIF@ 8 TIF @ S TR
@) R, Wil v brer Raeg Fe x bt we
9 x e
QY +x = R - U
X FAU =T R-W

=

>0 =W
= x=°—:'
X =R
WCITT FTTT = (0% + 3%) Gt = 8b BIet
¢q. 935 FRF FANPOTST 57 8 o7 AfH T 8
8 S A, G TG AN TS ?
® R @v @ 8 ® 20

@D (347 TS = 57 % x oF A
TG TN =+/8 X5 =+/V8 =&

v, &3 T TS I A T beo Do © |-

IR AT 229 BiF FR?
® a @veo @Y ®@v
@) e F Rl

r=1X399,

G,

p=\bd’ol;"/$f
r=q%n="Y IR

I=R99 bt

r=7

&>, 9% Fg I’ © T @3r ‘A’ v T TS
A1 T 8 ¢ GG FEG TS T A0S A7
@c¢m @8f@ @ofm @

(TR 7 © ¥ g Fel P E =§—§—§- foz

N
= g
Yo, 3fB HFSIFIA IMAT G 7 gy [oAest
«Re A 28 foH, AN crawa F?
®@ 1 TfoR ® wo o™
@ v fRoR ® » o
@D o7, 93 x AoH
RAx +x) =8 = bx =8
x=0
I NG PG = 9 x (0 x ©) = 9 PG
v, ¥x=01 g, x = 797

_ RQ9Xy000
T TueoxY o

0.1 ®001 @®@0001 & 0.0001

@8 4/x =0.1
4

= x=(%) = x=m%m

.~ x=0.0001
\‘-'&.W"ﬂl@/logaa=1?

@ a>0 ®@a#1

@ a>0,a=1 ®a#0a>2

Iog,,a=1 R a>0,a #1

o, (\/E)m =(V§)2x-1 m, . =W?
3 @4 @5 ®6

+1 2x-1 a1 2x-d

@D (V3) =(3B)7 =352 =373
x+1=2x—1
2 3
=4x-2=3x+3
=4x-3x=3+2
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= U, ST Tl A7

T L x
|8 x+=5 7@, T WA ! @28 @3% @4B @6h
1 1 1 1 @D 7557 279, F ¢ TBe AP & T
®7; @3 @7 Og W@ 70 | A Gl G R
1_ N O I YICT J0T | OTeT O 7 G 2F
TRAT) X+—=
@B *+ g w12 o o T @ a2
=x2+1=5x q0. S HRfRmITR Twet 8 GT.A. @R AT
gy, — % - __x _x_1 AR G WG 9 FLR, qR7 GLRL T
x2+x+1 x2+1+x OSx+x 6x 6 @ cvaEe O I L)
Y. x=1+ 3 T, 3 =FS? @u @u ®% @10
@ 4+3\3 @ 5+613 @D FiAfercs e
@ 10+9V3 ® 10+63 =% (TR LT ) x Tl
x=1+3 ]
e =5(9+7)x8
3=(1++3
- (+ ) =16x4 =64 T AR
=12 +(V3) +3.2.43+31(v3)’ Q3. a2— 2~ 2ab + b? G T BeAAF CFAD?
@ (a+b+c)(a-b+c) @ (@a-b-c)(a~b+c)
=1+3v3+3v3+3.3 =10+6+3 @ (a-b-c)(a+b-c) @ (a+b+c)(a-b-c)
WY, (17)0% = FS? @®ID) a2 - 2-2ab + P2 =a2-2ab + b2 -~ 2
@17x @17 @ x ®1 =(a-b2-c2=(a-b+c)a-b-c)
@D (170 =1 xx =x [-a=1, @2 0] | a3, < 3007 U7 26 GLR. T <@ IR 397
Y4, tan@ = /3 A, cosh = TS7? 13n Gf @ 267 G
V3 1 1 ® 52n G ® 39 1
®3 @ ©; o1 @RI R, TP =r Gt
A TT = 2r = 26 A
@ER) tanb=+3 g = 2nr = 267
V3 90, ABC 73R faeres 2ree qea Ad x T,
= tanG:—l— 9
5 2 fagafon crazn ¥? 5
B RER
e -1 @ x Tl 7 < s
4
c @ ’ﬁxzaﬁm ® @ﬁ T
wfosw = +12 —3T1=2 (ERED 71 M59eer A2 07 x o T
cose=_i’_ 2 T "£X2 f
wfegs
\':V.‘Tﬁa+b+c—5'~‘-'l?§a2+b2+c2=9'-’81,m Q8.WB§WW@W 1 1:2:2:3
ab + be+ ca = 7 T RGA IR A +97
@ 16 @ 8 @ 34 @ 12 100° 115° @ 135° @ 225°
@B (a+b+c)2=a2+ b2+ + 2(ab + bc + ca) (QERID 1res AT QT =1+2+2+3 =8
=(5)2=9+2(ab + bc + ca) W@Z‘@’f@ﬂf‘f=360°x“g‘=135°
=2(ab+bc+ca)=25-9 .
16 a¢. > FEeE S g WG 5 GLRA. | 7
=ab+be+a= o cvaTn TS T GTAL?
ab+bc+ca=8 ®@ 24 ® 60 ® 12 ® 48
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). WA REwA® @i e wwife?
®@ e @ gfeam
@ SRR @ e

AAOD F® LAOD = 90°
ot AOD Tt 1t 1

gfoger= AD = 5 GIf; AO =3 GIfi ROD = 4 Gy
~AC=2x3 =6 G «RBD=2x4=8 Gy

T (T =%XACXBD =%X6x8 A

=24 T
U, IEH IS @RI FFG?
@ ™ @ v @ Tewam @ Wi
@D 37¢a717 51 eo T -7 A &
APGT YA G IRI, P I, A
<R BGrF FORRIF | IFG F© IO GG
©YI FINE TLACE [T T | O %G
TAATG JIENZ) TR TR [>T |
99, IFIF A @I TR Sid w1 ?
@ W @WIN @FTH @ N
@D 773 (1 Jerge T2 BT G AT
TG NGNE T DA ST Gapazet I |
IS CnNTNG @ PEE wAd @ AT e
Fo | T ARG T O (N AFC GG & |
TG S MR TAI A LN T 1
v, SR RR @ @ @ G3R?
@Y (OF) @ do @ »
T R RS ORI [T 3372 TR A
30T FRIT P |
. et FTe @ affTe QAitE?
@ W @ @ ke oo
@ TR e ® T o
@B e 1 S 1 (I FINE T (TS
w4 Jfre 3 AR 5% (HCOOH) fire % 1 «@re
T I 3] TG A ST e e e |
o, T FRTS] TS *7=FR @I ?
@ T F @ Tt et R
@ IAET G FFR @) Fre el JgFa
@D e Mfver wwr A9 Apfo R o
I 9T ANET G T | S50 T AT
PR AOCe ORI T S AN GRAT G7e T SR
TN THTE GO (T G FAAANT |

@D v TR 03¢ TR ISP S SIS Ty
eI RENZ R 37 | @I IS et
@I ROTET (7% | O1q REwTT RfATER Wt RS
TR RO TG ST e 2 |

bR, AR R AN R
@ Rfe @F@ @Ofm @ @

@D 7153 @72 QNI T AW 9 | [T

eI FRCOH, SIS T |
vo. formefim @it &R MgRIRe @et?
ORUBRIE]
@ IR f
@D Hevear WWWWH\W :
GG @17 1 @ G0N ATF AT AEFABIZ (Aedes |
Aegypti) TIEE TIE | T A IR ASF-CNAT 2 1
o SIS HSHANRE Y |
8. AN TIRE #ITLeT LR BI FET—
® = G @ 3ferFT R
@ TR ® e o= v
@D 27 (1 e g &3 o | PR e |
s 5 ST SRIT Reid @ e G g |
T Seb8 FEITHT Yo/sy TS I 7 QS P& |
br¢., T AN IHSHK 277
®@ T IS @ 6 2Ty
@ =T ® 6 GTRETEA
@R wrres IGENT T FCHAT G (RN TG |
IDo¢ FETT Y& SFIT IHSF T | AT T
Tow ot aF @ WP e ) e @
QTN TN S SZNTC! 25T G | THSF T
T 353 AT T ZITLET TR 1
b, 35¢8 I A5 oo 37 vt f&er?
W @»wh @b @vk
35¢8 AT So B | TF 41607 JERTHT |-
5=t @1 AR T R T fEfere 1 Q)
7l WRE QN 7 fRAT- I N

0 @ SBUS @ v @ ddWY

@D 20 TR S5 G TR WIS o |
GG TR CSRINT TIFF [ (oI ST o |
ergE T T SRS B I |
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b, JETTTT TR A6 @I e afdzy?

| @FEt @ wRhR@ IR @ IR

| (ORI Fes, Fwas, IS, TSRS QUG PRIRC

TR TGN AFHO ToyE Fw @ TG |

wIvd Aegfo Cegered e e FAA 7o, A

Ryl apge | A9 Jere o e, FHe

| O S G e o R SRS P

| o, TR G S —

1 @ @3FrE@ wrm @ fefa
@®BD) 7w 7 LDL 91 ([Recsarad A9 wrene
(300-300 mg/dL) <K TTIX A T T3 YA (T M
3 ST RITEIT @ TR T T TEEANRT A
THC T | AT GBI FfSFPT T T 8N T 1 &
TIENT arteriosclerosis I 4T PP 07 | &7 FICS
B o o7l TS M «Rie S TEHIT T IF GG
4 IF QAT J4RT T | FSNET TR IS
I 7T TG 40T I IR YT 0T |

o. 53 =BT = Ay qT=?

@sT @I OW Q@

| ®HO ®HSO, ®NH, ® DO

| (G O e AT S SRR SHET

3wy M G [f2 S3eseeE

REEGRT 07 | F D W &P I 1 O

| O AT ACFED,0 TR |

\ | 5. IPAT (CF FFATHIR w0 MR- s B 3o 707
@ BRI @) TPRCE @ T-GRA @ TR

T (A5G P @ I BB J97 TF | IBIAS

e WAN (Wide Area Network) @317 7498

T | ©IF ARV PIACHIR (AF PAGONF

.A 2 WAV FTC EDIAACCP ([T |

| vo. TR @ e w3ES?

1 _@Wm @A @ @R Qe
@D so @ 3595 JRRIT AEHIT QT

TFA FAET AFC AR | TN JoRTT

G5 BoTErEF AN A WIFYT O TS |

v, JORTIAT AN 1R (IS |

7| 58. G FRE QRIS T TR CFG A7

® #io ®@ R i

@ f&xfee wey @

(GED) 070 eI TG (AT TG TR

AC A LOfT AP A | LB CAPNE qeIfATe

T R0y TN GTFT TO1 1 030-39

TR @ U (R N ST P 38,050 e
YIRS ©T, T 15 S G 85.¢9% |
»¢. BREITSA T FHIGE Ffow A T 7
@ T 3R @ oty
ORIEED ® BT 2
@RBD) GRemres & TR FeF I WA () |
(S ! FIIRCHT A F9! I AT R/ ([ 1
o5 ARG 6 BrETET qA RfEe & 1 e
g R A RfEes ©7 ) (cougi M@
RIE FOsFEET 1 [iea ffe 7 1 ofF ez 31
Sfgwried T AT A WO AT FH 1 97
ST 7 P 0 T | G I s I
P S M P | Oq @OZ AN A T @A |
SV, GTHINEA FEI & WA FH0?
®Co, @S0, ®CO @ CFEC
@D #1479 @ e $ge @IEIEEE I
(CFC) 6 B39 Ffoq &y #ilt | CFC I 9o
BT (AT O SAGGIRNETS (uw) AT QN ©F
Rofere 3 1@ e 971 8 Fee
THIT JETAE Gy PO | T8oly JETTRELE
(53 IR ARIRT STENT (O;) T KT 37 |
$4. BARD @R &f$dret 7
@ TR SRR IAW AN @) FE SRR W 4
@ TR AT W AT (@) T S ST A
@D e AF S Ol AF 7T -
I iR SR, TGN @ TG ST T
Bangladesh Academy for Rural Development (BARD)
oS8T 71 37 | T @ B Ty wReR T
TGP 29 (7 350 T &AfefPe 27 |
Sb. 2094 M ICC Champion 5% IR wafde 20?
@oF® @ TEE @ TG @ RerEms
@D 5-56 TF 059 WET WG 51> GE
039" TFFC T IS <] G |
o». BfF5 TRE @E w)Es?
@M @um @IFW @ W
@D A5 (greenwitch) TTAI JSACETT TS
TG GRIZ© |« T AR RV 77 WS |
oo, YIS GHitRT Farea @I 1S ?
@AM @7 @I @ @AW
@@RBD) sb-3¢ AT b G [ETIT GG q T7F T
qeqoe 0w AV SALRG’ Tar | T TG AT
QA 0% ow g e WfF- e a7 emfde
w4 G CARIRA <72 WA ST PIRT G AR
CARIRTT FFG *1fere & | T& Qeaf e
GBI 1A (0 R [RETADT [7d @3¢ [
TR JIOTTT A S¢ RTeoR A qaze |
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5. ET S (TN O (AF GTR?
@ TF©
@ R

@) 1T O NG AT’ SR (AT TR |

C’ﬁ@ﬂ-ﬂ@ﬁ(@ 9. 00) I LB SIS AL

(8.9, s000) S/ FO147 | NG SfF© O
oG qAGH (S, 8oo-voo B)) @ TF-FITFN
(. ¢oo B,) i AT GRIF ©8AME TAR |

R, @M G 7awl?
® 93 @%
@ Q ®a

@) @’ Gife 746 | G 7l Rege
P G (I TIFA NS T A A
A6 AT RIANF @ R (9- 8+ T @) |

©. I SRR FAH F01?

@ =2h @ fofo
@ e @ vRl

@R I SRS 79 55 | FRN— Y ©7Y
S @ vfere ot S 1 @ O FAGEE TrEIT
TP TR 5T G Ay o S W@T vhAe
o7 S AFTSTRT |

8. ‘T -7 FH-Roawm @=G?

@W®W+ @ W+
@ |+ @+

(@R F9'-97 ARy e T+ 4T+ ¢
YRPTET B T | AR T + © AT 8 3T | A—
IR (37 + &), W58 (W57 + ) |

¢. ez Efs @iy ==?

@ *F% @ e
@ 7@ @ W

@RED &S T 2% | P, NP, AT
gornifn «1% qdis I e g w9
‘TR R IS T I AT QNI I |
GIIFT 1% FAT THT TN A L
TLRIGE 1% T |

b, W WG I SRR Brigad?
@ e @ Y
® arge ® e

@) ‘w7’ 2 My SRIFIeT Saggd |
W STS FHo e G |

q. @FG ¢y @R?

@ @e
@° @9
@®mD) 7' 687 @l 97 4, F, T, T Qo
TN T LI AR T~ 95
v, SR i TR
® o @ e
@ A=t @ fewars
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V. What is the plural of ‘Magus’?
Magus ® Maguses
® Magux ® Magi

(@D Magus (n)—JeANRS <R Plural number I
I AR Magi 7 9 AR G |

Q9. What is the verb form of ‘Power’?
@ Powerful ® Powerfully
® Enpower ® Empower

@D Power (n) &4 &, et | 21754 verb form
Z0% empower (PGP *I& I NS QAT FAL);
powerful (fENT) R powerfully (T I
ERETEIN) 1% 7o TR adjective SR adverb |

. Find out the correct sentence—

He insisted on my going to cinema.
® He insisted me to go to cinema.

® He insisted in my going to cinema.
® He insisted for my going to cinema.

@D Insist (v) MGG/ (&I T | PO A
RZ 3717 897 o7 G I NOrG #9197
insist <& preposition RTIon IC7 |

®. Which one is the correct passive form of the
sentence— ‘He satisfied everybody'?
Everybody has been satisfied by him.
® Everybody was satisfied by him.

@ Everybody was satisfied with him.
® Everybody would be satisfied at him.

(@®R) Passive voice (¥ Passive FI7 3 object +
subject (S, subject- 99 number, person, tense
W-?]T@verb S verb < Past Participle T, by GR
object (T | &G JLFIA Passive voice 95 Passive
form— Every body + was + satisfied with him.

9o, What is the synonym of the word “Repress”?
Control ® Represent
® Republish @® Repute

(@R Repress (v)-FINCA FRYSTA FR | Control
(v)—Fq7 FI/[AIFY F71; Represent(v)—
afSfafag F1; Republish (v)—27IHY 472
Repute (v)—0eT4 RIIoaI1R SR IR0 (It

g 263 | Wk sy B TS (F) 1
9). He talks as though—
he was a child @ heisa child

@@mWBD As if/As though 43 &Y FL* Present
Indefinite tense QPCeT WFT WL Past Indefinite
tense T | ©TT AU be verb-5 71 were T |
ST QR G Past Indefinite tense NPT T
/<L Past Perfect tense & |

O3, What is the antonym of the word ‘Compulsory?
® Mandatory ® Obligatory
@ Voluntary ® Complimentary

Compulsory (adj)—%%  FI4TOIITF |
Mandatory <% obligatory 1% %% Compulsory—<d
synonym | Complimentary (adj)—&¢7 1
2GINE | Voluntary (adj)— CTRIEN 7O/ 703258
31 &g 2R e J antonym |

09, What is the noun of the word ‘Confess’?
® Confession @ Confess
@ Confusion ® Confessionably

@m®BD) Confess (v)— FIEIT FAY/TAANYG A AT
RPN R 972 @ *f5F Noun form T&—
Confession I17 &% FPIAE/q=1714 T |
Loiicred Confusion (n)—ﬁ"]‘@/ﬁTﬁW /e
Confessionably 307 dictionary ¢® (PIEAl *1% (V2 |

08, I (T oY &S jﬂ T&'— the correct
translation of this sentence is—

@ It is raining since morning.

® It has been being raining since morning,.
@ It has been raining for morning.

® It has been raining since morning.

@®ED) Drizzle (v) 99 &% ofS 31 37 PN 3
2G| QG AT A translation—T T It
has been drizzling since morning | 8% option.
QIR PR ©aq RO (9) 0 |

0¢. ‘Black and blue’ means—
® mercifully ® mercilessly
@ sympathetically @ hopefully

@@ Black and blue— (379 &IF I to beat | -

mercilessly | SIATE mercifully (adj) ST

ST IR sympathetically (adv) FRTH T |

3R 93 hopefully (adv)— ST | e
Y. ‘He acted on my advice’— complex form of

this sentence is—

@ I advised him and he acted.

® I advised him that he acted.

@ He acted according to my advice.

® He acted as I advised him.
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(@®AD) He acted on my advice I G0 simple
sentence | Complex sentence— & RIS Gl
principle clause @3¢ G A GRHIGF subordinate
clause AT | Complex sentence- <4 clause & as,
since, because, if, till, although Te7fF @71 I&
e | FE BeT (7)1

94, The word ‘Lunar’ is related to—
® Moon ® Sun
@ Earth ® Mars

@) Lunar &< 5357IG | G Moon— B
Sun— - Earth——jﬁ’]@ IR Mars— TR |

Obr. ‘Maiden speech’ means—
® aspeech by a woman
® the main speech
@ the first speech
® the last speech

(@B Maiden speech 54 RF IF©! It The first
speech |

5. The girl was reclining— the couch.
on ® by
@ in to

@R Recline (v)—@T 3 I o7 T 7
%! G7% 9 *1%(5F R Preposition ‘on’ I |

80, Choose the correct sentence :

@ If he works hard, he succeeds.

@ If he works hard, he will succeed.

® If he would work hard, he succeeded.
® If he worked hard, he succeeded.

(@A) First conditional-< structure-o WR—If +
Present tense 932 77! clause-15 Future
Indefinite tense-« T | JOFN B answer &

85. He went to bed after—
he will learn his lessons.
® he would learn his lessons
® he learns his lessons.
® he had learnt his lessons.

(@A) Past Perfect tense—<q o5 Fed G AE
IR before ST after JIA© I | Before- 99 FIT
Past Perfect @9 sub + had + v3 @] *IF Past
Indefinite &8 Sub + v, IIXS T | T after
e ARG 7f GG I SR QA Past
Indefinite @R 71 Past Perfect tense (< /

8X. ‘A bolt from the blue’ means—
An unexpected reward
® An unexpected calamity
@ An unexpected blue colour
® An expected person of blue wear
(@D A bolt from the blue (Rl <9 Jg1r) I
wAIIePS et | 7FF BT (%) 1
89. The antonym of the word ‘Benign’ is—
® Beginning ® Peaceful
@ Blessed ® Malignant
(@) Benign (adj)—T7%/~a// e Tenfn |
SR Beginning— ©FF; Peaceful—ME% @
blessed &4 *#IRa q1 RS, Malignant (adj)—
FfSFT T FAFI | A Answer—(F) |
88. “oIte foawm 41 TR "~ 7 ¥% 2R fer-
® He was dishonoured.
® He was brought to brim.
® He was brought to book.
® He was punished.
(@EBD) Bring to book 4 oz a1 1 7% &g (7) 1
8¢. We helped him— the work.

® to finish ® finishing
® in finishing ® finish
(@D Help verb-57 infinitive @R bare  infinitive
7152 JT F91 TF | ©IF AF BT (F) 97 (%) |
8. He fought— to defeat the enemy.
@ tooth and nail ® set out
® to and fro ® to the quick

Tooth and nail— I &ITONT (BB
P41 1 Cg set out T FHASIT FEHAY; to and
fro—f7p-GfA; to the quick—af> ST
phrase 1 8% answer—(3) 1

84. Had I been a king, I—
® had helped the poor.
® would have helped the poor
@ have helped the poor.
® helped the poor

(@B Third conditional-<q structure IR ST
Past Perfect tense I¥Ce, %9 Subject +
Would/Could/might + have + v; IR AT |
TBF To (%) 1




A
8V, Choose the correct synonym for ‘Extempore’.— ;| ¢X. 3089 Mgz @I R Zre T4 =rfe it aw?
Planned ® Improvise N @
@ Immediate ® Impromptu @ of © 8f
@®m) Extempore ¢ 93581 31 24251 =19t/ A9 Gz
synonym 3 FIE % T Impromtu | Sy,
planned—ARFIES; Improvise—IANGTAT T P
IO PR I NG WA O ey g 74
Immediate—ISFRE | 3069 IRsZ A 9% e 35 =i il 7 |
85. When you make a promise, you must not go @o. ggm Y SRUTTR Wt SR
—onit @345 ®6,8,10
by @ around ®24,8 ®5,12,13
@ back @ along G@ERD) 32+ 4£2=5 RN @ 157 757
@®ED) Go back on—FfB Phrasal verb T &Y 62+ 8 =102
C¥#% P11 Go along— (WA (FRL; Go by— ﬁ:izzjle?ﬂ . ! Zf;w

Af7fee 6T @I Go around—B5FIFII
RN QT | FBF T () |
@o. What type of man is quite the opposite type
of ‘Supercilious’?
Affable ® Haughty
@ Disdainful ® Wicked
@®AD Supercilious (adj)—STeIAES, ToBice
@I &G 46T opposite I RAFC *1% Affable
(adj)— SR, FEIBIEAT @ IFSRIN | By,
Haughty—93e3131; Disdainful —g97 43¢
Wicked—J%/57/1eF |
@.1+5+9+ +81=?
@21 @ 861
® 840 ® 860
@R 1+5+9+
YABI, n-SF M =a+(n-1)d
=81=1+(n-1)4
=81=1+n-4
=4n=284
n=21

%{2.“(21—1)4}

2
=3 (2+80)

=21x41

¢8. 9B AR Toiy wiF® I cFawa @
FRARYR qF-5P L o wfgs qufn
CFAPLA FOe\7
@R OF:
@ v @ s

@RND) 976 FIINT 87 AFC INTH@T

CFGTT @ FIAENT GP-5GIIT 87

TFC PITET S §9 |

ee. TR FF (IR W [ 7
@ I™ @ g
OFkizid! ® -ifsfa

G (FF AP GNF TP WA | F
R ARG 198 G TP T |

av. A3 R Gifer J7et?
® 51 @ 59
® 63 ® 87

@) 59 75 2, 3,5, @7 WA SISy 77 | FO/R
ST Sy I 7T wAS ferey 77 |

TCGT 59 (e T |
@Q.5 +5 45 +5 + 5 =FF?
25)( ®5x+l
@ 55« ® 25
@®BD 5 + 5%+ 5 + 55+ 5°
=5x5
=51+x=5:c+1
@v. log, ( Eli) - I TS?
®-6 @6
_1 1
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1
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@ +7 ® 5
21
x"+—==38
@D <+
2
=>(x—l) +2 x.l=38
X X
2
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280240

x x+1
240x +240-240x _,
x(x+1)

=2 +x-240=0
=x2+16x-15x-240=0
=x(x+16)-15(x+16)=0
=(x+16)(x-15)=0

- x ==16 @RV 7] 4R x = 15

15 13 coifFer feifzet |
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e 3X _
nXX T =384 T = %x10x10xsin45°3"fﬁﬁ
=>x2_384><2 1
=5 = 50X —— f @7 =252 3 &I 7288
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=x2=256
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38. 'ustification for'-R AT TR FFG?
@ I @ o
@ TG @R
"Justification for' <& &K : L | FAIAACE
Judgement, Comment G Lebate-%Idl IU&FCT :
519, T8 @ ©F @I |
R¢. g YT A IFW @FF THT OFL@
frrey?
®@ AFe ® Rt ==
@ @ == ® O8I *F
RV, The judge acquitted him — the charge.
from @ of
® on ® in
@B F1EE @I @ A SR T TS
a7l s “acquit sb of sth IIT© T |
R9. The noun form of 'endure' is—
@ endurance @ endurement
® endurence ® endurable
(@) Endure 9 noun Z0%% ‘endurance’ 19 ot
SEETel’ |

Rbr. —— mother rose in her.
@ a ® an
@ no article ® the

(@Em) 7% % Noun IR 7 % 'the’ II7©
0T abstract noun-<7 o QB P | FHA—
"The mother rose in her' @S OfF M&T PG
(FTOFeTS A-T7®]) (e 837 | ‘Control the
beast in you’ 377 |

. He complied —— her request.

-3 ® on ® with
- P @ to ® by
= | G 7 3%, Wy Zeqice 79w 367 '

= ‘comply with one’s request/ wish’ JIZT© XX |

- o. The adjective form of 'heart' is—
¥ 3 ® heartly ® heartily
B A @ hearty ® heartable
w0 o | (@A) Heart *%3 Adjective 0% "hearty’ A7 &4
0 T G | O option G T ‘heartily’ R
°3 o Adverb 7 S FRTARIET' @17 heartly 6
o heartable- < (P IR AT 1

). —— honesty of Rahim is enviable.

08 ¥

: ®@ the ®@a
il ® an ® no article
Y ¥ | (@R of -7 G5 Noun-«F 7 @RI 87 Noun-
CLE < (Proper noun BI9Y) 3 MAFVS 'the’ I9%€ T |

9. Choose the correct sentence :
(® He lives here for five months
® He is living here for five months
@ He has been living here for five months’
® He lived here for five months

(TER) ‘TONe 3 I IS S 5T SR —
(JIRNTeT Present Perfect Continuous Tense ¥ |
9Z Tense <& JIFTVICH T T"— Subject +
have/has been + verb + ing + for/since + CAR®
7Y | FERR () A 1

9. Check beast in you.
@ the ®@a
® an ® no article

(@Em) % E Noun S8 77 7 'the’ I9%© T
abstract noun-43 &Y &P PF | FTH—'The
mother rose in her’ TS T J¢F TG (MoFeTS
T-T@Y) @ T 1 'cheek the beast in you'
oI Tooy JEigiere v P ZeA |

08. What is the plural number of 'spectrum'?
® Spectrums® Spectra @ Species ® Image

@@®nD) ‘Spectrum’ 7S plural IR ‘spectra’ AT
o 3RGY |

9¢. 'Null and void' means—

@ invalid @ valid @) lawful ®) incorrect

&) Null and void—phrase-o3 o : ZT® e’/
Option ®ETT 04 invalid— 4 ; Jfew, SPRRe;
valid— 034; lawful— 034, WETHTC &3¢
incorrect—@ : T | JORR invalid e meaning |

L. 'Apple of one's eye' means—
® apple like eye ® big eye
@ apple coloured eye @) extremely favourite

(@B ‘Apple of one’s eye'— & : I 5, S
IiCaF I {7 187 1 Option QTR T4 (¥)
extremely favourite- Apple of one’s eye- 43
meaning IRV PCT |

V4. The correct sentence is—
®@ two thirds of it is fine
® two third of it is fine
® two thirds of it are fine
® two third is fine

©FIIFET Sentence- < T Z0R—

i.  One third/two thirds + of + singular/ uncountable
noun + singular verb + extension |

ii. One third/fwo thirds + of + plural noun +
plural verb + extension.

SR AR (F) B |
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O, He acted —— strong opposition.

in teeth ®) in teeth of
@ in the teeth of ® by the teeth of
@) 7% fogerer 5rr Fed’ &t 'in the teeth of’

YR F | QAN JFT ‘opposition’ Ao AP
(%) in the teeth of T |

5. The passive form of the sentence 'Enter the
house by this gate' is—
® you are requested to enter the house by this gate
® you should enter the house by this gate
® let the house be entered by this gate
® let the house be entered by you by this gate

QU Imperative Sentence-IG Request
QIHTR T (F) aptionf> 3B | MV guest-
A [T MR request 91 Z7 |

80. The passive form of 'who has broken the glass'? is—
® by who have the glass been broken?

@ by whom has the glass been broken?
@ by whom have the glass been broken?
® whom has the glass been broken?

(@AD) Active sentence-4 who subject R #TeT
Passive sentence-< 'by whom’ Ftd 77 &F T7
G2 RIS auxiliary verb + subject (active-Gq
object) + ¥ verb ¥ past participle form +
extension JIA© X |

8). Itis high time he (change) his bad habits.
® changing ® has changed
@ changed ® has been changing

(@WBD) It is high timefit is time + subject + verb <&
past form JIX© | GG 1t is high timefit is
time + to + verb &9 present form JUIX© WX |
S option (%) changed-3 B3 1

8%, The children were entrusted — the care of
their uncle.
with ® for
® to ® at

(@) Entrust *W%4 G5 3 07— entrust sbjsth
to sb <% be entrusted with sb/sth | Jo418 red

B I (F) with |

89, The antonym of 'belligerent’ is—
bellicose ® pugnacious
@ peaceful @®) silent

(@®=m) Belligerent—S% 3@, 714 | Option-
ST KT bellicose—d : RIS, pugnacious—
P, peaceful— *NMIIAT @3¢ silent— % :
P71 | TR belligerent- < antonym F peaceful |

88. He suffered from the— that he was another

Napoleon.
® imagination ® illusion
@ defusion ® allusion

Imagination—o%  FFA}, 58, illusion—
W, (R, AeTT; defusion— foar, o7, [T
<R allusion— AP FIAS C@d I EFe |
fAce® SIeee Napoleon JT7 F0) 4 BT
Sfeey Fillusion |

8¢. Identify the correct spelling.
acquaintance ® acquaintence
@ acquantence ® acquintence

(@R Option GIeIT JC4 correct spelling IR (F)
acquaintance A7 &4 : “IRER' |

8Y, It— since morning.
® rains ® has rained
® hasbeen raining  ® will be raining

(@) 20 I ‘since morning’ Grg¥ P
A% Perfect continuous tense T3 | JoINR (%) has
been raining ¥ 5% |

84. While he—in the garden, a snake bit him.

@ walked @ walks
® is walking ® was walking

(@®BD) While- 43 #T7 subject ST A77SIC©
STV Past Indefinite Tense I | oA (]) was
walking-3 ’Iﬁ?‘option !

8v. If I had a typewriter,—

@ Iwill type myself
® Iwould have typed myself

@ Iwould type myself
® I might have typed myself

(@R 209 if clausel? T4IFD Past tense XS

Principal clausef@ %3 subject + would/ could/
might + verb- & present form + extension | FOIR
() option ik e

85. You had better—him at once.
® toring ® ring
@ ringing @ rung

(@®ED) Had better 9310 modal auxiliary 19 7
verb & present form JIR© X |

¢o. 'A child likes only sweets'—Negative form |

of this sentence is—

® A child likes nothing but sweets
@ A child likes none but sweets
@ A child likes but sweets

®) A child likes not more sweets
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(GmBY) Assertive sentence-4 IF7 K only UFCT
negative sentence- only-< RIS nothing but

JIR© I | TOIR A child likes nothing but

sweets—?’lﬁ?‘/
3. fa ==E Jxew?
>
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s N
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=289 -240
=49
R, - 15 + x + 22 97 Tt W7
@ x+3)(2x-5) @ (x-3)(2x+5)
@ x+3)(2x+5) @ (x-3)(2x-5)
@RED-15+x+22=2x2+x-15
=2x2+6x-5x-15
=2x(x+3)-5(x+3)
=(x +3)(2x-5)
vO. log,64 + log,8 97 TH F57

16 TA?

™6 ®s8

9 @7 @28 O
(GRID) log 5 + log,8 = log;? + log;?

=6x1+3x1

=6+3
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1 1 1 1
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@@= x 5 (x x) +3.x.x(x x)

X
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=343+21 =364
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G tangoe = 3000 _ L o (o)

cos90° 0

Q0. 743 Fe T CFCX FTAN?

@ fbs w2 ®@ W AR

@ W R ® @I AR
@) ARY 3 6 w5 ! CRy 73

G ST A |
98, (3x)° WV N IS?

1 @ -1

@ 3x @0
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w23 W@WWWWWWWW
wwmﬁwﬁmm/mmww
S, TR AR A, b8, A e, 9 | G FeA
QY T W0 TS TS ?
® 8 @R O @O
(@R G5 et x T et = T, 1, @x %, 7, @
T, X TN A = b8 x 9

oot — U8XQ
J1, o /YT = Y

.~ SR R = Qb
3. Ftsr @ TrEe® TREn?
@ (8,9 @ (v,5) @ (,5) @ (33,39
(TR 278G S (T) 32, 59 FACEHI> FZCHNNAF |
PHY, R=IXOXIXR
G 39=3x 39
R TR 32 8 39 «F S o7 &y e TR
TRATP (72 | TR GFT A7 ST |

. x—%=1{csr x3—x% G T TS?

® 2 ® 4 ™6 ®8
@D o1 7, x-1-1
1

e 0L o(x-1)Vh3x ] x-1

TOIR X 3 —(X x) +o.x.x(x x)
=(13+31=4

8. fsa =l Jrer wliw=a?

@ 3x2+4y2=2 @xy=1
@x+y=4 @ x2+y2=5
GGRED @F(0,0) 6 T T 069 TP 12 + 2= 12
Fodtex2 +y2 = (V5 2o oo e |

TR ASF GGF TP (%) |
e. log,‘324=4§L’@Ix-*ﬁl?ﬁﬂ?{?ﬁi‘.7
@ 32 @ 23 @3V3 @ 2V2
logx324=4
=xt=34
= x$=3422
-(3v2)*
x =342
v, S JeR CFaTA 5 vt I T JNE T
v 3R R?
@390 @69l Doed @ 18w
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T e
vﬁ%effwﬁamw1 7 s
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(-) 7R, 2x,=70°
x,=35°
oA FTON (QPIAGF T 35° |
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@D 20% e,
FIF Soo GBIl T RFTF S0 Gl

., 20
) " 3So0 ”

IR0 X0
Jo ” Soo =

G347, 0% S FIC,
IR e Rife #3ee 20 > 3 @1g

S ” =

N
n= g » = ¢ @I

5. @@ 00 TR TR were w%1 ¢ e
JB! o T TR @9 Teolg F2]?
@ 50° @ S0 @vo° @ d0°

@R 54T @19 - o

IR Bt

Yo »

39 X900 — VYo X

o o
—[990—30} _ Rd0

2
[Note: Q’,‘]"/MW@W@?I 3 ©&F o0¢° 1]

= o

q
q
9
g
3
3
3
3

Note
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0. S (4T 8o *I8 TSR Gfer Fet Rwww?
@ @» @NX @

(GERD) 5 (R 8o RF GEE FeMere T~ 3, o,
@, 9, 35, 39, 39, 35, 0, 35, VY, V] T 3B/

5. ¥ ET TFF W ¢ IR TS ¢ 39 @SR
T T Y0000 Bt T o F© it i FTA?

® R0,000 ® WR,¢o0
@ x¢,000 ® 90,000
4R, W7 6 TF TG ¢x 8 ox bt

7T (¢x - Ox) DIl
TS, ¢x — Ox = 30,000
T, 2x = Yo,000
T, x = ¢,000
W7 = ¢ x ¢ooo = 3¢,000 DI |
R, GZfS Tferram wfR F 6em T R CvaTA
TS R?

® 12sq.cm ® 18sq.cm
® 24 sq.cm ® 36sq.am
@mm) ¥R, IR IF tiGa .
PR 07 20 1. B, G AT 2 T A,
2, \2a=6
2
6 6
=>a=—-—=>a2=__
£ =)
a2—3—26=18
Ao cwarreT 18 5 G 1
39, 1434 6+10+15 + weoveeenn 4RI e Wi Te?
@20 @25 ®2 ®26
@D e,
YT T =1
Rl m=3=1+2

PO M =6=3+3

5P M =10=6+4

AT A =15=10+5
WW=21=15+6

HRI TG N7 = &8 M +7=21+7=28
[Note : &0 513 Teg 73 | 7B §g28 1]

| 38. CFITAT FLATT Yo% (RTF vo fAwiet FatA

Rt vo zwt TS R
@ Wo @ Yoo @ doo
@vﬁ TG x
IS, x GF Yo% — Yo = Yo
L, YOoxX - o = o
doo

®) w0

T, box = IR, 000
. X = 00
5¢. Yo T QITEA Y 8 T (Fe1 I T YT FS7
@ W @9W% D% @ 80%
(@RI Yo BT 7T FF (Yo — 8) T Sbr &
S :&
Yo
Joo :_______)b—)\‘:goo »=\90 G |
NI YT 90 % |
S, 3x3 + 2x2 - 21x — 20 AT 9B Tesiv Jr=—
@x+2 @ x-2
®x+1 ®@x-1

4, P(x) = 3x3 + 2x2 - 21x - 20
R, P (-1) = 3(~1) + 2(-1)2 - 21(~1)- 20

=-3+2+21-20=0

(x +1), P (x) G D G5 |

sa. (V3x¥a) =we?
12 ® 36
(V3 x V&)
6 1 1
= ( 3%x4%) = 3 x4 = Bx= 144

Str, 338 = 34 JCA x-IF T &7

@ 48 ® 144

@3 @ 4 ®2 @6
33x—8=34

! 3x-8=4

;M 3x=12

x=4

. I fagem [ g e Fata ool

MReZ @9 B3 =B To7?

50° @ So° (@ RA0°  ® VYo

(G W11 @i, A e Kgeer o e 78 = Svro°
T x +y +2= 350° ....... (i)
9, GF AR = Yrro°
IRsE < foaog Qe
= (30° —x) + (3b0° ~ ) + (3br0°~2)
= @80° —(x +y +12) = @80° — Jbo® = Vko°

o :

.....................................................................................................................................................................................................................




IR Professer's JOB SOLUTION 1505

0. 3B WIg fasrem @b T TG v FBBR | x¢. 18 FeANB P LT 0% @7 FHF?

=, Rgae craw o 3 fivm? @w @w Do @
Ve @ wie D @R @) 707 7, A = x
@@ 7RI fFwers 3127 070, a = 3% fib7 Wﬁx:fo-&%:qg
p——Ta e i >T:=Q8
8 T, 0% = 8oo
Vex(se)} ~ox=9¢
=g T 30, ol ATy oD T (I (R ST I 017
- svo IR @ WaeFm @ FhE e ARNER

/ @ TR 8 KA @ THAPKR 8 WA
. R TS A 60° TH G R QAR | R4, AN 2R RIS vatfisa 2 @ oAb’ @

WG 240 TR | b Twe To? FeMe 5T & fRrem?
®@ 41569f @ 41713 @ 31569 @ 3158 ®@ TR W O sakaul
@) 31 @I, fmEd A @ AT AT IR @) G AT AT
/319 075 BC = 240 fA517 . TENE AENTCR WRET 72 FS?
FH e 1t = 60° W% @ 8.¢% @) W0.0% @ W.c%
ARG5Sl AB = h = ? he? [Note : Iremice aeenfow Flw 03 WA
T TR GRS 8.9% 7 NI 3.5% 1]
60° 2P, JENTA I SR AR IS 7
IR @ o IA
C 240f B @ 8 7 © ¢ 7=
fod Z®, tan 60° =‘§‘—]C3 o, IS JRRTIER %4 7w 6 fozr?
N @ vEIG @ S et
T3 =549 @ Beetrer ® e -
). IFNATIR (PR (AT FIGE AR 5 AT SR? | 0
T h= 240\/—5 @ﬁmﬁ @{ﬁﬁ@ >
~h=41569 RBR OJSIESREE @ Fete U]
2. Rigem @ @I R I TR Steares | 0. JE Qe st e 7
TR T AgA- @ A @ GToNHa B R
@TH @ Wi @fed @ fomed @ i oreA Ao @ TR A 8
(B WRfRT C1eimy : BEes @ @ 53 90. et (i «fSTe R Aes? e ¥
IR TORET AT @A woly qrzmi @ VS e @ T e R
TGN @ TG @I W | @R e @ ARG e e
9. 5in6-G3 TR W 7 8. IR (Tsunami) F1a Tt~ v Note
®0 @®=2 o1 @ -1 @urere @R o
sinBGmse-ﬂﬁﬂmGWWWH@-l @ o 8 7 S ®WW§W
JERIR sin0-aF T T -1 oe. TR Fawm sy Fofia? e d
18. T3 YT Weo (UF TS TG bro (@F ww @ S fF @ o0 i ° A
@5 | T TS? @ vo @ o f o
® %0 @ ¢ @wo @avo | O (T FoA B OGO St 07 0 T
@D = = 7, @ @ = 8 ¥
b0 - F=F - beo @ @ 7= w =
T 3T = b20 + U0 vq. A6 1w Rafor A FFH18om 71%? o
890
q P = 3 F = 99¢ va 2

T R T T T L T T T R R T T T T T T T T T T T T T T P TT T T R T R T I PR T T P T R R T R T e e T T LT T T T R R T TN N T LR S L X X CX TR L LA EX
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b

Q)

9

1)

8o

8%

8

89

88

8¢

8Y

84

8t

8

“‘¢o.

@

@

(g}

@8

({4

()

eq

e

3

Yo

v
W
U
L8
e
Yy
vq

Y

alalalalslo|lafo|alala|ajalo|la|ala|a|ala|alalalofofala|alalsoa

O, THIF IR ‘Ghre FR' A oS IwE?
S0 WA AR @ A T MR
@ >0 Toma 32 @ ¢ o ypar
ob, e ==z =B ?
@ @m @ cfm
@ A ® Pt
8o, (P ST (7 ANETTPIE 2w N o7a?
@ firm Okt
@ Wi OFS
85, ey wRIfarR st 31 ~iftre <17
@ o @ so M3
@ do WIRA ® Yo ferr
83, SO IR 7w f?
@FT @ FM @emHN @I
89, TIfSTTTA IS AW e FS7

® >vof’ ® o5
@ o3> ® ool

88, ISIGR *127 R +fRife-
@ ften @ e
@ RS ® Preat

8¢. JETWT (@ Tomifez e &f¥?
@ sl ® esrE
@ ot @ W=

8v, T LT g Waa Fm?
@ T @ IO
@ @™ @ =

89, TRIFIT G S Tevly Tt FAB?
@ @X ® X
@ gl @

8v-. RIS s FM Fw mik F?
@ M @ TS
@ = ORIE

85, Y I FI &I QT AR ZA?
@ TS @ TG
@ SR @ TP
@o. SFHIES AR I Teg STA Wed (FIT wFye?

®@ el @ IR

@ = ® o
@>. SIER 1 Torradt 7

® I\ @ €

@ == @=f
@R, G = T SAfa?

@y @ vfre

@ AFS ® &=
@9, T Wy |@f[?

@ O

(OM (OM

@8. e ARTSy CoiER #ifk 7
@ RT3 @ TiEd =R
@ e vael @) Fryenm o
@e. G *1%H CeIq ANEH?

@ o= @ v
®@ T Q==
@Y, T TIRRT QTR TN A7
@ g @ &
@ ® TP
@A, T R IR v
® TR @ T @
@ TR @ c1A%
av. B5 foz e TN
®@ AR I @ CRISE AR A
@ AEA ® PRI AW
as. TR IANE R
@ M @ vt
@ T M @ IR
Yo, (I IAFMG w&?
® N @ o
@ e ® o=
), T8 Q@ TSR T TA-GFIAT B TR?
@ R @7
@ =& FoI ® e

W, (AR afbte W I3 TR - 9L
QAT @IN IR @i RefE?
@ Tom oS @ T o
@ ST il @ TR st

vo, TR Ry Fwa- 42 oFe’-

@ T oo @R

@ wfaem ® SRIRSR
U8, ‘I’ =R RS-

@ @™

@ ST (ORI
e, T + Yer-aft @I AwFH?

®@ fAoirew Fra @ T &

@ & & @ wifoe .

Y, I G ( ;) AR FSH ACS 77
@ H>TC @AW @) > R fwd s

®@ > CTF® ®@ O
v4. R B @ =7
@ GifFe @
@ Q@Y @ @
o, R 372 g ot fo-
@ 7\ A @ A a1
® o= @ i
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F2E=9.5pd
Us, ‘457" o w7 vo. Fill in the blank with appropriate preposition
@ W7 @ ﬁi‘%ﬂ = in the sentence :
® v ® @ 2 T8 573 FENS F I am pleased—hear about your promotion.
[Note : ‘<¥53" *t%7 < et 7919 ® by @ to
RPj<I0i] | S 1% BT I gt 8 i @ with @ for
ST GeojE 1S, 7E, I ] (@A) Pleased to do sthZC® GG Appropriate
Q0. @A ey MR 353 w7 TR | FEAR O RO (4) 70 1
@ @R @ WO @ fifre @ 9@ bd. 'Swan song' means—
Q). R HITR WITH ST 77 First work @ Last work
W AT ® vrefb ©rRE fofim @ Middle work ® Early work
@ ! @ RRJ (@EED) Swan song > phrase A7 T 17 B 1
R, T FAFEH 97 IR F? o1 F5A | A (9) Last work-Z FEF TG |
@ W TIRT @EH @) IS ToEd T[N | bR, Sinners will suffer—
@ T3 AR SRR @ W TR N @ in fine ® in the long run
qo. Fifr ¢ T 7 ® in no time @®) in the court

@ TUE @ FIE @ G @ &
8. oI I LFA?
@ OR O @wm
q¢. e ARTER JgRFeT =it @ =G?
@IT @ @EWOTF @ TAUA
QY. Which one is the correct passive form of the
sentence "Your conduct pleased me'?
® Iam pleased of your conduct
@ Iwas pleased with your conduct
® I was pleased by your conduct
® I'was pleased at your conduct
(B Active sentence (F Passive ¥ &) object-(F
subject + be verb (Tense 8 subject SR + FT verb
99 past participle + extension I T | A&
MG past indefinite TSI 1 47 7 was I R
pleased PR G 17 with T | TG (3) T A5F |
44. Choose the verb form of 'friend'.
@ friendship @ friended
@ befriend ®) enfriend
Friend < verb Z0% befriend 317 &% IF 237 |
qPr, S T G I TS' 7 T RS-
(® Make place for him @ Manage place for him
(® Make accommodation for him
® Make room for him
(@) @R 307 TR 97 ZAMST TR make room |
TR () 18P |
45. What is the synonym of 'reveal'?
® disclose @ conceal @) prodaim ® pacify
(&RAD Reveal ~ &4 <11 31, Gl 51 | Disclose
- S5y P4, conceal — CNM7 P4, Proclaim -
71 T 4R pacify — NG I3 | JORHR reveal -7
synonym KR disclose |

@E) &r2e AT G TR-NNET AN
(S 1 @ e Appropriate phrase TR () in the
long run (SRCCI) |

b9, "All men must die"—Negative form of this sentence is—
@ No men will never die
® None but all men will die
@ Nothing but all men must die
® None can avoid death

@) e 3¢ @F [esa1 e 7= AW A,
T N TTE I9T AR P GG T @4
3T A BT ‘must’ IR P emphasis I
& 101 avoid TR IR A 1 FOAR A 4P RAT
T A7, FE JOIF G N A 1’ W LG
7%= Norne can avoid death. ©12 70 ©&F () |

v8. I would rather die—.
to beg ® than beg
@ than begging ® than would have begged

(@) 37 TS ©F SN 7 |~ 4 expression -
9g G would rather + verb 99 present form+
than + verb < present form J9R© X | FOIR
structure 8 T () T A0

b¢. Had I been rich, I —.

@ would have helpd the poor &) will help the poor
® had helpd the poor ® would help the poor

(G oires TR 3= 9P PO "Had' ol 197
O 0T 77! G would have + verb < past participle
form IR Q| ToI IR (F) 3 A |

bb, Do not insist — his going there.
®@to ® on
@ with ®@in

@) #1C @I P57 & @7 B9 5
91 & insist @7 717 ‘on’ preposition IIZ© T |

> Note

-0-94
P

£
slola|la|a|a|alo|a|la|a|ala|aa]|al
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bq. What is the noun form of 'believe'?
believe ® belief
® believable ®) believance
(@Wm) Believe (177 1) *1¥1G verb ¥F Noun
form = belief (RH) |
bbr. Select the right word to fill in the sentence
"He ran fast lest he — miss the train."
can @ should @ could ® would
(W) e SER FIET I e FE1 Z0e

"lest” conjunction R TITC T <L < IS -

verb & HF should IJ77© T | ToAN () &7 |
5. Phonetics is concerned with—
® Pronunciation ® Word building
@ Sentence making Passage
(@B Phonetics 30R ©INIF @lAfaeary 1 @lad
&®13¢ I Pronunciation G S5 ¥ |

50. He advised me —— smoking.
give up ® to stop
® to give up ® from giving up

Advise sb to do sth T%% @G Appropriate
YR | A9 smoking TR G IS T Tt @iy
A 2 (give up) | AR I 8 TS 77
QI (%) to give up gate

8. Would you mind (to take) simply a cup of |

coffee? The correct verb form would be—
® to take ® taken
® taking ® for taking

@®ED) Ry SFEAY 7 polite request FICC ICHTH
PO Would you mind JI3© I 4R <47 9
verb + ing I07 | JOR (%) taking & 0 1

&, The passive form of the sentence "Do it as I say" is—
® Let it be done as is said by me
® Let it be done as I say
@ It should be done as I say
® Beit done asiit is said

Imperative sentence-4¥ passive PO let +
object + be + I verb-4F past participle form
JIZ© IF | G T ‘as I say’ e e
AR, FIT G2 LA passive FACO CIET I
O ST QI FA | e (%) & A

9. 'Blue blood' means—
@ aristocraticbirth @) scoundrel
® fresh blood ® blood of king

Blue blood—o14 @fSeiey | Aristocratic birth—
fSEre T I TF 307 T Scoundrel- 3T
738; fresh blood- @1e % blood of king — T

72 | FoT () A |

88. Ilook forward—you.
to see ® meeting
® to hearing from @ to meet
Look Ward to ~Rf5 phrase I ¢ g
AR ST P G M verd + ing TIRNO
T | JOI (%) to hearing from B |
5¢. We worked hard so that we—succeed.
®@can @ could @may @ should
So that FRITS T FAFIS can, could, may,
might 07 | ACNG G AP past tense-< HE,
©1Z 50 that «F F can & past form "could’ P |
Y, — water of this pond is clear. Use article.
@ the @a @ noarticle® an
@RI F99S water & S article ST 7 | ©F
! [N T, AP A TEANIT A et
IS water 7 P the I | ANE I this
pond P water 7 S the T | =G ‘of A
915 noun <& I [0 P97 O3 B noun
< U (proper noun BIG]) ‘the’ 07 |
®4. Which one is a compound noun?
(® Headmaster ® Information
@ Friday ® Examination
(@B Option &0 4 Headmaster (Head + master)
TR 55 noun 7 TR M Gl compound noun |
7 Noun 6T suffix @ prefix 031 190 0% 1
®b. The man was — murder.
® hung for ® hanged for
(@ hanged ® hung to
@R @I AANCET T T CRSTIT verb LR
hang (for) @R 97 past 8 past participle form TR
hanged | TSR (%) gt
5. 'Head over heels in love' means—
loving somebody
® disliking somebody very much
@ hating love strongly
® loving somebody very much
"Head over heels in love’ <Ro1% phrase 9 o
IR P YT @M IR A AR 2
I & loving somebody very much |
00, Choose the correct sentence :
No sooner had I came than he went away
® No sooner I come than he went away
@ No sooner had I come hen he went away
® No sooner had I come than he went away
PO 7 FACI, TO 7 TOZ- T expression
K G4 No sooner had + sub + verb & past participle
form + than + sub + verb W past form JIR© JF |
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o$1 \.9 y’ “ = QoS

v>.0¢
3. Complete the sentence : 3R, The dog was — in front of the door.
When my friend arrived I was about to— ® lain ® lying
be leaving @ leave @ lied ® laid
@ left ® go 9. Which one is the correct English translation
R. Choose the correct sentence : of Q¥ WA e e’ ?
® One of the most beautiful girls has come I am empty hand now &) I am empty pocket
® One of the most beautiful girl has come ® Iam hand up now @ Iam without money now
@ One of the most beautiful girls have come ; 38. The verb of ‘sure’ is—
® One of the beautiful girl are come surely ® surety
9. Find out correct synonym of ‘hazard’. ® ensure ® none of these
® Impartial @ Static 3¢. Rahim went — hospital as patient.
@ Immobile ® Danger @ the ®@a
8. Choose the correct sentence : ® an ® no article
® I have been lived here since five years Y, ‘Writing is better than reading’— Negative
® Iam living here for five years form of this sentence is—
(@ I have been living here for five years Writing is not as good as reading R
® Ilive here for five years @ Reading is not as good as writing
@. Everyday—beginsat9 O'clock and endsat3 O'clock. ; ~ @ Nothing is as good as writing 3 ¥
® college @ a college ® No other thing is as good as reading v ¥
4. Itis high time we — our eating habits. 8 9
@ the college ® colleges
. . ; changed ® should change ¢ o
V.  Which one is the correct passive form of the .
R j @ havechanging ~ ® change v ¥
sentence ‘Panic seized me’? Obr. Select the correct Bangla translation of ‘There is no g
@ I was seized by panic @) I was seized for panic room in the bench a9
(@ Iwas seized from panic (®) I was seized with panic @ T R @6 R @ 9 @ @I TF (7R o 2
4. Idon'thanker — wealth. @ 9 @ @A TN (R @) (PG (A @FHRER ® ¥
@ for @on . Wb (I We’ — 7 wT Je— o 1
® over ® after Pen through the word @ Cut the word N 9
b, Select the correct Bangla translation of ‘It is a long story’. @ Cut through the word ® Cut out the word N 9
@ G 9S e 0 @ GF s A 0. What is the adjective of ‘purify’? W F
@ C1 9 g IR @ ¢ T @ R A ® Purity @ Pureful 8
®. She could not but — there. @ Pure ® Purifying ¢ 9
help going ® goes Q). We eat — we may live. v 9
® has gone. ® go for ® because e T
0. Noun of the word “free’ is— @ so that @ lest S
® freeness ® freely RR. Which one is the correct passive form of the T——
@ freedom ® freedomness sentence ‘I know you'?
3. “Take one to tasks’ means— You are known by me @ You are known to me 2 A
® imitate ® rebuke ® You are unknown by me R
@ resume ®) restrain @® You are known with me R ¥
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9. Which one is a compound noun? 0e. 9T TE o O TR 2 wet T FAR
Comprehension Holiday ¢ 1
@ Entertainment @ Hair-brush RPN S W TR T o AT
3. (s@y'x‘;’:;s concerned W‘ét)hl:tter S¢oo TIF AR | O GG T=Ifea T +?
® passage ® sentence X900 2:: @ wooo ;::
R¢. Rana's father wants him to be an engineer — a doctor. @ 8eoo @ 000 ) 0
@ instead @ instead of Vb, x +y =7 GRxy =10 T, (x - y)* G T Fo
@ expecting @ expect to @6 @3 @9 @12
Sy S e L 16— 4x2 AR 6x2 + 24x + 24 7 . 7, © FS?
) ° @x+2 ®@x+4
et BT SHe? @ (x+27 @2 +2)
@ 50% ®@60% @ 70% ®@ 80% oy X2 - 6x +y R
N A TR P AISIAN IS T AR  y 3 3x+2y )
TG b IR JR-AETA e 73? @5 @6 @% @%
® dx.¢o O ® ¢ ot
@ 20 O ® se =t o5, Y% we?
. o7 TR G Red W TR oG T <8 3
1 3
T T T O TR » W A A, O ° 92 @ @a
5 ST SIAR (R PG I T4 787 GED %/%/a_s
3 ® 9o TA @R IR 1 1
71 o™= @I =@ =%a =at
3. (I FHOT FLAE ©, ¢, 5 QA Sl I § 80, 3.27% = 9X + 4 30 x GF I FS?
T ereraza? @9 @3
4 ® 89 @8¢ @ 8 @84 @7 @1
T |00 fita a%f® FMER - et Y TE, & {8 - y2 + 2y~ 1 W G BeetrE-
g FIHA 8 6°l IS IACS FSMAT AMI? @x+y+l1 @x+y-1
3| @vuim @ e8 fm @x-y @x-y-1
2 @ 38 fas ® 8o faw 8. log, (3%) RIS
3 | 9. 1R wERFE I MY T PNT T T . . .
0o o N WeHd e | v W wE 3 A @5 @3 O®F O®F
©8 3 Rifrs s o7 8o, 725 Y A Teslw (1A 60° | qF FAACHI
e 9| @3 @B @31 OB : 20 TF it Rt 30 R @t B 77
oo 51. o, b-om;lwimssﬁm";m‘llﬂlimw. @W @me[
o1 q @ 8¢% ®) 90% @mq @m@;ﬁ
- @ ee% ® 80% 88. MG fIgred 13 I Y a 939 A @3
| 0o, T2 77 20% W o1t g @@ TR 0% T’ ook R g
o 3 s B W T N TS AT A A7 G 5 G i
8o 1| @e% v @ ¢% I @T? @G @ T2 @5
8> QI‘ @ 8% Tt ® 8% e 8¢. fTsa D Beigres sHlreaet?
8 T |08, 73> M TP 5 3 6 R ST A, A ® 2y 2y
80 120 T et HZG3 . A, © IS? 2! i
88 @4 @5 X2y
- x_y
8¢ I @6 @8 @ y?=dax @zt
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L. A
8Y. cosec (90° - 0) =2 T cos = FS? @Y. (I T IG5 st ol et <t e ?
V3 1 1 @ WA RIEGIET
® 03 ®; 0F 5@@: %W

89, (P! APTErA IRETAH WS AT I | o, ozt wTent’ '@ “TMet 2o’ 7
T, G TN e ww /I T3? @ ISP TR 9 @ WS
@usess @visse @ REW AFo EEEIREE 5 St
@srs8 @vs8 39 @ T 7S Prfa =i @ 76 TR wew

8Y, T T @ AWRY TS So RO A T | wo, FAO @7 3T e I SAFHS?
Aives Meda TALS et 60° T, *MefBa Twet 37 ® oS! @ @w
®@ da0xfi, @ sa.axfw @ e @ RezTe
@ sv.ve fI, ® >a.9e i, ). IR ST T @AD?

85, G2 ToW I T 4 IR, @6 AR 7, @ ey Wiz @ TIeEfes @oT=
TLA T 7! ® g I W @ STz SmETs
@ i @6 @M W, WEHEE ApeE TAEHEE @i w1ys?
@ 28 = fL. ®ufaf @ it @ @=2fer

o, XN TPPER G AIGT IS T Beolw: @ FROIHE ® =
MY @R s 3o BR? vo, Ry #if} e
®@ 75° @ 60° @ 2 @v
@ 9%0° @ 180° @R @V

. YRR TR 1 T TARA FR?
So i 35y @) 5O P d5ad
@ N ARF 352 @ >q AR 35ad
@R. 2058 TR TS FITT SIS *Ifiewe 2iers
TIOEH G ARS CHTafeE?
®@ T ¢8 O Ybrd T
@ A TE ¢ YT bud TH
@) 2 TT ¢8 YT bbd TH
® T 0 YT Yoo T
@o. SR’ JAENAT (T TR A7
OF L Ok
@ TR ® wfwe@
8. I Tt (T Affee e Twea @i

AR FA !
@ St @ FCo
@ foom ® ™
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Qb 'Beaut)r is truth’, Here ‘Beauty” is—
® a pronoun. @ an abstract noun
() a common noun (®) a collective noun
(BRI @ noun W1 @M JfE T 77 04, w§ag I INILL ANE
PP ¥ OFF Abstract noun I | GIF : goodness, love, T 1
'Beauty’ noun 0 TgT 0 IR 07 | Foar: e 853 () 1

n Noun form of ‘know” is—

*i@0.A=(1,23),B=

@ knowing ® known
@ knowledge @ unknown
ﬂ'@ The boy writes well. Here ‘well’ is a/an— <
i ® adjective @ adverb
®) verb (@ noun

(@A) @ word Noun <2 Pronoun JSIE Verb, Adjective I
(P Parts of Speech (¥ modify I3, ST Adverb 37 | (V94 * Mira
© sings well | 'Well’ P8 verb (¥ modify #7 1 12 #3% 589 (%) !
@8. Every man is potential. Here ‘Every” is a/an—
:  ®noun @ adjective
(™ pronoun @) adverb
¥ word WAl (FIAT Noun 9 Pronoun-<99 (19, 99,
Gy, T T Y TN ST FA ONF Adjective I 1

@ T Hem @ rf5em Every, miifl \ 53] Fe#*1 T8 | ©1% 7% 559 7T (%) |
@ F™ A @ STFET A  ¢a. Adjective form of ‘Miser’ is— )
-memmwﬁammwwr .rmserly ® miser
a@m- \2,73,45 T i 00 misery ® misearly
2 BrglRe IWWWWI -ﬁf f®% Noun-493 T8 ly (A1 T Adjective-9

8b, :aﬁmm“ mmwﬂmmﬂmam_

JIS AW O F=q?

HNII B9 I | (QWA- misely, manly, friendly, homely, fatherly,
monthly, yearly, costly TS |

®¢ o - @ a.¢ T . }&& Noun form of “Young’ is—
@5 @8 T ' % younger g::m;ﬂ*
t younges ender
; :W{:;;:fﬂ Z:i: :E;W @9. The tea is so hot that I cannot drink it (Simple)
M:-u: : (@ The tea is too hot todrink it. &) The tea is so hot to drink.
. @ T (FIF IS0 TWA = PO = » T @ The tea is too hot for me to drink. (@) The tea is 50 hot for me to drink it.

B49. sin (-0) &7 So.... that & Negative complex sentence (¥ simple

@® -sind @) sind sentence TS T too...lo-H JITT INC T | NS

@) +sind @ @EHE T sub-ordinate clause- 9 & subject (1) ST I adjective-

(o) fremfafe® Fapne, sin (- 8) = - sind
8b. AABC i £A = 45°, /B = 30° T LC & W ¥%?
@90° ®100°
® 105° @ 110°
-aﬂﬂc-ﬁm+.¢£ﬁ+£ 180°

= 45°+ 30° + £C =180°
= £C = 180°- 75°

"\ £C = 105°
8. T J0aT TP r T TR TN FS?
@ 2 @ 212x
@ 2ar @ @R 70

aisIdEsssANE R AR AR A NENES

G M for me TOTE |
:  av., Would that I could fly in the sky! (Assertive)
® I could fly in the sky. @ [ would fly in the sky.

@ Iwishlcould flyinthesky. @1 wish 1 fly in the sky.
(@A) Would that fey o 2ear Exclamatory sentence (¥
Assertive- FIFRS FAA AU IR 278 Subject B 307 +
Wish + Would that 99 109 S 307 |

_ i @». Hehasa cup of tea everyday. (Interrogative)

i @ Doesn't he have a cup of tea everyday?

@ Doesn't he has a cup of tea everyday?

@ Has he not have a cup of tea everyday?

® Hasn'thea c:up of tea everyday?
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: 90, B 5% FR TR &0 1 |
rery RTMT 973 I TIET TIR | A Subject ' Third person @ All that gliter is not gold.
singular number T6WE hume 7 T2 Has WX ! & &5 Sontence fira: @ All that glitters is not gold.
G % W ST I (W : Interrogative, Negative, Negative : ¥ T % ey e ?
Interrogative Sentence-9 9398 377 T Auxiliary verb does, @ Whatis Dhaka famous for?
schlene R T TTTS TS has S 30 Moo firg: @ What Dhaka i famous for?
hm TS 81 SR TRTE Affimative sentence & nterogative R W Wif3 o1 e T ¥
RO Neyatiew infermogatney sentence 999 30 ) i @ llnow where does he lives.

R TGF 5 T (¥) 1 T Tohne' Verl 495 1

¥o. He is the best bay in the class. (Positive) . @Tknow where e live.
® He is.a good boy in the class. gw-mmjﬁﬂzml
® No ather boy is so good as he. : ?Oﬂim;zﬁ i;w:er.
@ No other boy in the class is as good as he. ater.
@ He s better than any other boy. ;'lﬂ-!mam:ﬁm'ﬂmu
(@RI 027 03] I TAE T, FH 7 AW S ®1ha;'eac°mpu‘e'*
deWMWWWMWmW_mE“A am:putelrl;a
W;WWW-WMW:M@WNMWE '®Pm5f‘P must have—
GR R 0 T T option () 1 @;'lpﬂbled

). T must do this. (Negative) i

' : %Y, 7

® lcannotbul doing this. ~ @lcannothelpdothis gﬂmﬂmﬁftﬂ
@ | must not do this. @ cannot help doing this: & 05T

Transformation of sentence @ fAyy Lo m

Affirmative sentence 50 Negative 3 777 subject + can not

help + verb &R ing form T |
& T know you. (Complex)

@ All that gliters is nol goyg
@®) All that glitters are nol gag

@ Why Dhaka is famous?
®@ What for Dhaka is famog;

® I know where he is living
@ | know where helives

@ Qil Noates over wales,
@) Oil is floated on water.

@[ had a computer.
@1 am a computer.

@ a single idea or topic
(%) more Lhan one para

& 0 -AETA
® et

- @) W T R T T <R TR W
Ll e wrs, v o) | o e o7 T R
L I e el s Qe JoAe ¥ 6 9 40 $5E 0%

™
@ lknow whatyouare.  @lknowwhoyouare. | ;Mmmm mﬁquf?
@ I know who are you ® Honow what are you. : @Rﬂa! Hmiilﬁ _ =

, Sub + verb + Object §® Simple Sentence (@ Complex
Semlence- FIRE 97 Y Subjct + verb + Relative Prongun I07:

+ Obyet B 3% 2 A3-5% Object SR Auriliory Verb T

w2. The sun rises in the east.
O Ef=az Okvkidasd L

Ay,

(TR Yoy 1 Afeers e i g 53907 Ao 3
& 3 R 3305 M TG T ST AOTH IFF
o1 Ao < 7 A AT T ST T 1 Sy A
) T (AT PRI A T PRI SR A

R @ e @i ? :
@@ fufEwmm: @5 fre S @ RA @ @ T @
&8, He is my nephew. (TR 93 0% O e ST | 4 TS e &
@ & TR o | Oleb kb f L e, T, 758, (T, ST S | B
@ o1 e | ® i S | : 9, (O W v BArEE?
&¢. Itis | who am your teacher. @™ @ ofe ) SH @ T
@ Wil cors firees | OREmER | (GER) @ Ry T Ak AHAE Ty e S T
QFshacmie o @ ahiEemine | @ o o adeom T awe- Fepe ™ T
Wb, It is a quarter to ten now, nﬁ?ﬂ%m?ﬁw'ﬁmﬁ#ﬁ?ﬁmfﬂ*ﬁﬂ
@ o T w1 3 | (@) &% 75 D1 L T P O - e, (&, [, (BT S
@ 9 (A W10 I | @) F PR R : vo. ‘M’ o e A% Rowr-
®4. Pen through the line. . . @+ @ 1+ B3
@ T @D e | @ @@ e | P @TI+ER @9+ ==
@ &t @D As @@t M e | ), aeTe)” e Rl e
&, Faults are thick where love is thin. @ﬂ‘aﬂ @ 2]
@ ePRPen T crma W @t eem AR | @ e @ &-=fom
@ "7F (7Ne A OR B I @l s SPRP e (v, Ron iR Tl ow w2
>, Tl TS QT 98 | i @it ORIE)
(® The boy is very wicked.  (¥) The boy is naughty. @7 @ ORI o
(1) The boy is wicked bone to bone. (oma) wrf, wRf, Zeafer Teomfa foar erar (0@ -

@ The boy is wicked to Lhe backbone.

% T A | WO =wfha et wrq IO |
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@ WA-AFTH @ e

(@R Equation 1103 I “AFeray Tw’ |
po, (BT AT T TR -1 TR 7

(@) 5T @ it

OAE @ e

i) 77 77 v o ot e e e
vq. FHe™ e i Sqos Sr-

@ Sreifart ORL: i
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(@) 2R -2 NI @ =foTs oMM

@R w3 W GRREG o seirs [ays ooy
SI-TPIA (¥l IRT 77 | g FTer A T I
IR T F18 S 77 |

R SRR @R TGS Yo e m?
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W,
"'@wi" 8;@:@1
o T MISLRC L)
u:'l"“mmﬁw“-
'.ﬁ.,mﬂ @ 2rs B v
ik @ TR TR o
(GamD) 207 1 om 5F e 7w Reps avhy oy 1 comen o
wmmmﬂ#mwmwmmm@ssm,;

g B TS T | (V- T = 39, R = 0@
umwmmﬁmemmn? :
' @R (TR SrEw

@ e |

@ e e STeTY @2 o
o ot o 3% A% o cmaft? 0o

@ R+ ¥ @7 + & :

@ TR + T @R+ 3Im
o, SITER IPTOTE ePTrRTT = §?

@ sd @ e

@ TR @ T3P

@ T O SRR 51 T
- @, D, Prad- @ o= T Ry 3f
@ FT5TU 1 TR A, SNIH IR 371 51
1. FRIC G e R ?

@ %R ORI gl
@ el @ RCFA
o, WY oree v'aw wae f5fA :
@ [ have been knowing her for two years. “
@ [ have known her for two years.
@ [ know her for two years.
® I am knowing her for two years. !

L (€7 4 [¥F verb LA™ (WO conlinuous &Y W
Continuous tense T 1 { like, feel, know ST X ST | O 75

2,

translation 37 W AV Present perfect conbinuous 50 7P6 XF

Present perfect tense 0 AR 34 510 08 | @12 7% 554 () 1
. 7€ S ’

® The sun has up. @ The sun is up.

@ The sun had been up. (® The sun has been up.

(@RID Option 5RIGE F047 &G Option (€) H3F T8 I

G T verb-<R WG (AZ | Option () Past perfect tense T: 08,

WRSF | Option (V) wrwfaw wd Hidw zwers Mehw 4.

¥R Option (W) FAfFw Rrasarm 7% | 7o e 62 (V) 1
. O ewm Y TR | :

@Hehadm}nmyesterday.

@Hehasmmehomhstday.

@ He came home yesterday.

® He had been come home yesterday. ;

(O 227 %7 Yo’ AT U Past indefinite tense-

R BT, T AT I [T 0 Sub + verb- < past form + |
 extension | R AR (1) A6

Lo,

® 1 had seen Lhe nice girl beside the road to sell flowers.

@ Isaw the girl on the road to sell the flowers.

@ | saw the girl beside the road to sell the flowers.
@Iwasmgwgirlbesidehmadlusullﬂuwus.-

(O Option (%) (@ 2578 IR o1 1 372 200w AWM Past
indefinite lense- % 95 had seen [ITT N TOE 7 (%= Past
perfect lense 0 AAGE TW | TR option (%) = TAR Wt ol
on the road I ¥ TUE GBI8 PN IR e Becafe TN
Leside. SRTA option (%) (% see verb (¥ continuous 31 Y T
IS THE I W 7 | FFE option (1) (® 253 IFT
Hafa® (AF HBF | JEM > S5z M (7) |

. CATgTHE BT’ (AT |

@ Mostari and her sisters are four in numbers.
(¥) Mostari has four sisters.

(" Moslari has three sisters. @) Mostaris have four sisters.
(e=m) 0TS ITIT QI W @, wraTie A T
QAT [0 O T 517 (8) @R ) P QOA @,
CIRIIAZ BT (A 9E | TSI AT B (7)1

. T ST W TR A1

® Laxmi does not come to school today.

® Laxani did not comie to school that day.

@ Laxmi has not come {0 school today.

& Laxani has notbeen come to school today.

(@M e we @A I Tufe/eme/tme au o
Y17 T O% LTS Present tenise W | KW 2 gption -
SR 0. (1) F0w IR ol WW A | e ol g
KT G2 TR0 7-QAry® O @A FHY T Present perfect-
g9 3 777 T | JEA IS B () 1

Itis really a vexed question.

® b aFenF G W oy

@ e ot wal fafeea o

@ I =gsorE T Ffewm o4

@ <t AR AT 2

The clouds rolled away.

@ WY 5TH N @ e 3L oM

() (N TG o1 ® G4 5 O™

(omRm) A 5T WA 3 I (e (& NSUTE A I
R 06 N’ | AEF ReroR TN« W Rum e
571 ST A A WEALEIS ‘(I W' [T JIFS W
HEAS T A YT IRCTE (%) 7

A little leaming is a dangerous thing,

@ TB CTOTE Srev YRR @ Tefam snE

@ wm i s @ s e Sreet Ay
[Note : SIS Sentence 2 10 Proverb TR . wpfang s -
R option - 60 00 RRADT FRae #ds ol fem 1 ]

Sathi is known to me.
@ TR W G @ R TR R
@ 1R SR e @ s wifw B

(@RI Voice, Iense =R mood JAPF Rrav1 T30 ol oW
279 option-STAR T option (1) E WY WA FWE | ¥V

option -6 CFTCA 1 (FLAISHI BT | Foaw 7= Boa (7)1 -

-y
S

ke

I

. .lr

BY.



@Y, Time and tide wait for none.

@ T G T I T (AW AE A |

@ T Q@ T T TR 7 FAAG |

@ T ¢ SIS FRG T WH T |
@ T 8 GIS FHAG SPH A 403 A |

mprmrbs WWWWWW%:
ﬁ@,mawmwﬁwﬁ@mwgﬁam:g

O1X TN a5 option (1) (@ 78 T3 FfrE (e v |

4. Don't cry down your enemy.

@ T WO IR TN A (@) R UF T W |
() "I Q0 SIS AR | (@) ™ W (S A |
(@R Cry down ZC#7 %1 31 31 306 T 671 |

Ot Certainly, I shall stand by you (Complex).

® I shal stand by you and it is certain.

@ ltis certain that [ shall stand by you.

@ It is certainly that [ shall stand by you.

@ There is no doubt that I shall stand by you.

(@) Simple sentence (¥ complex T F77 53 clause iﬂ'
A JB FXS W | GAA certainly F O 1 is certain -

TITG clav:se C3TF 3 AT <R that -(F Sub-ordinating conjunction :

3 AT W option (3)-c2% A | Fere 70+ Be7 () 1

3. 1 had a nice dream last night (Interrogative),

8a.

@ Didn't I had a nice dream last night?
@ Did not I have a nice dream last night?
(™ Had not | have a nice dream?

@ Had I have a nice dream last night?

(@A) Past Indefinite Tense- 47 ITE QAT FIH ??W
M OFTE Did I7 + Subject + FT verb-«H present F + W@:_
9T + 7 BF 1 @ FEA option (¥) S+ 7@ AP AT 1
G ST [0 WA AT T Negnrive-inferrngnriw;

sentence JI-E4F I Affirmative <5 9 37 |
Although he is poor, he is honest (Simple):

@ Despile his poor, he is Honest.

@ Despite his honesty, he is poor.

@ Despite his poverty, he is honest.

In spite of having poor, he is honest.

-ﬂiaugh I Although §% Complex sentence (¥ s.'mpJeE

I 7T Gmd errsy:ff 0f{Despite T3 IW I
Despite/In spite of-«¥ 92 subject-< possessive case 2 + noun
07 ST verb-<R Present participle 33 | P19 Rasar upncm
(") wmmwmcmpm sentence-fo7 TR® ﬁ'ﬁﬁ?f
It bumns the prettiest of any wood (Positive).

® No other wood is as pretty as it burns.

® No other wood bums is as pretty as it.

@ No other wood burns as pretty as it.

@ No other wood bum as pretty as it.

@Subjerr + verb + the + superlative degree a3 Fﬁ?ﬁ?
Superlative degree-<H JFLE Positive degree (© FNIIT W

(® Not mere than a high school is at Satkhira.

@ Theie is nol more than a high school at Satkhira,

() There is a few school at Satkhira.

(@ There is nothing but a school at Satkhira.

@RR) Only T& J-QI4E I F-@4F TN 5y

541 U7 7o JUN O only- 7“0 not more than TRl

| 2AY 78 IFOCE only & high school - TT Ty,
o1Z 7P @Waphan (31

B*u Akhi missed the train (Negative).

@ Akhi did not calch Lhe train. @ Akhi did not get the traj,
(@ Akhi did not get into the train. (@) Akhi does not get on the triy

cersasessssinEstsanaRE ... """"-:-'.'.'f]
: BR. There is only a high school at Satkhira (Negative).

|

(@RI Past indefinite tense-97 IFE F-Q4E TR my

subject-<H *Q did not 7 IJ¢ T verb-<H present 7 i

W AP TS [0S 1% JI5% W P fa
R334 option (¥) (@ 973 M0 3% |

: 88. I knew his name (Complex).

@ 1 khow what is his name. ) Lknow what his name wa
(D I know what was his nasfie. @ knew what name i
[Note : I%F A3 [ kncw his wame 9 &9 Simple sentence @
complex R T T verl-43 F JFIC relative pronoun (o¥s
what) TS T GR G T LT subject TR O o fr
verb 307 | ¥F 257 oplion-O0TA T (FTNS &Y 2 | v

9 AT complex T | knew what his name was.

.
M Weshall not see his like again. Here ike’ is a/an—

@ Adverd @ Noun

@ Preposition @ Adjective
-mhh’ W%Pﬂrh of speech @ I
& W | &G TN like- noun ROTT TIT7 37 T00ms Tk
9 T Q-9 JTAY O TG T | B, my, o
your, his, her, their TSI possessive adjective-<7 77 761

noun SIYT JIT FI | (TFF-my book, our school, his pem
¥onfs | qow: Aems A3e 859 (Y) |

B‘b What is the noun form of ‘know’?

@ Knowing @ Knowledge
@ Known ® Knowledge able
(@R Know 15 &R0 verb 7 S &7 1 R Noun 3%

knowledge 31 I | JSS12 278 option ST Foeg 3% B (4)) |
: B9, Shahed did not join the army. Here the word ‘ammy’ is—

(® an abstract noun (@ a common noun

@ 2 collective noun ® a material noun

(ORI 978 227 Army-<R O i U 29ty s
QTS [ option (¥) (& % Absiract noun T 837 73 I
Abstracl noun TR (FUAT GUTF L@ JIT 1 () (C o5 commr. -
noun FE® T FEY AT GFD] SOSE AW TS Faf Fevgw
YR T | WTH gption (V) (T 5F inalerial noun's ’iﬁﬁ"'
PR material noun TS (FTEA1 IF I 21N T BN 3o U F
31 31 T T | FARCE aption (7)-C 78 collective noun H
Bew BT Army 31 T 93 CINPS | FOAN ﬂﬁar@‘aa('r);

G® No other T + singular noun 07 + verb + as + positive : 8k, The road runs — hill and plain.

degree + as + 278 superlative degree IF IFA subject 7 1
T FE m(#): ’

@by

@ across

®@to
(@) over

tasrragpniers bepnl lguEbepl f Iqutdeqgu@ fa g piabkissunn Firuresbiny sl pangenp bl gapaesssnnanst” =
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7@ option-SCTH S option (F) (T 278 by Ty @8. 30 BIM 75 Bagry e T s an ot

', option (%) (GG to T S’ 7 ors’ 72 @ 40 !

. ',1' E@ﬁ@ncmﬁ-‘ﬁ o (@ AR owe B e ®35%
gpton (* o wfdzm 71 8ez’ . @25
e option (%) & FrSowr T 1 218 option- " ® 71y,
o 0 (7) ol , 19 ’
piya has slept only three hours, Which part of speech is : 30 bran 75 brem 55 X 100% = 40%

8. : : o
jne word ‘only” here? ® An adjecti 22 DT 10 W 07 350 90 % e R o ot v s
@ A noun VL ;ecl':uje L @u% ® 25 )
®An adverb R ® A preposition @ 10% o
@& Only TV NS Adjective TN Q97 ®15%
vl 1 T &8 AT hours TN Noun @7¢ @7 qrd. TR 10 g 2 1 vy
wazor@rdl tiree T mumeral adjective R % only TS Lq v 1 .
10

7970 o7 determiner-<9 Pler SR e ﬁdjf:ch'vf-m modify
a?ﬁ{'!ﬁg 973 | (T 1% Noun/Pronoun-(¥ Rr=fve a9 o
@ *R7 noun/pronoun TS S (T CETA Parts of |

adjective TR

pecch 7 (T T RIS I ©IF Adverb 1 T 279

oplion- ST T4 option () TPE i |
to. A paragraph has — important parts in a single para.
@1 @2 @3 4

(@) * Paragrapli-4
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(D The rains have set on ® The rain has set out
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' @ He lives from hand to mouth ® He lives by hand to mout

) Helives day by day ®@) He eats day by day
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® He said that hewﬂ]go ®) He said mathewﬂ“jdw
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(D He said that he will went @ He said that he WO
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@5. A paragraph must be written in —
@ ore @) two (Mthree t
(TR A paragraph is a group of closely related sentences ! e
a central idea a;id is written in one pgra. FodK Hf5e B option

@3, Which is the verb form of the word "ability’?
® ableness @ enable
(@ ably @ able N
Ability ( T, FETS]). TR noun, adjective
able (9 T¥); adverb TR ably (TFYOR FA); verb R
enable (7% ) 1 ©TF (¥)-2 70 ©GF |

@9. Which is the noun form of the word 'beautiful’?

(@) four

@ beauty beautifulness

beautiness @ beautyness :
@8. He ran a race. Here 'ran' is a — verb. |

Causative Copulative :

» Cdgnate ® Factitive

Y (AT Intransitive verb 14 FHGTSI noun (¥

object RTTI 929 FF transitive A JIZ© W T O

cag-rmte'verb 975 | (Y- Maria sings a song. He died a painful

death. ©1% ()-Z correct answer. :
@&. Which is the past form of the verb 'wring'"?-

Wrang @® Wrung

() Wranged Wringed

(@R Wring S¥- GBI, 1T | Wring- < past and past |

participle form TR wrung. TSI option ()-Z T+ Gaa ). |
Transform the sentences as directed in brackets (¢ - o) :
@Y. Cricket is a very exciting game. (Exclamatory)

How exciting is cricket game!

How an exciting game is cricket!

@ What an exciting game cricket is!

®) What an exciting is cricket game!

Assertive sentence (B Exclamatory sétenice -9 Foraraa

lut develops

-
L ]
-
-
.
L]
"
-
.
-

[} -
..........

e of the sweetest fruits in the world, (g ™
v-eet than any other fruits i, the |
W

. : 3 h
@ Mango 15 MO o
Mango is sweeter than all other fruits ip the ‘m;nrld.“rli
Wﬁrld

@ Mango is sweeter than most other fruits in g,

@ Mango is sweeter than any other fruits in the wopyy
T | apalfe ATy sweetest fruits-9 YT 7 m%ﬁw:
o3t (A (most other fruits) | O FCAF ﬁﬂ.w“
fepe T T T TISRE G PR Ay gy
Fry eI P (A FIfE, option T ()08 Ry

L
......
......... LI
I..l

: so. If he does not move, he will die. (Compound)

Move and die. Move or die.
(@ He cannot move anddie. @ Let him move or he wilg,

| If T& complex sentence -4 Nominative (Subject) ¥
3rd person I 9 Compound 919 structure m *Let+ Subia ¢
objective form + verb < base + N/P (7 ) + T clause B (1

ud. Though he is poor, he is happy. (Simple)
@ Despite his poverty, e is happy.
@ Inspite of his poomess, he is happy
() He is poor but-happy.
- ® Inspite of his being poor, he is unhappy.

(@R Though I% complex sentence (¥ simple sentence ¥
R (Though @7 ARATE Despite/inspite of T + Subjté
possessive form J07 + be verb < 73Sl adjective < noun form ¥
comma 7 + GO clause ﬁi’c’-’r’!@)’?ﬁm (?)_-3353“'

R, Priyom is only six. (Negative)

Priyom is not six. @ Priyom is not more 13
@ Priyom is no more six. ®) Priyom is no less six

IA-ssertive senteﬁce-cﬂ only CFICA] HEWW
qualify Fe7 S Negative F919 ¥ only «H a7 e i

[ : What (a/an)/How + adj + sub + verb. + exclamatory mark : us s ?"Ot I?SS than IJ9%® 3 |
(Rrrse 5%) | @12 RETEaral ()-2 orect insuwer, . 7o- He tried all plans. (Negative)
@4. It is man who is the maker of his 6wn fortune. (Simple) @ He tried no Plan untried. ) He tried no plan
@ Man is the mz!ker of Tus own forturnie. @ He untried all plans. @ He did not try all pls®
® Man makes his own fort.tme. (") Grammat; call ) § (V) © o
OM the makers of y wrong:. (Y
en are of his own fortune. S <R TS correct |
Men make his own fortune. : Choose the best mw (®)7 w) :
Who relative pronoun % complex sentence ¥ gy, le m 8. The Bab i i;'lswer (English to Bangla) (Y8 -%/°
[T ; Relative pronoun who- M antecedent + who & Wﬂvﬂf ! it ® ﬁﬂﬁ‘ay S always full of smiling. |
Complex : It is I who am guilty. | ) CW?-— @ﬁmm“ﬁﬁﬁim| @f‘;ﬁﬁww;“
Simple : 1 am guilty. ZFR option (¥) correct answer, @W I @A ﬂm@ﬁ o
@¢u. We are proud of our freedom fighters, (I“temgatiug) The baby is always full of smiling Wi 7L
@ Are we proud of our freedom fighters? Sz Y& T ;
. Th .. ’

@ Are we not proud of our freedom fighters? " € tree is in flow ers

(™ Are not we proud of our freedom fighters? =S b | el

®@ Don't we proud of our freedom fighters? @mmgwl .W?ﬂﬂml z
Nagetive-interrogalive senlence MRS Asepry; / - (omm) ), AR 1 @M g T pt®
sentence-(¥ emphasis A | 17 Nfsﬂfft!'-fnferrogamr: affirmatipe flowers Slower wpef- ﬂﬁ’f@‘, ﬂﬁ?‘@ | o1 The » (‘)
subject pronioun 7 ‘not” subject - M7 337 g m:f"!;;ﬂm-wi %, Patience : ii_a“i-m“ TRIGCS 37 m!Corrfff""su

R T 1 7RI (%) 3% S e O * Ditter but it fruit is sweet. H'-‘ﬂl

AR ARt st ® % i “ufi®) @ R T
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.gaﬁ T OTEE GgAT T AT 1 Patience is bftter_% Fegl the pulse g G ol ayafe =l grar ,—mﬁq R T
put its fruit 13 sweet G0 ZLAET LI T T SET AT IR TS P | Pulse <R (Fidlsee JI2S T 1 | OIF F9F GG (3) |

me*:@i‘(ﬁr)-iﬂﬂamz : 9¢. 9% wafS et o 7 |

q, ] cannot stand rich disljes. : @ This house is to.let. @) The house is for sglle.
@mﬁmwwmﬂﬁml (@ This house willbesold.  (®) Rent this house.
@ oI TR IR HY WA | @A) To let WY~ I (75T 0 G [, (7~ The house
@) WY QT S S SIS~ AL P istolet. OIF IR ()-2 TP BER | -
@ T I R 2R R | AV, ARG qF S ST SFICH  FE IAA IS T
(@) Stand ¢~ 5 P9 | Rich dishes T~ GFNE W! nﬁmm ORIIEIC S ERICE
@13 i correct answer () 1 @) ST A @ W I

%, | wonder where he may be now. (BRMW) FIm9tq SPNLIRAT F499 S fRe=§ A3, WOR,
O CHFWEIR TR @ WA G @Ry P VT @A g T el g f4awd, e T

@) wfi SR G T S | @ W SR 61 @A @R S |

(@D Wonder - 07 07 ST | G- I wonder who he is - 3%, S S wor =1 7

96 00 1007 T N7 SR | O gl ()-8 B B
. He asked me to do it.

@ o st o1 foreas e |

@ fof~ wranes bt féweest SR |

@ o TS W61 FATO IAERE | :

@ Fofi st Bt féveeest 2T IERE |

(@wm) Ask somebody to do something ¥~ FIECE (P! @?

P09 -F] | W?Heasked me to do it «F WW@?‘?W

4B FCS AR | FOAR HIF TG(7) |
Choose the best answer (Bangla to English) (q¢ - 4¢) :
%0, Wik wres fiew fof3fS foraranmst |

[wrote the letter by him. @) I had writtén the letter by him.

@ [ had the letter written by him. s

I got the letter being written by him.

@ Have somebody do something or have something done by somebody

W TS A (I [P A | O A G T (7) |

. W @@l 1 orif
@ I am seeing a bird. @ | see a bird: :
® I seeing a bird. @ 1 have been seeing a bird. :

See verboF continudus lense N A 512 oS G0

MR ol 1 5% T 229 I see a bird.
W1t &fs wemmm |

ORRIS

Yok O o O L G CACL
(@em) RfT T 705 oo G e e oraeerd o1y #9 9 |
Q! SHfeTe TR A TS | YR 9 SIAAZ ST SR /

Q. o e e 31 R R
P @aem @ Rism

- @ oz 3 s @ AT
@) @ 7l Wfe & Aol @ ¥ 97 AonqE 99 hE 7
JI9 | 4@ T S TG (@0 [T Srweey WAd ©IF, A,
%, ST Zo717 WS FIR ARSI ST Yalo [ |

95, e @ IAFE0 v?

o=ife @R @TMe ©TFC
(ERm) FTAEe T7-G &% | &7 I TS I T IOT |

Ebo.'ﬂmm oy TfSA cvng N IS A7

@ A% F90S T@ @) *ifeTeq S TR

@) S fFre T3 @ T F© X

(amRAT) 711 (@19 (A7 S AT ferE of,
FATR T, SHoTIe, GIFIE IS, weblTe =13, Sgerr
JITC GO, GETHIE, TN 29017 I PO 3T |

gm. Firsat ¢ Fifrema b s @S2

@ W @ ATEIET @vlow @ Imme
(@rm) /¢ ©171 @ HAIReera QIS fAweT 5yree
TIITRINGIT TP *MF AT e MZEE WE 3509
AT A5 ST FCE | 353 AT FRISIT THY 3] AT
(R B A e sreife 37

® How nice the scenery is! () Whata charming scenery it is! gvmmwwmﬁ?

.ThESCEI'IEl'y is very charming. (@) This.is a great scenery.

(¥) e ) IR Exclamatory sentence fog omg e W ,

Exclamatory 7711 () wrely fo fovy wonfoopd 7y | A ©&9 79 (M) 1

. € iz 1S e |
| & Gi‘ue me one taka change. Give me a change for taka. :
® Give me 2 taka change. ® Give me change for a taka. :

TF UIF W4~ One taka 92 T, a taka TS

ﬁa.mw%@@m(ﬁh

by
Ig.‘
LT
.............
s

"""""
11111
LA )
..............................................
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ORZTH @FwW @ Hm @ S oW
(QRID) TP W1 RO 2%~ RT3, TPHTe | g, T
(o G4 e 15 31 30 I JPTI, Ry a1 Tpr

b0, (W BT o o g e a1 sz ot iR

o eI et S % weper Sy 1 1Rl 3%?

@ T e wietra T 37 @ e e oot e s
(@ TR (TR 23t T ey e @) oI “Hfem e g
@ORID @71 SR gerers et @RI g Sora Aoy
HOIS JESTE | FIT favE (e FH O et e 7 4q)
ﬁwmwwfmmwaﬁmwm;ﬁg@@wé
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@ > TS @ T/ AN @ G (IS L Q9 CT CTRI O Sorges fe | ed T TR
@ > TR FRed Ty ® R SEH (73 L T @@ T AT T ST o wface SR W

) 7 9% 71 o7 o oy St a0y e TP T R W@ 0w o w e e () R
Ty LT pee—————rt Sl

bt ARIC! ST TS 0T 1A 5% 17 . @ @&
@ @ "l ;@RI @) SIFA A
@7 @ T . (@mm) e ey e Bifen waam- TS S9N

(TR TR & T T [T fis()m,mqgg A F T | A TAINLE FeFerT rq o T 2
21! B BT AR 1 O, S O R G AR e | AP A ST R T

vy, TS -7 e AFRT @RG? 38, ‘PO’ (T AR Trrgat?
@ = @ I @AM - @il oo @ Toiom THFE
@ 7T @ IS @ T IR 7= . @2 T @RI T
(TRm) RS- TP T 78 @ A 7 S @ 9% (CRBD TR, e, A5G, (R, GG, IR &
e IO FAPT ZUeT TIO, TR, NI, NI 2fefS P L BT ORI TN BHIZAT |
brq, AR I Sy 7  ae. FTa (oG SyAifSe Srraaet?
@ EfReorigr@  @orm@ucigert | (@ O TSE W (I W o
@I ORI @ e FHw (o P @ oA TSR RIS NI

(@RI 77 7 S TEARe S g @1 91 o WA, @ O TS S s e w4
B, SETRTS, BTG 3 SR P T ¥ AR PGP @ L @ O 1S w7 (o g

v, REe T ST r%? i B, (S O 7
@ @ L T T Sl TraTe @c@lﬂmmc*nﬂaemﬂ'l!
@ IS @ o P () IS R STl @ wrwer R wZea weRd

-WWWWWW:JW@WWW%; (@RI ‘775 7y Gemfoe zne— AP oF | FT %
ST % JC (7 T THE QW T % AFT G s, | AT OF P L (SN X CN A e 1 @

AR AT TR G W7 T WIS AT | L AR S, e Ry MR e (7E |

b, (I SIEATSR *WMRET HAufie o FfAfrs? M W Reree @ oem Rer T @i QiR ST !
® v o @ T L @I @ 2oE
@ TS @ e L @ i @ Iz

(@RED 1y SIS S TS 9T, oF T oF (oD v e ¢ v ferg @ ARt @R we'
T I, Y S AT PN ) Afore TSy, 70 R ) W9 = 3 AP S T = (4 Gy

(@191 < IRCTY T AR Gl e | | o S-SR et T TSR D YRS 1z -
® o o QA @ W ® TR
@ T @ ® W e L (@ER) TR W @R 1 A Ay v
@RI B FICC T ST FAE WA T | vt orerg-wfmns, v A @ed JR1-3f3yr ande b
@’ W@mmwwwmg@‘aﬁsﬁmi FENTT RS o N AT |
WweBq AL T S [T | : DS, CFES ¢ =17
»). fAte @R wariter smien Thga? Y Ok
@ Fe @ oDt . @darm ORL!
@ﬁ-rm @ T L (@mm) FW, o, drer, o, o, G, 38, o Bepfe R
ﬁmwwﬁwzwvﬁ'wmw Yoo, T ©rETH IS BT 2pom -
mmmwﬁwmm:m—ww T, @ G @ i35 [Fmyerg
TPV S | P @ AT IR @ T UEFHA TS
a3, COTR (OGS fRanda? . (D 9 ST S 57 AT FA Ry Y

@ fie- faom S @ WA @M- GTA G | mmmwmﬂwwmsmwmﬁ
@ TR Y- AT T @ Srra - chem | TRIGNS I A [T FHT PTNT Sy oy |
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ﬂ ﬁ,ﬂ ENGLISH (COMPULSORY)
Marks : 25 »

B~

n 1 numbers should be maintained in the answer script.]
qm’ﬁ

. Translé
(a}qﬁmmﬂﬁﬂ s fof |

_ Hehas been known tome for a long time.
Or, 1 have known him for a long time.

) ST ST SRR TfoS |
_ Everybody should love his motherland.

() ST T <M TS T AT

_ If1 had the wings of a bird!

(d)?ﬁ'w WWWWWW?

_ How long were you waiting for me?

(0 B AT 8

— May you live long.

() 7% 5% IR G W AL |

— All that glitters is not gold.

(p) SR FTR YF WA |

. = Ihave never been to Khulna.
S Translate the following into Bangla:

foe is worthy of your steel.

sentences below (any five) :

- (2) The nurse rushed to the spot.
— verb.

(b) The horse was running very fast.
— adverb.

) Some dreams are like reality.
~ noun.

() He dieq a glorious death.
~ adjective,

 The child has a slight cold.
— houn.

I1x5= 5

(f)
..= SQQanwas one of the wisest men.

The figures in the nght margin md:cﬂte full marks. Contmuat:on

te the following sentences into English (any five): 1x5=5

ldenhfy the parts of speech underlined word in the .

| yo, &I I @, log, mn =

¥ O T SRS A e T W | O R o e S

--------------------------------------------
iiiiiiiiiiiiiiiiii
iiiiiiiiiii

(d) Idid not know why it disturbed me. (Compound)
I did not know but it disturbed me.

(e) Everybody wishes to be happy. (Interrogative)
Who does not wish to be happy?
Itis a matter of sorrew that he has not been successful. (Simple)
His failure is a matter of sorrow.
(g) The bird was killed by a cruel boy. (Active)
— A cruel boy killed the bird.

Write a paragraph on one of the following : 5

(a) Your favourite person; (b) How to learn effective
English; (c) Leisure.

.lﬁ?ﬂ mm@féﬁ@mwwmww:@wwm

| QR TP THAR YA TS AT T /]

'cb (I JREN ALY T 3D, 0L G VY8 (T O T FIHT O,

¢ 9 q SR AE? ¢

W), G A Yo% Fers Raw = A | RFwgey 8¢ B
@M R ¢ % 7S Tl | AN THgE T2

: S0, ST % ;
5 &
Inthis life there is no gain without pains. Life would be dull ;
if there were no difficulties. Games lose their zest if there is :
no real struggle, if the result is a foregone conclusion. Both
the winner and the loser enjoy a game if it is closely

£ 3. IM A #B 2 sin A + cos A = sin B + cos B T 3 ST I
contested to the last. No victory is a real triumph unless the :

Loy | XD
\E*J; 2

x+y=10
e/, AT FFR (@, log1 =0

cu,A+B=§. ¢

W<, &N FPH (, sin (A + B) = sin A cos B + cos A sin B
(CTATH A + B < 90° I3 ST 3 (FI) |

 y3, R IR (A SR TG 5 G, P I 3 =

TE @l THe Fer
o], @I e e o SR PR ITN 5 @ s,
3 THE] 7 TS TE G0 ISR CRATE 07

log,m + log ,n ¢
o], S I (T, W@EMWWWWW|

T-Rre - 4 S (TRETE) §

T ;¢

~ oun,  fore 39| 509 ST Y ST S THEA AR I 0 T3 1]
®) He has map, AT DI TEN A TTR? yxe=¢
Y powerful friends. : 98. ) :
7 o o, Cad : T, SIS0 aza |
| ““3" @ITAT R SO T SR (F W IEA?
) [w :::DHOWI“E sentences as directed (any five): 1X 5=5 (") q ety !
< e €re in autumn, (Complex) : Ta? ; ABAS | .
)lnasaumnmwhe“lwas there. (ﬂ)@@ﬂ‘@ﬁm TS
- Iw."':‘* abird! (Assertive) Bw ; QR T |
(© g ;S“‘r'l.wﬂeabud @)mwwﬂ*ﬁﬂﬂm AN T T JA?
A5 Caught in a traffic j T : 3380 |
Quest; jam near New Market. (W H |
wher::)as (®) AT (T CoroITs St e zn?
...................... ﬁ‘ze Caught in 4 traffic jam? B ; RIRE |
= eeseanesesssnsassnssarsassnsnse- GRS g <t 1959 - -
s¢. T ACQETTR Th“'ﬁf' i
(%) NTRCA—Non-Government Teachers Registration and BER : IS I (2O asf?r@‘m I Ty
Certification Authority. ™) ;:':ﬂ ‘-'*llﬁ!‘ & IR
(3) NAEM—National Academy for Educational Management. : TS < TOCEA |
(*) BARD—Bangladesh Academy for Rural Development. | (*T) o 67 :
(%) ILO—International Labour Organization. TN ; WA A FAE Tl FRagereidt 2o |
(&) UNICEE—United Nations Children’s Fund. L (%) iy PR R
3. (¥) Tifa «iom 7 YXE=¢ e M%%W\SBE%WWWI
B : (T @ AT DS FroCeTs SR | : (@)mmmm_ JE TSR A 37
| jﬁﬁa'{@ﬂmmﬁ? ; r |
() 7 | _ C iss, (F) TENHCR SIS X A 2 yXe=¢
(ﬂ)mwmmmmﬁ? . : T : e |
T3 ; AR, FOR | (¥) WA AR o f&7
(9) SR “ArAiTaene e 67 TG ; WISTBIA |
THA : TIT | (ﬂ)mmmm@wﬁnwmﬁﬁw&wm?
() =Rz TR THIEH T A o Taq : v G |
¥ga ;0w | E (%) <RI Fa U & T (FH G T @ W
v9. ftp BER® crieterma Az = Prye - YXe=¢ i Te7 ; Bf s I 1 TS |

et : (3) fmmme—azfm, (}) Fefers—amfads, (91)
WAN—G1P, (7) FeR—@R, (8) D—@3fer |

(®) Zw T = g |
TR : Tororat Ay, #idey Ay o0 |

FIIT0 ICHFAPAR A1
B4 33 CoITS fSfe Fwa
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TR A (T SN &S ZE oMRE 73

. QERIFEE AN A e

(S, *Ffd, JoIae, =Peer, fFzst |

Ta : (o1 — o aeram i (e )
- M6 CTa 7 (g )

oI~ TR THCRA “UTH A U (FEAR )
*PTBIA- IR 503 (U (81917 WeoRes Sar)
firze- 201 %91 (SATSE )
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— 51 XCR (B IfFF eRe 7! |

8. I WHSATAET TS HZ |

— T T TS SR |

2. 819 5@ T *rome WYy |

— BIAARA (FIE %S WYY |

ST 2P : ¢
RIGSR AT NS FIH7 TR ST WIS T4 o7 f5R
w3, A SR oy
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TR B 9fR7 |
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" [N.B—The ﬁgurcs in the margin indicate full marks.) :
Translate the following into English (any five): 1%5=5 ‘

a.
_* Better an emnpty house than a bad tenant.

p, - W T AT, BT COTIIR FiTR BTH (A |

__ Had I the wings, would hav_e flown to you.
~ QOr,IfIhad the wings, | would have flown to ybu.
.. B (ot =™ BUAACEIRE
_ You are such a stubborn!
4 OTS P T3 AITS WS |
__ Leave him alone. Or, Let him be alone.

e. S0 ot 2 IA?

— What's the day on the 10* instant?

¢ s HAE S (6B FIE |

— We tried to make sumi laugh.

g 008 A ST T TR |

— The house was built in 2004.

Translate the following into Bangla:

Today's world is merely the creation of printing press. We have
been seeking ourselves into books. So books have kept us apart
from the truth of nature and of life. To know and to realise the truth

of life and the universe you have to sacrifice yourself into the great
space of nature. Do not get yourself aloof from the touch of nature.

5

Identify the parts of speech underlined in the sentences :
below (any five) : 1X5=5
a This building can house three families.
— Verb.

b. Thatvery boy I wanted to meet.

— Adjective.

¢. Nothing runs so fast as time.
*~ Adverb.

d. You have to work hard to succeed in the exams.

— Adverb.

e. None but he was present in the meeting.

— Conjunction. |

f. Jerry had been at the orphanage since he was four.

— Preposition.

& Havealook outside:

~ Noun,

L]
L
L
-
-
L
L)
L]
-
L

L]
[l
-
-
-
.
Fl
-

L chinge the following sentences as directed in brackets
(any five) : :
-1 dﬁf&d the door, and went back to work (Simple).
GOS“"B the door, | went back towork.
o Woﬁuld that I were a bird! (Assertive)
T ) I wish 1 were a bird.
‘E _ m" is the capital of Bangladesh. (Wh=-question)
4, Wi tis the capital of Bangladesh?
i L Whu Was Hamlet written by? (Active)
..... O wrote Hamlet?

3. FEff aconym STAR et forge
¥. BRRI—Bangladesh Rice Research Institute.
3. CEC— Chief Election Commissioner.
. UGC—University Grants Commission.
¥. CTG—Care Taker Government.

€. BARC— Bangladesh Agricultural Research Council.
°. ¥, N [EAER S ST Hed]] TS

— oD |

. e ke O .

N ;@WW‘H TR AR cefre® & ferem? E

V. (oS (TS B A 57 .. :

_ R o oreien o Rt

® Wﬁ"@?{

— 3EY | WWWW? -
3. e :

— mmmmﬁams@mmwmﬁﬁ .

i ol et

a1, % e witHe STafa!

b i ST L

©. JeE I ﬁqﬁ“ﬁ

x$=5

\we = ¢ |

]
L
[ ]
L
[}
L]
*

b, ¥. AS ESR FIF QAT 17?7

.....................................................

e. The teacher said to student, "Did you co iy
homework I gave you the day before yesterday?
(Change the speech) ‘

__ The teacher asked the student if /whet

ed the homework he had given him

mplete the

her he had

complet the day

before the previous day.
¢ Itis too difficult to explain. (Complex)

__ 1tis so difficult that it can't be explain.

g. The relationis difficult to explain, but it exists. (U?e 'though)
__ Though the relation s difficult to explain, it exists.

Write a paragraph on one of the following in 70 words: 3
2. How to Eradicate Corruption; b. Your Idea of a Gentle

Man: ¢, The Problems of Learning English.

sl « S (SRMTF)
T ;e

8y - G oA GRS e Sz I ST

e+ @2
HIE TP L - 8 +(l~ﬂ7ﬂ ai)
.&x.b+;1— = »
we@l, |x+2| <5 SETSIGR AU IFA LI FAINA 1]
FHLYAIW A |
. FAAH A 1 g
log,x + logx + logex = %
e, E&Wﬁ“fﬂm:xl-(ﬁ—})Hl.
o o A 15 B T3 T 8000 DI 6 WO T FS? - @
AT, H R SRS 3 : 4 R I F, . 9. 180 T AN
. o R
8. I 9 : 25inBsin30=1,0<8<2n ¢
9T, 3T WS CFu (g e faed | @ cFae=T 512
@, e T (1, O PR G | ¢

o, ABC RIgTe LABC = % STHCRIT (e AD W1 | &
= @, AD2= AC-1 BC2

- : M= Wi
| e

. (58 BT At SRS T < Wcﬁrﬂa:mm

2T BEH 2 |
Y. B, TR RWem e aATm R w? yxe=¢
— Yd90 H[A | ' '
. G iy W I o SRS ?
— ACTAZ0 |- .
. Mhmmmﬁmﬁqq
— CIRENG | '
V. T OF ¥ D R ey
— Refowa T T R 3o Rerdh

L

...................

GG AN |

. IR I & wnflwta scaferem?
— TR QTR B |

V. WRCF WRICER S=rary wqwi 7
— FAGERPICHE 5 G3e S SEH |
€, memmq

— WA G0 1 Wi e |

yxé=
— MR Chronic infection e ESR (@0 I |

¥, GG GF wAfdery 2

_ ml ]

A, MRET e T 32
— YIRS 1R, G, GG Pyt By |
9. 3T T A @ Boifie-f5 AeE?
— UF QISR T, (ANH— (71, SIS!, SIS |
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Ans. When will the book return?

arks : 25 " i (H This new building looks awful. (Exclamatory)
] E . . . "
B.—The figures i the right margin indicate full marks.] | Ans. .I-Iow awful this new building lO?tlfi; )
i ]:ﬁns]ate the following sentences into English (any five): 1x5=5 : (g) Iron is one of the useful metals. (Positi
1 _

Wﬁqw.mm forfer a1y 7aR, Wi e o Ans. Few metals are as useful as Iron.
(a) : ' :

- : : Write a paragraph within 70 words on any one€:
lue sky, green field and fresh air of Bangladesh | > paragrap |
oo ALIEDE e ¥ R i (a) Flood Victims; (b) Our National Flag; (c) Punctuality.

are favourite to us. )Y

o) 11 DS TR TS T e st-fFetst : sifas (Sa=7<e) 4

_ The metalled road is under the flood water too. T - 3¢

(o SR Tt S e e e _ .

_ |f1were a baby again! b7y Fi AP e S I ST | T S Bod a7 |

(d) G CRIRITH T Sf3t wrifey =1 . Bo7 e e FAree o I |

._'Idonotknowwhereheliires_ b x2=5+24/6 iEﬂx—3(xﬁ+1)ﬂ§ﬂﬁ'W? ¢

(@) (RS 2t 3% e wfemtsr tmr,A=(1,2|,B={3,4|{can(BuA)m.Ax(BnA)ﬁt‘fﬂw?
. — Thedowry system is a social curse. 2 TFF.GFI T : .

() G S ST A7, O 77 57 9 v, .0

— The flower is red as blood, isn't it? 2X .5 .ov

(§) OB RS T ST C¥ot 0 o L o, ol A T A T 5 T=A 4450 DIFR A 500 DI
- — The little girl is playing with mental pleasure. P, FARIYE T ¢ ‘ ¢
L Translate the following passage into Bengali : 5 i cosecd. cotd =2 /3 TR 0° < 6 < 90°.

A Greek s.-culptor whe-n he was asked why he carved the S  tan 8 + cot 6 = 4

backs of his statues which no man would see as carefully as X . J3

he carved the front. He said, “The gods will see them!” So, it 110 <0< 0", ol e ol

is not enough for us to live outwardly good lives while we 8. S TR 40 aR60 | TEOR R

allow evil in our hearts. For God knows even if men do not. o = ffn = L ¢
We should never do in secret what we should be ashamed of : oo, G Sifd 07 80 fM 3 2% 60 1 | @ R WA
doing in the presence of our most valued friends. 3o PR ST AMGR e 4 o = peaw MR
3. Name the parts of speech of the words underlined in the: (&% Refa ===
following sentences (any five): 1x5=5 ¢. 0 AIRE [THER Ao I Y 2 T A O CHaT
@) Obedience to parents is a sacred duty. : fefy = | g
‘Ans. Noun. . L e, SR TRR (TR AR drersion G 2 R e @\
(b) Ls:swpthem going towards the town. cvaes 343 OR300 Wy | TR fagafie e g fefy v |
- Preposition. | . —
() Man cannot live by bread alone. : I ' 'ﬂ-lawl‘ff * H9EY SI (W)
Ans. Adverb. . &) Vi : W .
) Heroic deeds deserve out admiration. ; — — —
Ans. Adjective. . (73 : T A BN e R A S | ) A ol etz B i ]
® My garden is a source of great pleasure for me. 9. (F) N T8 W A >
Ans, Noun. e - LI
9 How do you feel now? (@) TenTT S AGW ST 30 37 3
@Ans.\r’erb_ —ﬁiﬂlﬁfﬂﬂl |
A::':;hf work slowly. O T et W W e b ey
L Inmhr;“h;e;m e . g A L — T TStE W G TRHeR (Rembwiz) |
(2. She likeso ‘:f"mg sentences as dlrecfed (any five)s 1x5= (%) OO S SR A G T g
white dress. (Intérrogative) : — 85y Bl |
AI'::'W \?rau disobedient and the principal punished him. (Simple) . ; >
© Angwin8 disobedien, the principal punished theboy. | — Y20 TSI |
: Ough .he is poor, he is happy. (Use ‘Despite’) 2. R stogeim ofast 37 YXe=¢
W Tmt*hbfplte l}is poverty, he ishappy. (¥) PATC—Public Administration Traning Centre.
.E .Tr:ness isa great quality. (Complex) (¥) ECNEC—Executive Committee of National Economic Council,
5 ll'lhﬂness E 2 quality which is great. i PRSP—Poverty Reduction Strategy Paper.
l ..............................................................................................................................................................
e R S S I e s R s v e A b R RS R AR bR R E W SRR RGN S . - - ?
(%) WIO—World Trade Organization/World Tourism Organization. | . (%) M3TACE F&b1= fefrre T am ?
(9) NAM—Non Aligned Movement . P — Ferfom «il?
— "IN CFTHR (Srs) | 5l = | '
: Y -
— QLT N8B8¢ | P Mﬁé tc“|||1 s sterete AT ZA7
(ﬂ)ﬁﬁ%wﬁwwﬁmwﬁw? y | Nt
' P — e |
— ﬁ'ﬂ'ﬁ, ﬁﬁq W@‘ﬂﬂ | : ( ) w 92
: 8) ¢itfere T WIRwE I
(%) o FRvgea st Reemirss arimm s o) :
, ! ) ¢
— BT b == CREAIR
(v) ‘T =B’ f¥9 b b, (F) (OF G IR 7
. ; P — oSS
- 8 A& 3 oI\
| I mﬁﬁl (i*‘iJ_XQ-& E _—lalﬁlltﬂﬁ.l maiet
o . s T P (1) Obifim-a a7 wei fF Tw?
@ R | R | e - — o, o, W, e 2o
Q) emEms | e p— i () Hiv f#? ' :
' i e (ER) HIV @7 *%%- Human [mmunodeficiency
- T (o) || (8) FPorehm iRt 62 o
QIS | ks | R  — aPRw SR e @S e R T

Bt o T e —— Heafrs B3 @ Rorma so@d FICBaC® A8 T F
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el : ENGLISH (COMPULSORY)
Marks 25

[N B.—TTe figures in the right margin :ndtcnte full marks ]

1, Translate the following sentences into English (any five): 1X5=5

(a) TR TEF AR AT ARTSR F wwPw A

— Kazi Nazrul Islam is a remarkable name in Bengali literature.

(b) o BT AT ATy D Wi egare Lo |
m W

— The first and formost task to a jobseeker is to make a
attractive curriculam vitae. :

() TREIN &FfET ot 0 TR e &= =13 aw

................................................

(c) Hellg, John! How are you?
Ans, intex]'ection
(d) Jim was always punctual.
Ans. Adverb
(e) Inform the police of the matter.
Ans. Verb
(f) If you don't know the answer, ask somebody.
Ans. Pronoun
(g) Idon't care whether I get it or not.
Ans. Conjunction

Transform the following sentences as directed (any five) : 1X5=
(a) The boy who is industrious is sure to prosper. (Simple¢
Ans. The industrious boy is sure to prosper
(b) Everyone wishes to be happy. (Interrogative)
Ans. Who doesn't wish to be happy?
(c) No other wood burns as pretty as it. (Superlative)
Ans. It is the most prettest wood to burns.
(d) I was not sure of his faithfulness. (Affirmative)
Ans. [ was doubtful about his faithfulness.
‘(e) She issinging a patriotic song. (Passive)
Ans. A patriotic song is being sung by her.
(f) Inspite of being blind, he can walk alone. (Use ‘But)
Ans. He is blind but can walk alone.
(g) Honey tastes sweet. (Use “‘When')

_ . Ans. Honey is sweet when it is tasted.
— In spring, the beauty of nature and the sing of cuckoo :

evered our life.

(d) & 31w AR *=ifes &, meﬁm |

— Love wins where power is defeated.

: 5. Write a paragraph within 70 words on any one: ¢
i (a) A Day Labourer; (b) A Rainy Day; (c) Friendship.

(e) caenfG s o CART Qrpree? : IR
— Isthe girl peehng the potato. . ®
(0 R @i Breiroms corarforim T ST T | ’é&%ﬁﬁ%ﬁﬁﬁwmmm%
- Shakespeare acted many days in reputed Globe Théatre. l . Bestire ﬂf:l;" = ; ¢
(@) TR A o Bigsieas Rerengt wifS | .- () a2-1+2b-b2 (i) 19x~6+7x?
— The Royal Bengal Tlger of Sundarban has world wzde WO, (i) x2 x84 58 +6) (i) x4 +x2+1
, . "cPutation. iy, e ¢
Translate the following passage into Bengali: ’ x(x - 10) = x - 10.
Knowledge is the exclusive power of the learned and the oo X,2_x,8
Wise, They are thus able to use this very effectively for : ; Eﬁ;;ﬂ _8- x W L TR
%quiring power for themselves or for helping others stay in °. = GHA JE0 T2 R
Power. This is because knowledge brings wisdom that is the G 32 TN, HfS o

%7, T S ST T O WP 4 & et e e
I NG TR, SIY T FR W 40 & Sy e

et e @, e frem o g wem =l g ST
TS [, [|H AR RS et pen R Rede qo

domain of only a few. Not only does knowledge make one
Wise, but jt also makes him more -articulate, humarie and : E
"odest. Thus we find that such people are able 10 e'xplam : 8.
"heir point of view very convincingly and dynamically.

N :
iu:n! the parts of speech of the words ufiderlined in the;  SUTH R&EA A | : ¢
()nwmgsentences(anyfive): | 1%X5=5 | R, (R Asfaren 2 ¥ g R wuEE o b @ o
a5 speak the truth Ly | e o 3 | [T 53, R @ 2 s |
®) The -Noup P @ oW W e
e B e 0t 5 good b too bookish, ok It4cmedBoon (e b ool
() T 8 AR T ﬁmqﬁ%ﬂﬁam @ _Jg.ﬁ;qa,, ......

(o) ZTAEFR A I (A S=1fFSr — 1,
(9) fedfers ‘crmife oafba e @r—Rewod v ik
(8) ‘War and Peace’ SIT3d (FIF (&7 —18 beroq

8. FufifRe TG o o & o oo b ¥R 2 (242

T-ROM ; MR S (SRP) i
T ;2@ <

(7837 : wPFT rEF A AT YN @I | T A i‘@ﬁfﬁ
(I ST OGd Sl 97 I 1]

T (I A5 2w Ta e

L (@) er R : PRM; W
>, e et famerem s e YXe=¢: () RAFY ] : AET; OIS
(%) 3299 T T — A | () @R . B, B

() TETH THR (S — oMol | (9) e : AFo, TS

(°T) B NN (T3 — CNTORIEH |
(9) ST TG S el DRl — e Fisizand |
(%) STAETT @ TPieArd Sowfs — sy

- (v) T o ¢ RS, RS
¢, () CTIYS e (AR et [ (R @y

P () AT IS B @RI
X fAEffRS Rl o g YXe=ei () e fow
(¥) SPARRSO—Space Research & Remote Sensing Organisation : G, TR fFEmRe Seimm/ofRerm se B G0 T 1+ ¢
(¥) BRDB — Bangladesh Rural Development Board (F) WA . T
(°1) BSTI— Bangladesh Standard and Testing Institution F ()T . T
(¥) BCSIR— Bangladesh Coundil of Scientific and Industrial Research | (o) fe51fi-3 . G T
() BTMC— Bangladesh Textile Mills Corporation (9) feofim-= ;. TS0 FIH)I
O. () BRD I 7R AT T TR T — | () RO R . RR, T
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: . o . ¢ Allof us listened to it. Ans. Preposition. b
E @—ﬁ@_ﬂ' ' 3\‘@% i L d Everybody kept quiet. Ans. Pronoun. §
3 R AR e e : e Oh! How funny it was! Ans. Interjection. !
(7837 : 7 iy YT S I o) g f. They presented hinvan award. Ans. Verb. !
1. Translate the following sentences into English (anyfive): 1x5=5: 8 Parents felt proud of him. Ans. Adjective. _
2. Curza) HAET TG S v | 4. Transfbrm_ the_follnwing sentences as directed (any five) : 13(5=.'- §
Anis, Mr. Mehali is an ideal teacher : A Theroseis very beautiful. (Exclamatory) |
T ' Ans. Howbeautiful the rose is! 1
b TO 33 ST 0 (o B i b. Aren'twe sitting for an exam? (Assertive) l
Ans. He gets up from sleep very early in the morning, : Ans: We are sitting for an exam. )
¢. L A (I A I | . .o Helives in Dhaka. (Interrogative) X
Ans. Then he takes his breakfast after prayer. Ans. Doesn't he live in Dhaka? N
d. foff sSqemmr ¢ g | d."Gold is the most precious metal. (Positive)
Ans. He is dutiful and punctual. Ans. No other metal Is as precious as gold.
e. fof vee cifire s am .~ e Byworking hard you will s.ucceed. (Compound) :
Ans. He never goes to school laté! " #:‘ ri:ff:lrzr:;:rf d{:;i%n;tf;ﬁi | J
ol Baw Ao v sl : - ' '

Ans. Both Tareq and Adnan are tall.
8. If he runs, he'll get there in time. (Use 'By’)
Ans. By running he'll get there in time.

Ans. He possesses a good moral charatter.
g. STHA ST SITerRH |

Ans. We love him. 5. Write a paragraph within 70 words on anyone: 5X1%° |

2. Translate the following passage into Bengali : 5:  (a) The village or town you live in (b) The person you like ma< °
Independent Bangladesh is our motherland. It came into being : ' —

about thirty five years ago. It is the responsibility of the teachers ‘8 I-fqer qIg k |

to remove illiteracy from the country. Our teachers are a model ; e e T fam :

U espsectalnt ":’-d" b“l:be:’t: gajnrldm’ h;;era;‘fy' 4 i i (7837 : [7% g S7exir A S e ) E

3. Name the parts of speech of the words underlined in the : . o ' T

following sentences (any five) : 1X5=5 9. fos h 3

: A ] 14
a. " Our English teacher told us a Slﬂr)th&ﬂﬂr-}ﬂﬁﬂﬂ%@bbooksé:wwvﬁ@wmmwo%ﬁm b ﬁ’nz o A g
b. Itwas easy and interesting. Ans. Adjective. D SRR Y (@ TR A S SIS HeE
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. ety e fRorTR 1 T IR (@ At A B) - o
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3 Wmﬁﬁnm(m (T B1AM) g |
N2, WA, FHYY, YACTO; ALZ |
4G (LR S
K o191 \3 %{ely %
| sy gAicS (vite) 78 s AR
b T4 5 I /. Baifirs wyEm |
{ATFS {73 (FS R T |
AR % (37 Sz (o) FEE | faw
s-fSi ;ST sifae > |
_ @ AT 5o 2 Taa e -k
(7B : vl APFZ AT AT PN T f
. I P : 2x-6 , 15-2x _ 4x-15 ¢
9 "12-5x 18 “
. YR T X -y =2a;ax + by =a? + b2 ¢

% R wBRiR ol weamm wEame TR 6, wwen ZW A
T A1Q AT T HeyE oA AW A fowed T o
R ey @ |

" T 4 1, Frgem (o GO R A T B SO AR SR R | ¢

& mmﬁﬁwﬁﬁﬂﬁmqmmmﬁﬁﬁw
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mm@mﬂmtﬁiﬁwmmmﬁmzm
RAREE C PR R — ¢

1 am Lo

ot 1+sinA ‘l_ginA=25eC2A ¢

b T T
------
*
-------------------------
......

)

IQ.

: b,

b,

1. WS R T et S g |

Ter : GrEw. qRER AR Fiy Q@EA S e, TS
G T G2 TR AW 2GeTS ASH |

. AT FROAS A4 166 SoramSmTd T T 1 23
TeA : S, W, o, AP, R >

o, e g fF e @m? Taa AISIT FIm? R
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